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SENIOR LEAVING CERTIFICATE EXAMINATION 

The Senior Leaving Certificate Examination is held 
annually by the Scottish Education Department. In 1948 
it commenced on Tuesday, 9th March. 

For information as to the purpose and scope of the 
Examination, and as to the conditions on which pupils (of 
Scottish schools) may be presented, reference should be 
made to the Department’s circular 30 (1947), dated 18th Sept. 
1947. (Price 6<L ; post free 7i.) 

EXAMINATION PAPERS 

1948 . 

SENIOR LEAVING CERTIFICATE EXAMINATION 

ENGLISH 

(FIRST PAPER (a)—COMPOSITION) 

Wednesday, 10th March—9.30 A.M. to 10.30 A.M. 

The value attached to the question is shown in brackets after 
the question. 

N-B.—Write legibly and neatly, and leave a space o£ half an 
inch between the lines. Marks will be deducted 
for writing that is difficult to read. 

, Write a Composition, not exceeding three foolscap pages 
ln ^gth, on any one of the following subjects :■—- 

[a) The difficulty of choosing Christmas presents. 
{b) “ There is no accounting for tastes.” With this 

proverb in mind, write an essay as if you were 
one of the following caterers to the public :— 
a programme official of the B.B.C. ; a manager 
of a cinema ; a librarian in a public library ; 
a restaurant keeper. 

(84160) 
A2 
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(c) A description (real or imaginary) of one of the 
following:—a snowstorm, a shipwreck, a 
destructive fire, a flood. 

(d) What local question is causing discussion in your 
district ? State the question at issue clearly and 
impartially, and give some of the chief arguments 
on both sides. 

(e) A letter recommending one or more hobbies, with 
reasons for the choice, to one of the following 

(i) A boy or girl fond of living things. 
(ii) A boy or girl living in a remote and lonely 

place. 
(iii) A boy or girl who is clever with his or her 

hands. 
(iv) A boy or girl with an interest in history 

or geography. (35) 

ENGLISH 

(FIRST PAPER (6) INTERPRETATION AND LANGUAGE) 

Wednesday, 10th March—10.45 A.M. to 12.25 P.M. 

Answer Questions 1, 2, and 3. 

The value attached to each question or to each part of the 
question is shown in brackets after the question. 

N.B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

1. The few animals that we now possess in a state of 
domestication were first reclaimed from wildness in 
prehistoric times. Our remote barbarian ancestors 
must be credited with having accomplished a very 

5 remarkable feat, which no subsequent generation has 
rivalled. The utmost that we of modern times have 
succeeded in doing is to improve the races of those 
animals that we received from our forefathers in an 
already domesticated condition. The only reasonable 
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10 explanation of this exceedingly curious fact is that only 
a few species of animals are fitted by their nature to 
become domestic, and that these were discovered long 
ago through the exercise of no higher intelligence than 
is to be found among barbarous tribes of the present 

15 day. The failure of civilized man to add to the number 
of domesticated species would on this supposition be due 
to the fact that all the suitable material whence 
domestic animals could be derived has been long since 
worked out. I submit that this hypothesis is the correct 

20 one for the following reasons. All savages maintain pet 
animals, many tribes have sacred ones, and kings of 
ancient states have imported captive animals on a vast 
scale, for purposes of show, from neighbouring countries. 
I infer that every animal, of any pretensions, has been 

25 tamed over and over again, and has had numerous 
opportunities of becoming domesticated. But the cases 
are rare in which these opportunities have led to any 
result. No animal is fitted for domestication unless it 
fulfils certain stringent conditions. My conclusion is 

30 that all domesticable animals of any note have long 
ago fallen under the yoke of man : in short, that the 
animal creation has been pretty thoroughly, though half 
unconsciously, explored by the everyday habits of rude 
races and simple civilizations. 

Francis Gallon (adapted) 

Read through the passage printed above and then 
answer the following questions on it :— 

(«) Suggest a brief and appropriate title for the 
passage. (2) 

(6) Into how many sections does the passage naturally 
fall ? Give the first two and the last two words 
of each section. (3) 

(c) Explain carefully the following phrases as they are 
used in the passage :—were first reclaimed from 
wildness (line 2) ; all the suitable material has been 
long since worked out (lines 17-19) ; every animal 
of any pretensions (line 24) ; though half 
unconsciously (lines 32-33). (8) 

(^) W Give the meaning of the following words as they 
are used in the passage :—submit (line 19) ; 
'hypothesis (line 19) ; stringent (line 29). 

(84160) 
A3 
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(ii) Write down a word that is opposite in meaning 
to each of the following words as they are used 
in the passage :—ancestors (line 3) ; subsequent 
(line 5) ; rude (line 33). 

(iii) Distinguish shades of meaning in the following 
words :—barbarian, barbarous, barbaric. (9) 

[e) (i) Make a general analysis into clauses of the 
sentence :—The failure . . . worked out (lines 
15-19). 

(ii) What part of the verb is each of these words 
doing (line 7) ; following (line 20). 

(iii) Write down the singular of species (line 11) and 
the plural of hypothesis (line 19). (7) 

(/) Name the figure of speech used in the sentence 
My conclusion . . . maw (lines 29-31). Comment 
on the aptness of its use in this passage. (2) 

{g) Make a summary of the passage, bringing out the 
main points of the argument as clearly and 
succinctly as you can. (14) 

2. (a) Rewrite, with the addition of all the proper 
marks of punctuation, the following passage. (Make the 
punctuation marks large and distinct.) 

the curfew tolls the knell of parting day is one of the 
most familiar lines in english eighteenth century poetry 
it is as every schoolboy and we hope every schoolgirl 
knows the opening of grays elegy the poem of which 
general wolfe 1727 1759 said i would rather have 
written that than take quebec our authority for this 
oft quoted remark is John robison professor of 
natural philosophy in our university but at the 
time of the assault on the plains of abraham serving 
as a midshipman in the fleet. (5) 

(&) Combine the substance of the following statements 
into a well-knit paragraph :— 

The battle continued very hot on both sides— 
the admiral of Holland, the famous Van Tromp, 
signally performed the office of a brave com- 
mander—he was shot with a bullet in the heart he 
fell dead—he did not speak a word—this blow broke 
the courage of the Dutch—they made all the sail 
they could towards the Texel—the British were left 
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victorious—they were obliged to retire to their own 
coast'—they had to repair their damaged ships and 
refresh their wounded men. (5) 

3. Write sentences which not only include but bring out 
dearly the meaning of any five of the following words :— 

rhythmical; insistent; alloy ; parasite ; allude ; 
perforate ; long-term ; recess ; gruesome ; absorb. 

(10) 

ENGLISH 

(SECOND PAPER—LITERATURE) 

Wednesday, 10th March.—1.30 P.M. to 3.0 P.M. 

All candidates should attempt THREE questions, and three 
only, of which No. 1 is compulsory. 

The value attached to each question is shown in brackets after 
the question. 

N.B.—Write legibly and neatly, and leave a space of half 
an inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

1. [a) What sort of person did Shakespeare mean any 
o«e of the following to be :—Falstaff, Richard II, Bassanio, 
bolonius, Banquo, Edmund, Coriolanus ? Is the man 
ion choose good or bad, wise or foolish, likable or 
unlikable, and so on ? 

Or 
(6) If in an amateur performance of one of the following 

ms-Julius Ccesar, As You Like It, Twelfth Night, 
iQ

le 1 emfiest—you were given your choice of’a character 

do so ? ’ would you choose and why would you 
(84160) 

A4 
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Or 
(c) What supernatural elements (ghosts, portents, etc.) 

does Shakespeare introduce into any one of the following 
plays :—A Midsummer Night’s Dream, Julius Ccesar, 
Hamlet, Macbeth, The Tempest ? Show to what extent 
the supernatural is apparent to the human persons in the 
play. (20) 

2. [a) Choose two of the Canterbury Pilgrims and 
write in prose an account of them based on Chaucer's 
portraits. 

Or 
(&) Illustrate from any one of The Canterbury Tales or 

from The Prologue Chaucer's sly humour. (15) 

3. What was the occasion of the writing of Lycidas by 
Milton ? Show how the poet clothes the real incident in 
pastoral imagery. (15) 

4. (a) Write a character-sketch and history of Bridget 
Elia as you have come to know her in The Essays of Elia. 

Or 
(5) Give an account of the oddities of behaviour and 

opinion of Sir Roger de Coverley. (15) 

5. Choose any one of Sir Walter Scott’s novels and 
describe any scene or incident in it that has particularly 
appealed to you. (15) 

6. Explain as intelligibly as possible the story or the 
situation in any one of the following poems : — 

Alexander’s Feast, The Rape of the Lock, The Bard, 
The Cotter’s Saturday Night, Resolution and Indepen- 

dence, An Ode to the West Wind, The Eve of 
St. Agnes, Horatius, The Forsaken Merman, The 
Revenge. (15) 

7. Do you know any book (novel or not novel) which 
describes a district with which you are familiar ? Is h 
successful in catching the character and spirit of the place ^ 

(15) 

8. Say frankly whether you like Wordsworth’s Poe^U 
or not, and give your reasons. (15) 
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9. Choose any one of the following : —Lemuel Gulliver, 
Sam Weller, Elizabeth Bennet, Jos Sedley, Maggie Tulliver, 
Count Fosco, John Loveday, Dr. Jekyll, Salvation Yeo, 
Dr. Watson—and describe the chosen one’s appearance, 
character, and role in the book in which he or she figures. 

(15) 

10. Have you ever read a second (third, fourth, etc.) 
book or poem by an author because you had greatly 
enjoyed the first of his that you read ? What were, the 
books or poems ? What qualities in them attracted you ? 

(15) 

HISTORY 

LOWER GRADE 

Thursday, 11th March—9.30 A.M. to 12 NOON 

All candidates must attempt four questions, viz. Section 1 
and three other questions selected from those in Sections 
2, 3 and 4. At least one of these must be from Section 4. 

25 marks are assigned to each question. 

N.B.—Write legibly and neatly, and leave a space o£ half 
an inch between the lines. Marks will be deducted 
for writing that is difficult to read. 

SECTION 1 (to he attempted by all candidates) 

(See separate sheet provided for this section) 

SECTION 2 (55 B.C. to A.D. 1485) 
1- Trace the successive stages in the conversion of 

Ikitain to Christianity. 
2. Why did England go to war with France in the 

ourteenth century ? How far was she successful before 
the death of Edward III ? 

3. Write notes on two of the following :—i\gric°la> St. 
;,ar|aret of Scotland, Thomas Becket, Robert the Bruce, e Feasants’ Revolt, markets and fairs in the Middle Ages. 
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SECTION 3 (1485 to 1763) 

4. In what ways did Henry VII increase the power of 
the Crown ? 

5. Describe everyday life in either an English town in the 
reign of Elizabeth or a Scottish burgh in the reign of Mary. 

6. Explain the causes of the Civil War (1642-1646) and 
account for the Parliamentary victory. 

7. What were the main changes in government and 
religion in England effected by the Revolution of 1688 ? 

8. Trace the career of the elder Pitt to 1763, showing 
the special qualities which place him among our greatest 
statesmen. 

SECTION 4 (1763 to the present day) 

9. What industries (other than transport) were most 
affected by the Industrial Revolution, and in what ways ? 

10. “ The hungry forties.” How far, and on what 
grounds, do you agree with this description of the years 
1840-1846 ? 

11. Explain the causes of the American Civil War 
(1861-1865) and show the significance of the result. 

12. Trace the steps by which the franchise was extended 

during the nineteenth and twentieth centuries. 

13. Why were Britain and France unfriendly during 
the last quarter of the nineteenth century, and why did this 
unfriendliness give place to the Entente of 1904 ? 

14. Write notes on two of the following :—John Wesley, 
the Stamp Act, the Duke of Wellington, the Durham Report, 
the Disruption of the Church of Scotland, the Congress of 
Berlin, Charles Stewart Parnell, David Lloyd George. 

15. (a) Explain the working of cabinet government 
in Britain. 

or (b) Discuss the main economic problems that 
confront Scotland today. 

or (c) Describe the origin and the main features of 
the United Nations Organization. 
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HISTORY 

HIGHER GRADE 

(FIRST PAPER—BRITISH HISTORY) 

Thursday, 11th March—9.30 A.M. to 12 NOON 

All candidates must attempt five questions, viz., Section I 
and four questions selected from any other part of 
the paper. 

20 marks are assigned to each question. 

N.B.—Write legibly and neatly, and leave a space of half 
an inch between the lines. Marks will be deducted 
for writing that is difficult to read. 

SECTION 1 (to be attempted by all candidates) 

(See separate sheet provided for this section.) 

SECTION 2 (55 B.C. to A.D. 1485) 

1. Describe life in Britain during the Roman occupation. 

2. What were the problems that faced Henry II on his 
accession ? What measures did he take for dealing with 
them ? 

3. Explain the causes of the Scottish War of Indepen- 
dence, and account for the final success of the Scots. 

4. Explain the circumstances that led to the break-up 
the manorial sj^stem. 

. 5. Write notes on two of the following :—St. Augustine 
°i Canterbury, Cnut, David I of Scotland, Stephen Langton, 
the Provisions of Oxford, the Lollards. 

SECTION 3 (1485 to 1763) 
6. On what grounds can modern English history be said 

to begin with the reign of Henry VII ? 

7. In what respects did the Reformation in Scotland 
ittei in character from the Reformation in England ? 

. 8. Describe English commercial development in the 
reign of Elizabeth. 
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(SECTION I) 

SENIOR LEAVING CERTIFICATE EXAMINATION 

1948 

HISTORY 

HIGHER GRADE—I 

SECTION I 

(To be attempted by all candidates) 

Thursday, Nth March—9.30 a.m. to 12.0 noon 

FILL THIS IN FIRST 

Name of School   

Name of Pupil  ~     .....:...:.r 

TO BE PINNED INSIDE THE CANDIDATE’S BOOK OF ANSWERS AND THUS 

SENT TO THE DEPARTMENT. 

[OVER 



SECTION 1 {a) 

On the accompanying 
map mark the position of 
ten of the following with 
a cross and add the ap- 
propriate number as given 
below :— 

(1) Acre. 

(2) Dublin. 

(3) Flodden. 

(4) Geneva. 

(5) Hamburg. 

(6) Hastings. 

(7) Kilsyth. 

(8) Malta. 

(9) Norwich. 

(10) Oxford. 

(11) Port Mahon. 

(12) Quiberon Bay. 

(13) Sedgemoor. 

(14) St. Andrews. 

(15) Tangier. (5) 
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SECTION 1 {b) 

rivp the century B C. or A.D., of each of the following, indicate who or 
what rach“anTsay why each is important in history. Answers must 
written in the space provided after each name. v 

(1) Alfred the Great ( century ) 

(2) Anselm ( century ) 

(3) Joseph Chamberlain ( century ) 

(4) Thomas Clarkson ( century ) 

(5) The Model Parliament ( century ) 

(6) The battle of Largs ( century ) 

(71 Robert Owen ( century ) 

ITURN OVER 



century (8) The Petition of Right ( 

(9) Sir James Young Simpson ( 

(10) The Peace of Wedmore ( 

century 

century 

(84160) 
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SECTION 1 [to be attempted by all candidates) 

(See separate sheet provided for this section) 

SECTION 2 [Greek and Roman History to 410 A.D.) 

1. Describe and compare the Athenian and Spartan 
constitutions in the middle of the fifth century B.C. 

2. Do you consider that the battle of Mantinea marks 
a turning point in Greek history ? 

3. Compare the services rendered to Rome by Pompey 
and by Julius Caesar. 

4. Describe the Roman system of provincial adminis- 
tration in the first century A.D. 

5. Write notes on two of the following : —Themistocles, 
Alcibiades, the Achaean League, the Twelve Tables, the 
Gracchi, the Emperor Diocletian. 

SECTION 3 [Mediaeval History, 410 to 1453) 

6. What do you know of the barbarian invasions of 
Italy in the fifth century ? 

7. Describe the main conquests and settlements of the 
Norsemen on the continent of Europe in the ninth and 
tenth centuries. 

8. Discuss the view that the mediaeval papacy reached 
its height under Innocent III. 

9. Account for the ultimate victory of France under 
Charles VII in the Hundred Years War. 

10. Write notes on two of the following : —Charles Martel, 
the First Crusade, the Emperor Frederick Barbarossa, 
Louis IX of France, Cola di Rienzi, the Council of Constance. 

SECTION 4 [Modern History [A), 1453 to 1763) 

11. Explain the importance of the duchy of Burgundy 
in the latter half of the fifteenth century. 

12. “ The success of the Reformation spelt the ruin 
of the Holy Roman Empire.” How far do you agree with 
this statement ? 
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13. Trace the rise of Sweden to the rank of a great 
power and account for its decline. 

14. “ The reputation of Louis XIV would have been 
greater if he had died before 1685.” How far do you 
agree ? 

15. Do you consider that the ambition of Frederick II 
of Prussia was the sole cause of the War of the Austrian 
Succession ? 

SECTION 5 [Modern History (B), 1763 to 1914) 

16. Explain the political and social grievances which 
led to the French Revolution. 

17. Describe the chief stages in the relations between 
Turkey and the European powers between 1815 and 1839. 

18. “ Blood and iron.” Do you consider this phrase 
a satisfactory description of the methods of Bismarck ? 

19. Explain the international rivalries which led to 
the War of 1914-1918. 

20. Write notes on two of the following :—The Emperor 
Joseph II, the Treaty of Tilsit, the Kingdom of the 
Netherlands (1815-1830), Mazzini, Louis Blanc, the 
Zollverein. 

GEOGRAPHY 

LOWER GRADE 

Friday, 12th March—9.30 A.M. to 12 NOON 

Candidates should attempt SEVEN questions, viz., the three 
questions of Section A, together with ONE question from 
EACH of the other Sections B, C, D and E. 

Candidates should read the questions carefully. The answers 
should be clearly expressed and entirely relevant. 

The value attached to each question is shown in brackets after 
the question. 

N.B.—Write legibly and neatly, and leave a space of half 
an inch between the lines. Marks will be deducted for 
writing that is difficult to read. 



EXAMINATION PAPERS, 1948 15 

SECTION A 

The whole of this Section should be attempted. 

1. On the accompanying map of part of the British 
Isles:— 

[а) Show and name four of the main coalfields of 
Britain, using a clear dotted line to delimit each. (4) 

(б) Delimit, using a continuous pencil line in each case, 
two fairly extensive areas where the population 
density is very high (exceeding 500 to the square 
mile). The areas chosen should not include the 
coalfields outlined in answer to (a). (2) 

(c) Mark Edinburgh and Leeds, and show the Waverley- 
Midland Route from the one to the other. (2|) 

(d) Mark distinctly with a double line a limestone 
ridge which crosses England. (1J) 

(e) Mark two passenger steamship routes between 
Ireland and Great Britain, naming the terminal 
ports in each case. (2) 

(12) 

2. On the accompanying map of the lands surrounding 
the Indian Ocean :— 

[a) Write DRY over an area with little or no rainfall 
at any season ; WINTER over an area where 
most of the rain falls in the coolest season ; 
SUMMER over an area where most of the rain 
falls in the warmest season ; ALL over an area 
where the rainfall is heavy at all seasons ; TWO 
over an area with two monsoonal rainy seasons 
each year. (5) 

(5) Write OIL over two major oilfields. (1) 

(c) Mark and name four entrepots. (2) 

[d) Name Tasmania, Sumatra, Madagascar, and 
Mozambique, stating after each the Empire of 
which it forms a part. (4) 

(12) 
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3. Examine the contour map on page 4 of the map 
sheet, and answer the following : — 

{a) Write, in 10-15 lines,-a broad general description 
of the build of the area shown. (6) 

(6) Suggest reasons why a town has developed at S. (4) 
(c) Comment on the position of the road SPQBU. (4) 
[d) If the map measures 5|- inches by 7, what area of 

territory is shown? (2) 
(16) 

SECTION B 
Only ONE question to be attempted. 

4. Distinguish between transhumance and nomadism. 
Describe, with reference to a specific example in each case, 
how geographical conditions lead to the movements of the 
people. (15) 

5. What are the conditions necessary for the cultivation 
and harvesting of cotton or tea ? Give a broad account 
of the world distribution of the crop selected. (15) 

6. Explain with the help of diagrams : — 
{a) Why it is warmer at the Equator than at high 

latitudes, e.g., 60° N. ; (7) 
(b) Why, in general, the interval between sunrise and 

sunset varies with the seasons, but does not do 
so at the Equator. (8) 

(15) 

7. Describe, with reference to a specific example in 
each case, the main characteristics of the build, drainage, 
and soil of {a) a dissected plateau, and {b) an alluvial 
plain. Indicate in your answer how the physical 
characteristics influence human affairs. (15) 

SECTION C 
Only ONE question to be attempted. 

8. Write a short essay showing how a serious deficiency 
in British coal production tends to bring about (a) 
restrictions in our food supply, (&) difficulties for our 
manufacturing industries, and (c) a reduced standard of 
living. (1®) 
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9. Describe broadly the characteristics of the climate 
of your home area, mentioning average July and January 
temperatures, and average rainfall. (6) 

Write notes showing how three of the following differ 
in climate from your home area : — 

Cork, Dublin, Lowestoft, Braemar, Lerwick, 
Southampton. (9) 

(15) 

10. Account for the distribution of people in one of the 
following areas, illustrating your argument by a sketch- 
map : — 

[а] The Scottish Lowlands from the Highland Fault 
to the Southern Upland Fault ; 

(б) England, north of the Mersey-Humber ; 
(c) Wales ; 
[d) Ireland (Eire and Northern Ireland). (15) 

SECTION D 

Only ONE question to he attempted. 

11. “ Although geographically different, Norway and 
Denmark are much akin.” 

Expand and discuss this statement. (15) 

12. Write notes on the position and importance 
(assuming normal times) of three of the following : — 

Basle ; Coblenz ; Essen ; Hamburg ; Istanbul; 
Madrid ; Marseilles ; Milan ; Vienna. (15) 

13. Contrast the climate of two of the following areas, 
and mention the main agricultural products which are 
grown successfully in the two areas chosen : — 

The Plain of Lombardy ; The Paris Basin ; The Basin 
of the Vistula ; S.W. Spain. (15) 

SECTION E 

Only ONE question to he attempted. 
14. Suppose that you had recently spent a whole year 

a a farm in one of the following areas : — 
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The Lake Peninsula of Canada ; Southern Manitoba; 
a valley of western Nova Scotia ; the Australian 
Riverina; the eastern coastal plain of North 
Island, New Zealand ; the south-western part 
of Cape Province, South Africa. 

Write a geographical essay describing your impressions 
in regard to the scenery, climate, occupations, farming 
activities, and population of the area visited. (15) 

15. Draw a sketch-map of N. America showing the 
main physical [i.e., structural) regions, naming each appro- 
priately. Give a general description of the build of one of 
these regions and write a brief note on the build of each 
•of the rest. (15) 

16. " Africa remained for long the Dark Continent, so 
great were the obstacles which impeded exploration of 
bhe interior.” Mention the kinds of obstacles to which 
inference is here made ; illustrate by examples. (15) 

GEOGRAPHY 

HIGHER GRADE—(FIRST PAPER) 

Friday, 12th March—9.30 A.M. to 12 NOON 

Candidates should attempt FIVE questions, viz., the two 
questions of Section A, together with any three 
questions taken from Section B. 

Candidates should read the questions carefully. The 
answers should he clearly expressed and entirely 
relevant. 

The value attached to each question is shown in brackets 
after the question. 

N.B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 
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SECTION A 

The two questions of this Section should, he attempted. 

1. Part of the one-inch Ordnance Survey map of 
Britain is provided. After studying the map, answer the 
following :— 

(a) Write (in 12-15 lines) a broad description of the 
build of the area shown. (11) 

(&) Comment briefly on the position of the routes (rail, 
etc.) (i) in the Ebbw Valley between Newbridge 
and Crosskeys, and (ii) in the Rhymney Valley 
below Maes-y-cwmmer or Hengoed, making any 
comparison of the valleys (from the point of view 
of transport) which seems to you to be interesting 
or important. (7) 

(c) Give an account of the distribution of population 
in the area, showing how it is related to relief 
and occupations. (9) 

(d) Contrast, in regard to position and lay-out, Crumlin 
(on the Ebbw, in the north of the map) with 
Oakdale (about two miles west of Crumlin). (6) 

(e) Write a note on the distribution of woodland in the 
area. (3) 

(38) 
2. On the accompanying map of North and South 

America:— 
(«) Mark New Orleans, and, in brackets after the name, 

state the time by the sun at New Orleans when 
it is noon at Greenwich. (3) 

fl) Draw a line or lines joining places where the 
altitude of the mid-day sun is 70° on 
21st December. (4) 

(c) Draw a line round the main wheat producing area in 
Canada. Mark by thick lines the routes by which 
Canadian wheat for export reaches the sea. (3) 

fl) Draw a dotted line round an area of inland drainage. 

I1) fl) Show by a line (   - •) the 32° F. January 
isotherm (reduced to sea-level). (2) 

(/) Show by arrows the main direction of the winds 
over the S. American coastlands in December. (3) 

(16) 
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SECTION B 

THREE questions should be attempted from this Section. 

3. {a) Indicate the main features of the climate which 
gives rise to the true equatorial forests. (3) 

(b) Where precisely are these forests found ? (3) 

(c) Describe an equatorial forest, mentioning the types 
of animal life. (6) 

{d) What is the economic importance of such forests, 
and why is their economic exploitation slow ? .(4) 

(18) 

4. Assuming that you could obtain, in respect of each 
farm in a particular Scottish county, all the statistical 
information for a particular year that you would require, 
describe carefully what you would do in order to translate 
the statistical information into a map of the county showing 
the varying intensity of potato cultivation. (Assume that 
you are given an outline map, area about 5 square feet, 
of the county.) (18) 

5. The following table shows the mean temperature and 
rainfall, month by month, of three places A, B, and C. 
Select any two of the places and indicate where, in your 
opinion, they are situated, stating clearly but briefly how 
you have reached your conclusions. 

A /Temp. °F. 
\Rain In. 

a! <0 
1—> pin 

ft S' ^ ft 
A V 

<J C/3 

4-j ^ o o 
O £ 

74 75 73 69 64 60 59 59 61 64 68 72 
0 0 i 1 24 44 34 3 1 1 i 0 

B /Temp. °F. C \Rain In. 
31 33 37 46 55 62 67 63 57 48 38 33 
14 14 2 14 If 24 2f 24 If 2 2 2 

r /Temp. °F. 
^ \Rain In. 

78 78 77 74 71 68 68 69 69 71 73 75 
3 44 54 44 5 44 34 2 14 2 24 

(16) 
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6. Answer (a) and (b), illustrating in each case by 
reference to a suitable example. 

[а) Either (i) What is a canyon and why are canyons 
normally found in dry areas ? (7) 

or (ii) What is a hanging valley, and why is a 
waterfall usually found there ? (7) 

(б) Describe the characteristics of the coastline of an 
area which has sunk until parts are submerged. (9) 

(16) 

7. “ Towns tend to develop where there are easy means 
of (a) crossing or (b) getting round a barrier.” 

Comment on this statement, bearing in mind that the 
barrier may be a sea, river or lake, or a mountainous area. 
Illustrate your answer by suitable examples. 

(16) 

8. The following table, true for a typical year in the 
1930’s, provides statistics concerning five countries which 
produce large amounts of wheat : — 

Area 
(Sq. miles). 

Population 
(millions). 

WHEAT (Millions of tons) 

Production. Export. 

Argentine 
Canada 
France 
Hungary 
Rumania 

1,100,000 
3,700,000 

210,000 
36,000 

120,000 

12 
11 
41 

9 
20 

7 
11 
10 
3 
3 

3-5 
5-5 

[Imports 1 -8] 
0-4 
0-4 

Comment on these figures so far as the production and 
Use °f wheat is concerned. (16) 

9- What parts of the world were well known, vaguely 
nowri, and unknown to well-informed Europeans about 

? What had been the great discoveries of the preceding 
Years ? (16) 
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GEOGRAPHY 

HIGHER GRADE—(SECOND PAPER) 

Friday, 12th March—1.0 P.M. to 3.30 P.M. 

Candidates should attempt FIVE questions, viz., ONE 
question from EACH of the Sections A, B, C and D, 
and a fifth from any Section. 

Candidates should read the questions carefully. The answers 
should be clearly expressed and entirely relevant. 

20 marks are assigned to each question. 

N.B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

SECTION A 

1. Write, in a fashion that shows detailed knowledge, 
explanatory notes on two of the following, all of which refer 
to Scotland : — 

[а) The development of an “ industrial estate,” or the 
recent development of a new industry ; 

(б) The tendency within any city or large town for 
premises of one type [e.g., factories, shops, 
houses) to be localized ; 

(c) -The decline, with special reference to one area, of 
a particular industry ; 

(d) The importance as a barrier of one particular 
river ; 

(e) The position and importance of a relatively minor 

railway junction, e.g., Leuchars, Dingwall, 

St. Boswells ; 

(/) The decline and virtual or total eclipse of a small 
port ; 

(g) The declining population of a particular parish or 
small area ; 
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(h) The cultivation of wheat ; 

[i) Fluctuations during the last half-century in the 
height of the “ moorland edge,” (the height of 
the moorland edge being the height at which 
cultivation gives place to uncultivated pastures 
or waste land). 

2. Describe broadly the scenery (land-forms, drainage, 
and vegetation) of two of the following areas of Britain, 
showing in each case how the land-forms depend on the 
nature of the rocks and on the agents that have shaped 
them:— 

South Downs ; Peak District ; Grampian Highlands ; 
Southern Uplands of Scotland ; the Fens. 

3. “ British industries which depend on the New World 
tend naturally to be located in the west of the British 
Isles.” Discuss and illustrate. 

SECTION B 
4. Give an explanatory account of the density-dis- 

tribution of population in the Great European Plain from 
the North Sea to the Urals and northward to the Arctic 
Circle. Illustrate by a sketch-map. 

. 5. Give a brief account of the Alps and of their 
lmportance in the geography of Europe, mentioning : — 

(«) their build, (6) the nature of land utilization, and 

(c) their importance (i) as a watershed, and 
(ii) as a barrier to communication. 

6. Select two of the following pairs and show in each 
Use how the areas mentioned resemble or differ from one 
another 

(«) Finland and the Province of Quebec ; 

(fr) Belgium and Saxony ; 

(c) Portugal and North Island, New Zealand. 
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SECTION C 
7. What are the geographical factors that have con- 

tributed and will continue to contribute to the rapid 
growth of the U.S.S.R. ? What, on the other hand, are 
the geographical factors which impede the development 
of that Union ? 

8. Show how the farming activities of the various 
parts of the Indo-Gangetic Plain are related to climate. 
Illustrate by a sketch-map. 

9. “ The capitals, Ottawa, Washington and Canberra, 
of Canada, U.S.A., and Australia have much in common 
in regard to situation ; there is parallelism, too, in regard 
to the situation and character of the largest towns, Montreal, 
New York and Sydney.” Discuss. 

SECTION D 
10. What are the main colonial territories of either 

France or Holland ? Estimate the importance of these 
territories to the motherland concerned. 

11. Draw a map of the western coastland of South 
America, showing the main climatic regions. Write concise 
descriptive notes on the main climatic characteristics of 
each of these regions. 

12. Give a concise account of the geography of Japan 
or Palestine. 

ARITHMETIC 

Tuesday, 9th March—9.30 A.M. to 10.45 A.M. 

Candidates must attempt any FIVE questions. 
Before attempting to answer any question, candidates should i 

read the whole of it very carefully, since time is often lost 
through misapprehension as. to what is really required. 

All the working must he legible and shown in its proper position 
in the answer, and, when necessary, the different steps 
should he clearly indicated. 

20 marks are assigned to each question. 
Marks will be deducted for careless or badly arranged work. 
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1. Find the total cost of the following :— ‘ 

3J gallons of paraffin oil at 5\d. per quart, 
3,500 nails at 2s. Id. per 1,000, 
15f yards of copper wire at l\d. per foot, 
1J gross iron brackets at Is. each, 
One piece of asbestos sheet, 16 in. by 10 in., at 

6s. Qd. per square yard. 

2. The net income from an estate is £7,565 5s. Od. This 
sum is secured after deducting from the gross income 20 per 
cent, for repairs, 3 per cent, for minor expenses and then 
paying income tax at 8s. in the £ on what is left. Find the 
gross-income. 

3. The three items of an account are £6 7s. 5d.; 
£9 10s. lid.] £2 8s. Ad. In making out the account a clerk 
by mistake interchanges the shillings and the pence in the 
last item. If the other items remain unchanged, find the 
percentage error in the whole account. 

4. A sum of money was invested for 1| years at simple 
interest. On £500 of this sum interest was received at 
2| per cent, per annum but on the rest the rate was 1-| per 
cent, per annum. If in all £26 12s. Qd. was received as 
interest, what was the total amount invested ? 

5. A plunge bath is 12 yards long, 3 yards wide and 
5 feet deep. Find the cost of covering the bottom and the 
sides with white square tiles which are 6 inches wide and 
cost 3s. l\d. per dozen. 

6. Rainwater from a flat roof measuring 18 yards 2 feet 
by 11 yards is collected in a cylindrical tank of diameter 
3 feet 6 inches and height 6 feet. If the water rises in the 
lank, the circular base of which rests on a horizontal 
surface, to a point 2 feet from the top, find in inches what 
depth of rainfall this represents. 

(Take tu = y)- 

.7. For the first 7 miles of a journey of 21 miles a boat 
sailed at 10 miles per hour, but adverse currents reduced its 
speed to 8 miles per hour for the next 40 minutes. The rest 
of the journey was completed at 10 miles per hour. How 
ong did the journey take ? 
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8. A and B were partners in a business, A having 
800 shares. The employees received 40 per cent, of the 
year’s profit as a bonus and the remainder of the profit was 
divided between A and B in the ratio of their shares. 
If the employees received £156 5s. and A £150, what was 
the amount of the year’s profit and how many shares did 
B hold ? 

9. British coal was quoted for delivery in France at 
£3 10s. per ton. Calculate the appropriate quotation in 
francs per quintal. 

(£1 = 479-92 francs, 1 quintal = 1,100 lb.) 
(Answer correct to second decimal place.) 

10. In making jam a housewife used 61b. of fruit at 
Is. a lb., 61b. of sugar at 3d. a lb., and a quarter of 
an ounce of tartaric acid at 6d. an oz. She required 25 cubic 
feet of gas at 4s. 2d. per thousand cubic feet and obtained 
11-| lb. of jam. How much per pound, to the nearest tenth 
of a penny, did the jam cost her ? 

MATHEMATICS 

Lower Grade—(First Paper) 

Monday, 15th March—9.30 a.m. to 11.30 a.m. 

Before attempting to answer any question, candidates should 
read the whole of it very carefully, since time is often lost 
through misapprehension as to what is really required. 

Four-place logarithmic tables are provided. 

All the figures should be neatly drawn, and, where it is necessary 
to turn over a page driring the answer to a question, a rough 
copy of the figure must be drawn on the fresh page. _ All 
the steps of the proofs must be given. Preference will be 
given to proofs which depend on first principles, and in 
all cases it should be clearly shown on what assumptions 
the demonstrations are based. Where geometrical refer- 
ences are necessary in written proofs, care should be taken 
to ensure that such references are clear and intelligible- 
Text-book reference numbers, apart from those of Euclid, 
should not be used. 

The value attached to each question or part of a question is 
shown in the margin. Marks will be deducted for careless 
or badly arranged work. 
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Section I 

All the questions in this Section should he attempted. Marks 

1. Prove that parallelograms on the same base and 
between the same parallels are equal in area. 10 

2. Prove that, if a straight line touches a circle and 
from the point of contact a chord is drawn, the angles which 
this chord makes with the tangent are equal to the angles 
in the alternate segments. H 

3. Prove that in an obtuse-angled triangle the square 
on the side opposite the obtuse angle is greater than the 
sum of the squares on the sides containing the obtuse angle 
by twice the rectangle contained by one of these sides and 
the projection on it of the other. 11 

State, without proof, the corresponding theorem for the 
square on the side of a triangle opposite to an acute angle. 2 

4. Prove that in equiangular triangles the sides about 
the equal angles are proportional. 12 

Section II 

Only three questions should he attempted from this Section. 

The propositions in Section I (above) on which certain of 
these deductions depend are indicated in brackets. 

5. In an isosceles triangle ABC, the sides AB and AC 
are equal. D and E are points on AB and AC respectively 
such that AB> = AE. If BE and CD meet in G, prove 
that— 2 

(i) BE = CD-, 4 

(ii) GD = GE ; 6 

(iii) AG bisects angle DGE. 6 
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6. Two circles intersect at P and Q. The tangent at P 
drawn to the first circle meets the second circle in R and the 
tangent at Q drawn to the second circle PQR meets the 
first circle in 5. SP produced meets circle PQR in T, and 
RQ produced meets circle PSQ in W. 2 

Prove that— 

(1) angle SPQ = angle PQR ; 7 

(2) STRW is a parallelogram. 9 
(Section I, 2.) 

7. AB is a diameter of a circle of radius 14 cm. AC 
and BD are two chords intersecting within the circle at £ 2 1 

and AE and BE measure 20 cm. and 12 cm. respectively. 
Show that angle AEB is obtuse and calculate the lengths 2 
of EC and ED. M 

Find also the length of CD and show that, if 0 is the 
centre of the circle, angle HOC = 60°. 3 

(Section I, 3.) 

8. ABCD is a quadrilateral in which A and B are right 
angles. ^4C and BD intersect at E and PEQ is drawn 
perpendicular to AB to meet AB at P and CD at Q. 

Prove that— 

AP AD 
(l' PB~ BC ’ 

(ii) PE = EQ. 

8 

8 

9. The angle between two radii OA and OB of a circle 
is 45° and the length of the perpendicular from 0 to the - 
chord AB is 10 cm. Using your tables, calculate the area 
of the triangle OAB and hence determine the area of a 1 
regular octagon inscribed in the circle. 1 

'Find also the length of the radius of the circle. 
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MATHEMATICS 

Lower Grade—(Second Paper) 

Monday, 15th March—1 p.m. to 3.30 p.m. 

Before attempting to answer any question, candidates should 
read the whole of it very carefully, since time is often lost 
through misapprehension as to what is really required. 

Square-ruled paper and four-place logarithmic tables are 
provided. 

All the working must be legible and shown in its proper position 
in the answer, and the different steps should be clearly 
indicated. 

The value attached to each question or part of a question is 
shown in the margin. Marks will be deducted for careless 
or badly arranged work. 

Section I 

All the questions in this Section should be attempted. 

h (i) Use logarithmic tables to evaluate— 

(0-2345)2 

6-523 x 0-0423 

giving your answer correct to three significant figures. 

(ii) Find, correct to 0 • 1 inch, the length of the circum- 
teience of a circle whose area is 48-5 sq. in. 

(Take tc = 3-142.) 

2- (i) Resolve— 

36 (a2 - 2)2 - a2 

int° foui' linear factors. 

(ii) Solve the equation 

5a2 - 5* _ 2 = 0, 
giving the answers correct to two places of decimals. 

Marks 

6 

7 

6 . 

7 



30 SENIOR LEAVING CERTIFICATE 
Math, 

3. (i) If I buy % lb. of apples at 6d. per lb. and y lb. at 
8d. per lb., find the average price per lb. 2 

(ii) Given that a = St and b — 4fi, express b in 
terms of a. 3 

(iii) If £% amount to £y at 2 per cent, per annum simple 
interest after t years, prove 

t 
100 (y — x) 

xz 

(iv) Using your tables, find a value of 6 if 
tan 0 = 4 tan 20°. 

4. (i) Define sin 6, cos 0 and tan 0 when 0 is an acute 
angle. 1,1,1 

Prove that— 
sin20 -f cos20 = 1, 2 

and deduce that— 

 ^  = cos20. 2! 
1 + tan20 

(ii) Prove that— 

sin2A sin2B + sin2A cos2B + cos2A = 1. 

Section II 

Only three questions should be attempted from this Section. 

5. (i) If 
a 

x a‘ 
= y + -’ 

a 

express ^ explicitly in terms of y and a ; hence, or otherwise, 
find the value of ir when y = 3 and a = — 2. 

(ii) A line AB of length l is divided at a point P so 
that AP: PB — a: b. 

Prove AP — - a^ , PB= ^ • 
a -f- b a -j~ b 

6 
2 

2 

If AP and PB are divided at points Q and R respectively 
so that AQ : QP = a : b and PR : RB = a : b, show 
that QP = PR. 
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6. The following are special cases of the same identity, 
obtained by giving a variable n different numerical 
values— 

32 = 2 X 4 + 1, 

72 = 6 X 8 + 1, 

132 = 12 X 14 + 1. 

Find the identity in n, and use it to find the square 
of 9999. 

7. If y = sin x + cos x, tabulate the values of y for 
values of * of 0°, 10°, 20°, 30°, 40°, 50°, 60°, 70°, 80°, 90°. 

Draw a graph to show how y varies with a;, taking 
1 . 
— m. 

'2 
on the axis of ^ to represent 10° and 5 in. on the axis of y 
to represent unity. 

From your graph find— 

(i) the greatest value of y and the corresponding value 
of x, and 

(ii) the values of a; for which y — 1-2. 

8. If the length of a room were increased by 2 ft. and 
the breadth diminished by 1 ft., the area would be increased 
by 10 sq. ft. ; if the length were diminished by 2 ft. and 
die breadth increased by 2 ft., the area would be increased by 
2sq. ft. Find the length and breadth of the room. 

9. A ship steams due west between 6 a.m. and 7 a.m. 
jd 10 miles per hour. At 6 a.m. the bearing of a light- 
house L from the ship is due north and at 7 a.m. the 
bearing of L is 62° east of north. Find, by using tables, 
hie distances of the ship from L at 6 a.m. and at 7 a.m. 

If, at 7 a.m., the ship alters course to dug south, find 
cie bearing of L from the ship at 7.30 a.m. 
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MATHEMATICS 

Higher Grade—(First Paper) 

Monday, 15th March—9.30 a.m. to 11.30 a.m. 

Before attempting to answer any question, candidates should 
read the whole of it very carefully, since time is often lost 
through misapprehension as to what is really required. 

All the figures should he neatly drawn, and, where it is necessary 
to turn over a page during the answer to a question, a rough 
copy of the figure must he drawn on the fresh page. All 
the steps of the proofs must he given. Preference will he 
given to proofs which depend on first principles, and in 
all cases it should he clearly shown on what assumptions 
the demonstrations are based. Where geometrical refer- 
ences are necessary in written proofs, care should he taken 
to ensure that such references are clear and intelligible. 
Text-hook reference numbers, apart from those of Euclid, 
should not be used. 

The value attached to each question or part of a question is 
shown in the margin. Marks will he deducted for careless 
or badly arranged work. 

Section I 
All the questions in this Section should he attempted. 

1. Prove that, if a pair of opposite angles of a quadri- 
lateral are supplementary, the quadrilateral is cyclic. 

Deduce that the same is true, if an exterior angle of the 
quadrilateral is equal to the interior opposite angle. 

2. If from a point outside a circle a secant and a tangent 
be drawn to the circle, prove that the rectangle contained 
by the whole secant and the part of it outside the circle is 
equal to the square on the tangent. 

3. Prove that, if from, the vertex of a triangle a straight 
line is drawn perpendicular to the base, the rectangle con- 
tained by the sides of the triangle is equal to the rectangle 
contained by the perpendicular and the diameter of the 
circle circumscribed about the triangle. 

Deduce that, if A be the area of the triangle, 

. ahc 
A = —. 

AR 
where a, h, c and R have the usual meanings. 
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4. Prove that, if the point (x, y) divides the straight line Marks 
joining the points (%, yx) and (^2, y2) internally in the 
ratio l: m, 

lx* 4- mxr x = ’ 
l m 

= tyz + myi. 
I m 

5 

Verify that the point P (— 2, 1) lies on the straight line 
joining the points A (—4, — 3) and B (1, 7), and find the 
ratio in which it divides this line. 3, 3 

Assuming the formula for external division, find the 
co-ordinates of the point Q dividing the line AB externally 
in the same ratio. 4 

Section II 

Only three questions should be attempted in this Section. 

The propositions in Section I [above) on which certain of these 
deductions depend are indicated in brackets. 

5. ABC is an acute-angled triangle. P, Q, R are points 
on BC, CA, AB respectively such that the circles passing 
through R, P, B and through P, Q, C intersect at a point 0 
inside the triangle. 2 

Prove that a third circle can be drawn through A, Q, 0 
and R. (Section I, 1) 6 

If 0 is the centre of the circumcircle of the triangle 
d PC, show that the triangles PQR and 4 PC are equiangular. 9 

6. AC and BD are the two direct common tangents to 
two non-intersecting circles; PQ is a transverse common 
angent, which, when produced, meets AC and BD at points 
t and S respectively. The points of contact A, P, B lie on 

°ne circle and C, Q, D on the other and AR < RC. 

Prove [i)AC = BD] 

(ii) RC - AR = BS - SD = PQ; 

(hi) AR = SD, RC = BS. 

5 

6 

6 
(84160) B 

/ 
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7. State without proof what you know about the areas ^ar 

of similar triangles. 1 

ABC is a triangle whose vertical angle A is 45°. E and 
F are the feet of the perpendiculars from B and C on the 
opposite sides AC and AB, and 0 is the mid-point of the 
side BC. 1 

Prove that— 

(i) AB = ^2 . AE ; 4 

(ii) the area of the triangle AEF is half that of 
the triangle ABC ] 5 

(hi) FOE is a right angle. o 

8. The points A {4, 2), B (- 3, 1), C (- 2, - 6) form 
the vertices of a triangle. 

Find the equations of the perpendicular bisectors of any 
two sides of the triangle, and hence, or otherwise, obtain 4,4 
the co-ordinates of the centre of the circum-circle of the 
triangle. 3 

Find the radius and the equation of this circle. 3 

9. At a certain instant an aeroplane, which is rising and 
flying at a constant speed in a straight line making in the 
direction of flight an angle a with the ground, is exactly above 
an observer stationed on the ground. After an interval of 
time the angle of elevation of the aeroplane from the 
observer is p, and after a further equal interval the angle 
of elevation is y. 

Prove that— 
9 

cos (3 sin (y —- «) = cos a sin (p — y). 

Deduce that-— 

tan v = -—if + M- ([ 
2 COS a COS (3 
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MATHEMATICS 

Higher Grade—(Second Paper) 

Monday, 15th March—1.0 p.m. to 3.30 p.m. 

Before attempting to answer any question, candidates should 
read the whole of it very carefully, since time is often lost 
through misapprehension as to what is really required. 

Square-ruled paper and four-place logarithmic tables are 
provided. 

All the working must be legible and shown in its proper position 
in the answer, and the different steps should be clearly 
indicated. 

The value attached to each question or part of a question is 
shown in the margin. Marks will be deducted for careless 
or badly arranged work. 

Section I 

All the questions in this Section should be attempted. 

1. (i) Express in algebraic symbols the following state- 
ment and prove that it is true :— 

The cube of the sum of two numbers added to twice the 
sum of their cubes is equal to three times the sum of the 
numbers multiplied by the sum of their squares. 

(ii) Factorize—■ 
{a) ai + 3a2 + 4, 
(&) l-p + q-20[p- qf, 
(c) x2 + Ax2 + ^ — 6. 

2. (i) A ladder 15 ft. long rests with one end on 
horizontal ground and the other against a vertical wall. 
When the upper end slips down 3 ft. it is found that the 
lower end slips 3 ft. along the ground and away from the 
wall. How far is the top of the ladder from the ground 
before slipping takes place ? 

(ii) Solve— 

* + 2 = 0, 

x — y z — 3, 

xyz — 48. 

Marks 

1,2 

(84160) 
6 

co co co 
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3. (i) If a and b are rational and -\/c and y'd are surds 
and if a + = 6 + -\/d, prove that a = b and c = d. 2 

Write down the roots of the equation x2 -\- fix q = §, ] 
in which ft and q are integers. If one of these roots is equal 
to — 8 + 3-\/2, find the other root and also .the values of 
ft and q, explaining each step clearly. 2,1,1 

(ii) The sum of two numbers is to their mean pro- 
portional as 5 : 2. Prove that one of the numbers must 
be four times the other. 5 

4. A sum of money, P pounds, is invested at 
compound interest accruing yearly at r per cent, per annum. 
Prove that the amount, A pounds, at the end of n years 

is given by the formula A = P [l ——) > and show that, 4 
V 100/ 

if ^ = A and 1 + = R, then R = 10”/O°lo/\ 4 
-T 100 

Hence, or otherwise, find the rate per cent, per annum 
compound interest on a National Savings Certificate which 
costs 10s. and amounts to 12s. in 7 years. 4 

5. In a triangle ABC the sides are of lengths a, b, c, where 
a = 6-5 cm., 6 = 8 cm. and c = 10 cm. Calculate the 
area of the triangle and the size in degrees of the smallest 
angle. 

6. Assuming the expansions for sin (A — B) and 
cos [A — B), derive a formula for tan (A — B) in terms of 
tan At and tan B. 

r i1 

Hence prove that— 

(i) tan 15° = 2 — y'3 ; 

(ii) if PQRS is a rectangle in which PQ = 2PS, and 
if T, the mid-point of RS, is joined to P, then 

1 5 
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Section II 
Marks 

Only two questions shoiild be attempted from this Section. 

7. In a certain town a circus showman sells all his 
seats at Is. 9d. and finds that he makes a profit of £27 10s. 
on each performance. In another town he sells 250 seats 
at 4s., half as many at 2s. Qd. and all the rest at Is. ; in so 
doing his profits for each performance are increased by 
£9 7s. 6i. Assuming that the expenses incurred for each 
performance do not alter, find what they amount to and 
also the number of seats in the circus tent. 14 

8. (i) In a certain progression the nth term is — 2; 
find— 

(a) the first three terms, 1,1,1 
(b) the sum of the first n terms. 3 

(ii) Two unequal positive numbers p and q form the first 
two terms of an arithmetical progression and also of a 
geometrical progression. Find the third term of each 2,2 
progression, and show that the third term of the geo- 
metrical progression is the greater of the two. 4 

9. Tabulate the values, to two places of decimals, of 
3 cos 3* and cos % tor x = 0°, 15°, 30°, 45°, 60°, 75°, 90°. 3, 1 
Draw the graphs of these functions on the same diagram 
faking one inch on the axis of a; to represent 15° and one 
mch on the axis of y to represent unity. 1, 1 

Find from your diagram the values of x in the above 
range which satisfy the equation cos x — cos 3v. 1,1 

Solve, by any other method, this equation for values 
oi * between 0° and 360°. 6 

10. Assuming the necessary formulae, prove that in 
any triangle ABC— 

ABC 
(i) sin A -|- sin £> — sin C — 4 sin — sin — cos-' 

Z* Lt £ 

(ii) &2 sin 2C -f- c2 sin 2T> = 4A, where A denotes the 
area of the triangle. 

o-f10111 ^ deduce that the sum of the sines of any two 
thud8 °^ia ^an^e always greater than the sine of the 

5 

6 

3 

B 3 
(84160) 
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ELEMENTARY ANALYSIS 

Additional Mathematical Subject 
(Higher Grade) 

Wednesday, 17th March—9.30 a.m. to 12 noon. 

Before attempting to answer any question, candidates should 
read the whole of it very carefully, since time is often lost 
through misapprehension as to what is really required. 

Not more than FOUR questions should he attempted from 
Section I, and not more than TWO questions from 
Section II. 

Square-ruled paper and four-place logarithmic tables are 
provided. 

The value attached to each question is shown in brackets after 
the question. Marks will be deducted for careless or badly 
arranged work. 

Section I 

Not more than four questions should be attempted from this 
Section. 

1. (i) If A, B and C are angles in a triangle, prove that 
tan A + tan B + tan C = tan A tan B tan C. 

(ii) If A, B and C are three angles such that 
tan B tan C + tan C tan A + tan A tan B = 1, 

prove that 
A + B + C = {2n — 1) -, where n is an integer. (15) 

is -, and find the sum to n terms of the 

2. (i) Prove that the sum to -n terms of the series 

l2 + 22 + 32 + . . . 
n (« + 1) (2n + 1) 

6 
series 

1.3 + 3.5 + 5.7 + . . . 

(ii) Find the sum [a) to n terms, and (&) to infinity, of 
the series 

1 1 1 
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3. Solve the equations 
(\\ 03*+ 1 02*— 1 «*-3 __ C 

(ii) V(*+1) - V(4*-3) + 1 = o, 

in which the positive values of the square roots are to be 
taken. (15) 

4. If u and v are functions of ^ prove that 

d /u\ l f du dvs 

dx\v J v2^ dx U dx 

Differentiate with respect to % the following— 

1   /y; 2 z>2* 
Wcot^ (ii)^^, (hi)^-. 

(15) 

5. A variable straight line passes through the point 
(2, 1) and meets the positive axes OX and OY at P and Q 
respectively. If 6- denotes the angle QPO, prove that the 
area of the triangle OPQ is 

2 + 2 tan 0 + f cot 0. 

Find the minimum value of the area and discuss why it 
rs a minimum value and not a maximum value. (15) 

Section II 

Hot more than two questions should be attempted from this 
Section. 

6. (i) Prove that the roots of the equation 

% + - = 2 cos 0 

are cos 0 + f sin 0. Hence prove that, if 

the values of 

y + - = 2 cos eh, 
y 

xm yn 

— + yn xm 
are 2 cos (mO + n§). 

(ii) Find the roots of the equation a;7 — 1 = 0. (20) 
(84160) B 4 
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7. (i) Express 
2 x 

(1 - 2x) (1 + x2) ' 

in partial fractions. Hence obtain the expansion of the 
given expression in ascending powers of x as far as the term 
in x3. What are the necessary restrictions on the values 
of ^ if the expansion is valid ? 

(ii) Prove that, if « > 1, 

2 log, n — log, (n + 1) — log, (n — 1) = 

111 

# + 2#*+3««+ ' ' ' W 

8. Integrate with respect to % the following— 

(i) 1 — (ii) cos2^, (iii) sec2x tan3%. 

Sketch the graph of the curve y2 = 4% and find the area 
contained between the curve and the lines x = 1 and x = 2. 

(20) 

9. Sketch the graph of the curve 

^ = 3* (3 ~ xy2’ 

paying attention to the gradients at the points for which 
x — 0 and x = 3. 

Find the volume of the solid formed by revolving the 
loop of the curve about the axis of (20) 

[Volume = Ti:{y2dx, between the proper limits.] 
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DYNAMICS 

Additional Mathematical Subject 
(Higher Grade) 

Tuesday, 23rd March—1.45 p.m. to 3.45 p.m. 

Before attempting to answer any question, candidates should 
read the whole of it very carefully, since time is often lost 
through misapprehension as to what is really required. 

Candidates should, where necessary, illustrate their solutions 
by suitable diagrams. 

Square-ruled paper and four-place logarithmic tables are 
provided. 

The value attached to each question is shown in brackets after 
the question. Marks will be deducted for careless or badly 
arranged work. 

In the answers to arithmetical examples units must be stated. 

g = 32 ft. I sec.^ 

Section I 

All the questions in this Section should be attempted. 

1. Draw a velocity-time diagram to represent the 
motion of a particle which has an initial velocity u and a 
uniform acceleration / in the same direction, explaining 
how the distance covered in t seconds can be obtained 
from the diagram. 

A motor car runs from start to stop between two points 
A and B in 5 minutes. It is uniformly accelerated for 
the first 150 yards, then runs at constant velocity, and is 
finally retarded uniformly for 15 seconds, the acceleration 
and the retardation being numerically equal. Find in 
yards the distance between the stations. (15) 

2. Find the magnitude of the resultant of two forces 
m 3 and 8 poundals, when the angle between their 
directions is 120°. 

0 is a point within a triangle ABC; if forces 
^presented in magnitude, direction and line of action by 
Pi A ' ^  ^ A, OB and OC are in equilibrium, prove that O is the 
centroid of the triangle. (15) 
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3. Define Work, Foot-poundal, Foot-pound, and Horse- 
power. 

An engine working at 192 horse-power pulled a train 
of total weight 300 tons along a level track against a 
resistance of 12 lb. weight per ton. Calculate in miles per 
hour the steady speed that could be maintained. 

When carriages weighing 100 tons were uncoupled, it 
was found that the engine, working at the same rate, could 
maintain against a headwind a speed of 24 miles per hour 
on the level. What must then have been the resistance 
per ton ? (15) 

4. Distinguish between the Density and the Specific 
Gravity of a body ; and explain why, when the centimetre 
and the gram are taken as units of length and mass, the 
numerical values of the density and the specific gravity 
of any substance are the same. • 

A mass of metal, weighing 100 gm. in air, is observed to 
weigh 92 gm. in liquid A and 90 gm. in liquid B. Find 
the ratio of the specific gravities of the two liquids. 

If the specific gravity of the liquid B is 1 • 025, what is 
the specific gravity of the metal ? (15) 

Section II 

Only two questions should be attempted from this Section. 

5. State the laws of statical friction. 

If a body be placed on a plane which is slowly tilted 
until the inclination is such that the body is on the point 
of sliding down, find the relation between this inclination 
and the coefficient of friction between the body and the 
plane. 

A block of wood of mass m lb. lies on a rough inclined 
plane which makes an angle a with the horizontal, and the 
friction between the body and the plane is just sufficient 
to prevent motion. A force of F poundals is applied 
horizontally to the block and the angle of inclination oi 
the plane is increased to 0 ; it is then found that the force 
of friction is again just sufficient to prevent the block from 
sliding down the plane. Prove that 

F = mg tan (0 — a). (^) 
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6. State Newton’s Third Law of Motion, and from it 
deduce the principle of conservation of momentum in the 
case of two bodies colliding directly. 

A bullet weighing one ounce, and travelling at 1280 ft. 
per second, embeds itself in a suspended block of wood 
weighing 9 lb. 15 oz. How far will this block have risen 
vertically above its original position when it reaches the 
end of its swing ? 

Determine the loss of energy due to the collision. 
(20) 

7. A uniform rod AB of weight W is freely hinged at 
A to a vertical wall and is supported in a horizontal position 
by means of a light string BC attached to the rod at B and 
to a point C on the wall vertically above A. A weight w 
is suspended at B. 

Prove that the tension in the string is 

J (W + 2w) cosec 0, 

where 0 is the angle ABC. 

If the reaction at A makes an angle ip with AB, prove 
that 

tan ij) 
W tan 0 

W + 2® 
(20) 

8. Distinguish between the thrust and the pressure of 
a liquid on a surface, and find a formula for the pressure at 
a depth h in a liquid of density p. 

The ends of a horizontal V-shaped trough are vertical 
and in the shape of equilateral triangles of side 2 feet, 
the trough measures 6 feet in length and is filled with a 
hquid of specific gravity 0-9. Given that the density of 
water at the same temperature is 62-3 lb. per cubic foot, 
calculate the thrust due to the liquid on each side and 
on each end of the trough. (20) 
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GEOMETRY 

Additional Mathematical Subject 
(Higher Grade) 

Wednesday, 24th March—1.45 p.m. to 3.45 p.m. 

Before attempting to answer any question, candidates should 
read the whole of it very carefully, since time is often lost 
through misapprehension as to what is really required. 

Not more than FIVE questions should be attempted, of which 
TWO should be chosen from Section I, TWO from Section II, 

and a FIFTH from EITHER Section. 

Where geometrical references are necessary in written proofs, 
care should be taken to ensure that such references are 
clear and intelligible. Text-book reference numbers, apart 
from those of Euclid, should not be used. 

Square-ruled paper is provided. 
20 marks are assigned to each question. 
Marks will be deducted for careless or badly arranged work. 

Section I 

1. Establish the formula for the length of the 
perpendicular from the point [h, k) to the line whose 
equation is ax T by -\- c = 0. 

Find the intersection of the lines given by the equation 

6a2 + 5xy — 6y2 — 29^ + 2y + 28 = 0, 

and show that the square of the distance of this point from 
the point P (— 3, 0) is equal to twice the product of the 
perpendiculars from P on the lines. 

2. Find an expression for the length of the tangent from 
any point (h, k) to the circle 

x2 + y2 + 2gx + 2fy + c = 0. 

How would you determine, without a diagram, whether 
the point (h, k) is inside or outside the circle ? 

Find the locus of a point P which moves in such a way 
that the angle between the tangents from it to the circle 

%2 + y2 — 4a = 0 
is always equal to the angle between the tangents from i1 

to the circle 
a2 -j“ y2 — 16y + 55 = 0. 
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3. If (%, y-t) and (xz, y2) are inverse points with respect 
to the circle x2+^2 = r2, prove that 

r* % 

K + yf 
y2 

r* y-j, 
9 i 9 

x! + yi 

Deduce the equation of the polar of the point (%1, y^} 
with respect to the circle %2 + ^y2 = r2. 

Find the equation of the polar of the point P (1, 5) with 
respect to the circle a;2 + ^y2 = 13, and find also the 
equations of the tangents from P to the circle. 

4. Define a parabola and prove that its equation can 
be put in the form y* = Aax. 

From a fixed point S a perpendicular SA is drawn to 
a. fixed line AL ; M is any point on AL and N is the mid- 
point of AM. Through M and N lines MP and NP are 
drawn perpendicular to AM and SN respectively to meet 
in P. Prove that P lies on the parabola whose focus is S 
and whose vertex is A, and that NP is the tangent at P. 

5. Prove that the equation of the chord joining the 

points (ct-y, U on the rectangular hyperbola 

xy = c2 is 

kky + X= city + t%), 
and deduce that the equations of the tangent and the 

normal at the point P (ct, ^ are 

t%y x — 2ct 
and fix + c = ty + ay 

Verify that the normal meets the curve again at the 

point 0 
t3 , — ct3). 

through these points P and Q straight lines PR and 
are drawn parallel to the y-axis and the %-axis 

respectively to meet in R, show that R lies on the curve 
x + c2y = 0. 
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Section II 

6. State and prove the characteristic property of the 
Nine-Point Circle of a triangle, and find its centre and 
radius. 

If H is the orthocentre of the triangle ABC, and O-l, 02, 03 

are the circumcentres of the triangles BHC, CHA, AHB 
respectively, prove that the triangles ABC and OjC^Og 
are congruent and that they have the same Nine-Point 
Circle. 

7. A line AB is divided harmonically at C and D. If 
an external point O is joined to A, B, C and D by straight 
lines to form the pencil O (AB, CD), prove that any trans- 
versal of this pencil is divided harmonically by it. 

Show how to find a point in a given straight line such 
that the straight lines from it to the vertices of a given 
triangle form with the line a harmonic pencil. 

8. Define the power of a point with respect to a circle. 
Show that the locus of a point whose powers with respect 
to two given circles are equal is a straight line perpendicular 
to the line joining the centres. 

The line joining the centres of two circles meets the 
first in P and Q and the second in R and S : L and M are 
the points of contact of a common tangent. Prove that 
the triangles LPQ and MRS are similar and that PL and 
SM meet on the radical axis. 

9. Prove that a sphere can be found to pass through 
four points which do not all lie in the same plane. 

If OAB, OCD, OEF are lines which do not lie in one 
plane, and OA-OB — OC-OD = OE-OF, show that the 
six points A, B, C, D, E, F all lie on a sphere. 
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1. Translate into English :— 

[a) Alexander the Great’s army, caught in a blizzard, 
becomes disorganized. His kindness to an exhausted straggler 
who was only a private soldier. 

Ordinibus solutis agrrien iter per saltum faciebat. 
milites multi perierant, multi per silvam dispersi errabant. 
rex unus tanti mali patiens circumire milites et dispersos 
contrahere. castra loco idoneo poni iussit, et arbores quam 
plurimas accendi. mox continenti incendio crederes totum 
saltum ardere. forte Macedo gregarius miles, se et arma 
aegre sustentans, vesperi in castra pervenerat. quo viso 
rex, quamquam ipse tunc maxime admoto igne refovebat(I) 

corpus, ex sella sua exsiluit torpentemque militem, demptis 
armis, in sua sede iussit considere. ille diu, nec ubi requie- 
sceret nec a quo esset exceptus, agnovit. tandem recepto 
calore vitali, ut regiam sedem regemque vidit, territus 
surgit. quern intuens rex “ nonne intelligis, miles,” inquit, 
''quanto meliore sorte vos, quam Persae, sub rege vivatis? 
illis enim in sella regis consedisse capitale esset, tibi saluti 
fuit.” (35) 

(1> refoveo = revive, warm again. 

(6) Octavius Caesar’s victory at Actium and his clemency 
to the conquered. 

Advenit dies quo Caesar Antoniusque productis 
ciassibus dimicavere, alter pro salute, alter in ruinam 
imperii Romani, ubi initum est certamen, omnia in altera 
parte fuere, dux, remiges, milites, in altera nihil praeter 
milites. prima fugit Cleopatra ; Antonius fugientis reginae 
quam pugnantium militum suorum comes esse maluit ; 
imperator, qui in desertores saevire debuerat, desertor 
exercitus sui factus est. Caesar, quos ferro poterat occidere, 
imrbis. movere cupiebat ; clamitans et ostendens fugisse 
Antonium, quaerebat pro quo et cum quo pugnarent; sed 
1 u, cum diu pro absente duce summa virtute dimicassent, 
armis positis se dedere nolebant; citius vitam veniamque(1) 

aesar promisit, quam illis, ut ea precarentur, persuasum 
est (28) 

(1> venia = pardon. 
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2. Translate into Latin — 

(1) When you find the money, give it to your sister. 

(2) That house was so cold that nobody wished to 
remain in it. 

(3) The general was afraid that the infantry had already 
retreated from the top of the mountain. 

(4) All that day the Germans kept following our legions 
along the river, but they did not dare to attack. 

(5) Cannot you tell me what time it was ? 

(6) We had hoped that your daughters would try to 
save us. 

(7) With difficulty the consul was persuaded that it 
would be useless to resist longer. 

(8) Though you refused to believe him, he had not 
betrayed his country. (28) 

3. [a) Give the first person singular of the perfect indicative 
active, and the first supine, of mordeo, tono, claudo, 
aufero, uro, vincio. 

{b) Give the accusative singular of mulier, scelus, lac, 
senex, quies, linter. (9) 
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Translate into English the following passages :— 
1. In wars against the Gauls other generals had sought merely 

to keep them in check. Caesar’s policy was different; 
he aimed at the conquest of the whole of Gaul. 

Bellum Gallicum, patres conscripti, a C. Caesare gestum 
est, antea tantum modo repulsnm11'. semper illas nationes 
nostri imperatores refutandas potius hello quam lacessendas 
putaverunt. ipse ille C. Marius influentes in Italiam 
Gallorum maximas copias repressit, non ipse ad eorum urbes 
sedesque penetravit. modo ille meorum laborum socius, 
C. Pomptinus, ortum repente bellum Allobrogum proeliis 
fregit, eosque domuit qui lacessierant, et ea victoria con- 
tentus, re publica metu liberata, quievit. C. Caesaris longe 
aliam video fuisse rationem. non enim sibi solum cum iis, 
quos iam armatos contra populum Romanum videbat, 
bellandum esse duxit, sed totam Galliam in nostram 
dicionem esse redigendam. itaque cum acerrimis nationibus 
et maximis Germanorum et Helvetiorum proeliis felicissime 
decertavit, ceteras terruit, domuit, imperio populi Romani 
parere adsuefecit ; quas regiones quasque gentes nullae 
nobis antea litterae, nulla fama notas fecerat, has noster 
imperator nosterque exercitus et populi Romani arma 
peragrarunt. (45) 

W waged defensively. 
2. On the morning after the battle, Aeneas and his allies 

celebrate funeral rites for their dead. Some of these 
rites are described in this passage. 
Aurora interea miseris mortalibus almam 

extulerat lucem, referens opera atque labores. 
iam pater Aeneas, iam curvo in litore Tarchon 
constituere pyras : hue corpora quisque suorum 
more tulere patrum ; subiectisque ignibus atris 
conditur in tenebras altum caligine caelum, 
ter circum accensos, cincti fulgentibus armis, 
decurrere rogos(I); ter maestum funeris ignem 
lustravere(2) in equis, ululatusque ore dedere. 
spargitur et tellus lacrimis, sparguntur et arma. 
it caelo clamorque virum clangorque tubarum. 
hinc alii spolia occisis derepta Latinis 
coniciunt igni, galeas, ensesque decoros, 
henaque, ferventesque rotas ; pars munera nota, 
ipsorum clipeos et non felicia tela. 

(1) rogus = funeral pile. 
(2> lustro = I go round, compass. 
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Scan the last three lines, marking the principal caesura 
in each. (40) 

3. A number of Roman matrons are, on the information of a 
maidservant, detected in a plot to poison leading 
citizens. 

Insequenti anno primores civitatis similibus morbis 
moriebantur. cuius rei causam ancilla quaedam ad Quintum 
Fabium Maximum, aedilem curulenq se indicaturam esse 
professa est, si ab eo fides data esset se fore tutam. Fabius 
rem ad consules, consules ad senatum refemnt, consensuque 
patrum fides indici(1) data est. turn patefecit muliebri 
fraude civitatem premi, matronasque ea venena coquere, 
et, si se sequi extemplo velint, manifesto deprehendi posse, 
secuti invenerunt coquentes quasdam medicamenta. ad 
viginti matronae, apud quas deprehensa erant, ad forum 
accitae sunt, duae ex eis, cum ea medicamenta salubria 
esse contenderent, bibere ab indice iussae sunt ut se falsum 
dixisse arguerent. spatio ad colloquendum sumpto, cum 
rem ad ceteras retulissent, baud abnuentibus et illis bibere, 
omnes epoto medicamento suamet ipsae fraude interierunt. 

W index = informer. (35) 
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1. Translate into Latin : — 
Meanwhile the shouting and the uproar round the palace 

were increasing. At last a rush was made from every side 
upon the gates. They were so strongly guarded that the 
assailants were forced to retire. But the attack terrified 
the Emperor himself and caused much consternation among 
his friends. In this crisis he summoned them and sought 
their advice. Most of them urged him to quit the city 
secretly by sea on a vessel ready for his use. Theodora 
alone displayed an intrepid courage. She alone, without 
fear of his hatred or his wrath, spoke the words that saved 
him from both danger and disgrace. “ If flight ”, she said, 
" were to be the only means of safety, I at least should refuse 
to fly. They who have reigned ought never to survive the 
loss of imperial power. If you, O Caesar, resolve to fly, 
j7ou have a store of gold and silver : behold the sea ; you 
have ships. But take care lest, while desiring to live, you 
meet an ignominious death. For my own part, I believe 
that a throne(1) is a glorious sepulchre.” (50) 

(1> throne = solium, -i, n. 
2. Translate into Latin : — 

(1) Can nobody prevent her from telling lies about her 
neighbours ? 

(2) Whenever the slave turned round, he saw that the 
lion was following him. 

(3) Remember that the greater the danger, the bolder 
our leader becomes. 

(4) What you are doing will benefit yourself alone ; 
you will not be blamed, provided you do not 
harm others. 

(5) We are very glad that your mother has not been 
able to arrive here today : even for ourselves we 
have not enough dinner. 

(6) Before he made that speech two months ago in 
defence of these scoundrelly Greeks, all the 
citizens trusted him. If he were seeking the 
consulship now, none of us would help him. (28) 

Give the genitive singular of aes, facies, lapis, acus, 
praeceps, superstes, robur. 

(&) Give the first, person singular of the perfect indicative 
active of claudo, percello, ardeo, occulo, flecto, 
diligo, comperio. (7) 
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to read. 

1. Translate into English :— 

[a) By his chivalrous offer Cyrus wins Egyptian troops over to 
his own side. 

'0 §£ Kupo^ OVATStpSL TOUp AlyUTITtoUp OTl (Xya0Ol CCvSpS? 

ovtsc dbrwAXuvTo' Trspoist, Ss irpop auvoo^ xyjpuxa eporrcov 

TTOTepov PoiSAovtou aTroXsaOai Travvep utuso tcov TrpoSsSwxoTOV 

auTOOc V) (TcoByiva!. avSpsp ayaOol Soxouvte^ sivai. ol S’ 

axsxptvotvTO, ” 7icop S’ av GooBetTjpiEV avSpsp ayaQoi. 

Soxoovrsp slvat,;” o Se Kupop TuaAiv sAsysv or!, "^(TEip 

opoojAEV [aovoup xal [TEVowap xal [jAyzaftc/x sBeAovrap. 

axouaavTEp Se vauxa ExypovTO, " sav Se yEVW[AE0a goi 

xt yplv aL,i<f>azic, yy>7]G§xim; ” aTTExpivaxo 6 Kupop, " [xiaOov 

jtev u(aiv Soltjv av tcXelovoc f\ vuv £Aa[a(3av£TE ogov av XP°V0V 

TCoAEfXOc; 7] SLpTJWjP Se yEV0[X£V'7jp, Ttp PouAo[T£VW opiwv [TSVEIV 

Trap’ Ejxol yGpav te Sgtgco xal xoXelc xal yuvaixap xai 

oixsTap.” axoiJGavTE^ Se xaura rravTsp ISoGav tcIgtlv 

EXa(3ov. xal ol tote xaTajj-slvavTsp etl xal vuv (BaGiAEi ttigto!. 

SiapLsvouGi, Kupop te ttoXel^ auTolp eScoxe. xaura Se 

SiaTupa^aptEVop GXOTalop a7rsX0d)v EGTpaTOTrsSEUGaTO £V 

©UfxPpapoip. (3°) 

(■) = treat. 
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XAP. 

EP. 

XAP. 

KPOIS, 

XOA. 

Charon and Hermes listen to Croesus and Solon dismssing 
who have teen the happiest of mankind. 

'0 Kpolcroc; Ss too Icttiv; 

’Ato(3X£i!;ov eic, tt]v [xsyaXTjv ttoXiv' SapSsii; sxeivai, 

xal tov Kpoiaov auxov opap SoXcovi. tco ’AGyvaioj 

rWXcVoij.svov' axoucrco[j,£V auxoiv o xt, Xeyoocxv. 

Travu p,ev oov. 

’|Q ^£V£ ’A07]vai£, yap [TOO xov TiXouxov xal 

TOUC, 8'/]CTaupoop, ELTCE [TOI, XLV(X TjyEl XWV aTXXVXCOV 

av0p(O7rcov EuScapiovECJxaxov Eivat.; 

’H KpoiaE, oXiyot, p.£v oi EuSoapiovE^' £yw Se cov 

oiSa KXsopiv xal Bixoava yyoojTca EoSaip/jVEXxaxooc 

y£V£CJ0ai,, 61 cf.{±cr. aiTEGavov etceI X7]V [XTjXEpa auxol 

EiXxocrav etu ‘xrf, octctjvt]^ ' sip xov veoiv. 

KPOIS. ’'Ectxoi- o Se6xepo<; Se xip av e’it] ; 

SOA. TsXXop o A0-/]vaiop, oc; El) XE £^[(0 xal a7UE0aV£V 

UTCEp x^p TiaxplSo;;. 
KPOIS. ’Eyw Se, oo croi. Soxco suSalfJicov slvai; 

SOA. OuSetto) oiSa, 6> Kpotas, lav [XT] rcpoc; xo xeXo(- 

acplxT] xou [3loo. o yap 0avaxo^ axpi(3T]<; icrav 

eXEyyop^1 xcov xoiooxcov. (27) 
(’) = had drawn. 
(2> = wagon, carriage. 
<3) = test. 

2- Translate into Greek :— 

(1) If the king is killed, who will rule our city ? 
(2) Let us set free this slave, for he saved his master. 
(3) We never were afraid that the enemy would seize 

our ships. 
(4) Did you know that Troy was besieged for ten years ? 
(5) I have left at home all the books which you gave me. 
(6) We ought to praise those who have treated us well. 
(7) Those sailors escaped from the camp without being 

observed by the guards. 
(8) There are so many dogs in his house that I never 

go there. (26) 
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3. [a) Give the aorist infinitive active of yiyvcocrxco, [xavOavw, 

^euyGi, TiQruM, yeXco, sXocuvco, (^aivco, aTcoXAufxi,. 

(b) Give the genitive singular, and the dative plural, of 

O'JC, xuwv, opvi,i;, '/}p(£Q, IXCTTO. (12) 

GREEK 
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Translate into English :— 

1. Murder. 

’Ettsl S’ ’AXs^avSpot; raxpsAocPs tt)v dpy/]v, yc/ikzTzhc, fisv 
©sttocaolp tgcjoc; eysvETO, ypiXeTzbq §£ 07)(3atoi^ xal ’AG/jvaioti 
7ro>.£[i.LO(;, aSixoq 8e XyjGrvjq xal xavd y7]v xal xavd OaXarrav. 
toioutoc; S’ cov xal auvop dTroGv/jaxsi, aoro^sipla [xev utto tcov 
T7)<; yuvaixop dSsAdGv, ^ooX^ Se ux’ auT% ixsiv/jq. toic, rs 
yap dSEXc|)ol<; l^yystAEV coq o ’AXeEavSpo^ Itu[3ouX£Uoi a’JTOLC, 
xal Expo^sv aoToo^ evSov ovvxq oXyjv ttjv yuspav, xal Ss^afrev-/) 
[isQuovTa tov ’AXlEavSpov etceI xaT£xol[Ttc7£v, to <qi(poq auxou 
|^7]V£yx£V. uq S’ ^gQeto oxvouvTac sloisvca etu tov ’AXscavSpov 
tou^ dSsX^o’Jc, eItcev co<; el (A"/] 7)Sy irpa^oisv, sEsyeps!. aurov. 
coq S’ EioTjAGov, ETUGTrdaaaa tt]v Gupav ei/exo too poitTpou , 
ecoq aTTsGavsv 6 dv/jp. -/) Se syGpa AsysTai aoTT] irpo? tov 
dvSpa ysvscGa!,, cop etteI eStjcte vsavldv Tivd 6 AXeEavSpoG 
SetjGeIgtjp auTyjp Xuaai, spayaycov auTov aTrsacjia^Ev' ra ta

sv 

ouv a’lTia T’^c etcl^ooXy)p utco tt)p yuvaixop outco XeysTac 
!I) pOTCTpov = door knocker. (40) 
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2. A proposal has been made that, for his services to 
Athens, Demosthenes should receive a golden crown. The 
speaker argues that great benefactors of the state had hitherto 
received no personal rewards. 

HoTSpOV Ufilv dllcLVGJV dvYjO sIvOX SoX£I ©qXLGTQX AV^, 6 

(jxpj.Tri'f'rprj.c, ot’ sv tt] 7T£pi £aXapuva vaopia^La TOV nipoTjv 

lvtx«T£, rj A'/][JLOCT0£vrjP, o Tap Ta^£i,i; Xotcov ; MlXTldSyjp Se, 

o ttjv ev MapaOwvt, [xdx7lv 'ro^ Pap^dcpoyc vix'rjaccc;, •/] outo<; ; 

lit S’ oE diro OoX% (j)£uyovTa tov xocTayayovTEp; 

’AptCTTClSyjp S’, 6 AlKOCLOC £7UXaXoU(X£VOp, 6 T7]V dvopioiov BXOdV 

£7i6)VU[XiaV A“/][XOa0£V£L ; ETuSeL^OCTCO A7][XO(70£V7)<; £V TCp aUTOU 

Xoyco si now yEyparcxod nva toutoiv tcov dvSpcov crrEcpavcocrat,. 

P/ipioroc dp’ Yjv o S^xo?; oux, dXXd (XEyaXo^poov, xdxswoi 

Y£ [TV] OUTOO TETip/qplEVOl T^C, TTOXECOp d^LOl. 00 ydp 0)0VTO 
Ssw Iv TOip ypapipiaar Ti[xaa0a!,, dXX’ ev fxVTjptv) roiv eu 

TCTUOV06tO)V, V] dx’ EXEIVOU TOO XP^VOO [XEypi TVjoSE TTjP X[X£pap 

aOdvarop ooaa SiapiEVEi. ScopEap Se Tivap IXd[x(3avov d.Eiov saxt, 

pvjaQ^voa. 7](rdv tivep xaxd too<; tote xaipoop, ot TtoXXoop xal 

l-lEydXoUp XlvSlJVOOp OTCO[X£lVaVT£p E7U TCp STpOfXOVl, TUOTaptfp 
£vixwv [Tayopievoi M"/]Soop. ootol Ssopo dtpixopiEvoi tov Sv][i,ov 

v]~v](jav Swpsdv, xal ISoixev aoxolp 6 S^xop Ti[xdp [xsydXac, dip 

"°t eSoxei, Tpsip Xi0lvoop 'Epjxdp CTTyjaai ev tv) ciTod tv] tcov 

Ep[xcov, scp’ fj te [XT] ETaypdcpELV xd dvojxaxa xd saoxcov, 'ivy. 

[TV] xcov axpaTvjycov dXXd too Sr;[xoo Soxy sivax to Exlypajxfxa. 

(45) 
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3. Either [a) or (b). 

(a) Zeus has sent Iris to bid Priam go to the Greek camp 
and offer ransom for Hector’s body. Hecuba urges him not to 
go, for Achilles will have no pity or respect for him. 

'H [Tsv ap’ oic eitcouct’ aiTEpT] TioSap coxeoe Mpip' 

auTop(1) S’ Ip OaXaptov x^cTe^TjasTO xTjcosvTa, 

Ip S’ aXoyov 'Exafirp; IxaXlacraTO cpoivyjalv te' 

" SaifXOVLT), Ai,60£v [loi ’OXupiTtiop ayysXop tjXQe 

XuaaaQca cpiXov uEov iovt’ Itci v?jap ’Ayaiwv, 

Swpa S’ ’AyiXXyji, cpsplpisv, Ta xe 6upiov lfy"fj. 

aXX’ ays piot toSe e’lxe, tl toi cppsclv s’iSstou sivat; 

a’wwp yap p,’ auTOv ys pivop xal 0upiop avoiys 

xslcr’ ilvai, Ittl vvjap saw dTpaxov sopuv ’Ayaiwv.” 

wp cpavo, xcoxuctev SI yovT) xai apiEi[3ETO [jiu0cp' 

" oi [J.OL, Try S'J] toe. cpplvsp cxyov0’, f)p to irapop rcsp 

£xXe’'2> lx’ dvOpooxoop ^elvoup 7]S’ oLcjiv dvdca'ELp; 

xwp lOIXsip Ixi vvjap ’Ayaiwv IXOeuev oiop, 

dvSpop Ip 6cp0aX(j.oop op toe, xoXlap te xal la0Xoup 

oilap l^svapi^E' CTiSypEiov vu tol rjrop. 

e’i yap a’ aip7]cr£i xai laOEjisTai 6(p0aXp.oiaiv, 

copi7jaT7]p xai dxiaTop dv7)p o ys, oo o’ IXetjoei, 

ouSe ti o’ aiSloETai. vuv SI xXaioipisv ocveuOev 

7)[X£V0l Iv piEydpO).” 

(1) auTOp i.e. Priam. 
_) exXe’ = exXeo, were famous. 

Scan the first two lines, marking the principal caesura 
in each. (40) 
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(b) Teiresias the prophet tells Creon that the only way of 
saving the state is by the sacrifice of Menoiceus, his son. 

Kp. (Dpdcaov TTOALTai^ xal ttoAel aoiTrjpiav. 

Ts. PouXsi, cu pisvTOi y.ouyi [3ouX7]G£i, xa/a. 

Kp. xai tcco^ Tiaxpcpav yaiav oo aqxjoa BeXco; 

Ts. 0sX£i.p axoucroa SyjTa xai gtcouSt^v sysip; 

Kp. iq yap ti piaXAov Sei TupoSoptiav sysiv; 

Te. xXuoip av ySy toiv siigjv 0£GTuajj,dcTcov. 

-poixov S’ exeivo pooXoiAat. caywc p.a0£W, 

xou ’gtiv Mevoixeu^, oq pi£ Seup’ £Ti7]yay£V; 

Kp. oS’ ou ptaxpav oltzzgti, ttXtjgiov Se goo. 

Te. a7r£X0£TO) VUV 0£G(|)aTOjV £[J,<Sv Exa^. 

Kp. E[j.op TiEfpuxcb^ 7rai<; a Sei GiyTjGSTau 

Te. (SouXe!, TCapovxot; SyjTa goi toutou cppaGto; 

Kp. xXumv yap av TEpxoiTO Goixypiap. 

Te. aXOUE St] VOV 0EG<paT6)V EO.COV 6S6v' 

Gcpa^at, Mevoixsa tovSe SeI g’ oirsp Tuarpai;, 

gov xaiS’, ettelS'/] tt]v Tuy/jv auxop xaXEic;. 

Kp. xi cpr]q ; tlv’ EiTrai; tovSe (j.o0ov, oi yspov; 

Te. aicsp TtEcfiuxE, xauxa xavayxT] ge Spav. 

Scan the last two lines, marking the principal caesura 
m each. (40) 
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each question on a fresh page. Write legibly and 
neatly, and leave a space of half an inch between the 
unes. Marks will be deducted for writing that is 
difficult to read. 
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1. Translate into Greek :— 

Before the generals left the city the Athenians despatched 
a herald to Sparta. He ran so fast that he arrived there in 
a day and a night. Coming into the presence of the magi- 
strates he said, “ Lacedaemonians, the host of the Persians 
has captured Eretria, burned the temples, and enslaved the 
citizens. Now it has sailed for Attica ; they hope to treat 
the Athenians as they have treated the Eretrians. The 
Athenians are in extreme peril, for their army is small; they 
entreat you to assist them and not to allow the most ancient 
city of Greece to be destroyed by barbarians.” When 
they heard the message the magistrates considered what 
ought to be done. At last they resolved to send help to the 
Athenians, but not immediately. The Athenian generals 
were in doubt what to do until the Spartans should arrive. 
Some urged that they ought to engage the Persians as soon 
as possible ; others that their soldiers were too few to 
engage so large a force. (48) 

2. Translate into Greek :— 

(1) The money will be given him on condition that he 
never makes war on us or our allies. 

(2) Whenever your slaves are told to work harder, they 
laugh and immediately stop working. 

(3) Our general swore that he would attack the Persians 
till he had driven them from Greece. 

(4) You knew well that you had often tried to do us 
an injustice. 

(5) The prophet’s words were so strange that nobody 
could understand what he meant. (™) 

3. (a) Give the first person plural of the aorist indicative 
active, and the aorist infinitive passive, oi 

acpv/jpi, sysipco, acpaipoi, Saxvco, tsivoi, 7UfX7rp7)[iij 

STOUVW. 

(b) Give the genitive singular, and the nominative pluial 

of Xeoic, p„7]v, rdXexuq, uloq, ouq, 86pu, yap^- W 
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FRENCH 

Lower Grade 

Tuesday, 16th March—9.30 a.m. to 12 noon 

The value attached to each question is shown in brackets 
after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, and 
leave a space of half an inch between the lines. Marks 
will be deducted for writing that is difficult to read. 

1. Translate into English : — 

The little gipsy and the sheep. 

En sortant de 1’epicerie du village, le petit bohemien 
courut apres des moutons que leur berger ramenait a la 
ferme. II ne dit rien a ce berger, mais il suivit le troupeau 
et s’en occupa, de loin, comme un second berger. 

A la porte de la bergerie il fut serieusement utile. 
Les agneaux nouveau-nes, qui n’avaient pas vu leurs meres 
de la soiree, se precipitaient dehors. Il les aida a 
retrouver chacun la sienne. Il en separa deux qui couraient 
vers la meme mere ; il en rattrapa un autre qui, joyeux 
detre libre, bondissait imprudemment vers la mare. 

, Puis, pour sa recompense, le petit bohemien voulut 
penetrer dans la bergerie. Il se croyait chez lui. Mais le 
merger lui ferma au nez le bas de la porte divisee en deux 
parties. Le petit bohemien se pendit a la porte basse, et 
regarda. par-dessus. Mais bientot le berger, sa besogne 
terminee, ressortit, ferma cette fois la porte tout entiere, le 
uaut et le bas, et s’en alia du cote de la soupe, avec son 
c uen. Le petit bohemien, qui le suivait encore, le vit entrer 

ans la maison et s’asseoir pres des autres domestiques. 
resta seul au milieu de la cour. 

Personne ne faisait attention a lui, et la fermiere ne se 
erangea pas pour le chasser. 
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II renifla(1) fortement et revint a la bergerie coller son 
oreille a la porte. Les agneaux calmes se taisaient un 
a un. II s’assura que le verrou exterieur etait bien 
pousse, et par precaution il chercha une grosse pierre afin 
de caler(2! la porte. Cela fait, n’imaginant plus rien a faire, 
il se decida a quitter la ferme. (35) 

W renifier = to sniff, 
caler = to wedge. 

2. Translate into English : — 

My first day at a new school. 

Je me depouillai de mon manteau dans le couloir, 
comme les autres eleves, et j’entrai dans la classe. Le 
maitre, M. Joliclerc, venait de s’asseoir en chaire. 

La journee commenga par une legon de calcul. Nous 
devious etudier la division a un chiffre. Plusieurs de ces 
petites operations etaient ecrites au tableau. Les eleves, 
a tour de role, se levaient, croisaient les bras et interpretaient 
les chiffres de la fagon habituelle. “ En vingt-huit, combien 
de fois cinq? Cela signifie que si j’ai vingt-huit billes a 
partager . . .”. Chaque eleve devait, de lui-meme, changer 
Lexemple. Vint le tour de mon ami Desire Wasselin. Il 
croisa les bras, fronga les sourcils et commenga : “ En 
trente-sept, combien de fois sept ? ” Il parlait lentement, 
avec peine, sa grosse tete inclinee de cote. Il etait fort 
en retard dans ses etudes et le plus age de la classe. Il 
choisit pour exemple les cerises et ne se tira pas trop mal 
de sa chantante recitation. “ Cela signifie que mes 
camarades recevront chacun cinq cerises et qu’il ne m'en 
restera que deux.” Toute la classe dressa I’oreille. La 
phrase normale etait : “ Il m’en restera deux.” Il y ei)t 
un silence et Desire poursuivit d’une voix funebre : “ Mais 
ga m’est bien egal.” 

M. Joliclerc leva les bras au ciel. Il renversa la tete en 
arriere avec un air d'embarras comique et dit : “ Toujours 
martyr, alors, mon pauvre Wasselin ? Aliens, rassieds- 
toi ! Tu auras quand meme une bonne note.” Et Desire 
se rassit, Lair sombre. 

C etait maintenant le tour de Gabourin. Il pdt les 
fraises pour exemple et lorsqu’il -eut termine M. Joliclerc 
s’ecria : “ Des fraises, oui ! Il t’en reste cinq. Les- 
quelles prends-tu ? ” Gabourin repondit : “ Les grosses. 
M. Joliclerc se mit a rire. 
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3. Translate into French : — 
Edinburgh, 

1st September, 1947. 
Dear Robert, 

I want to tell you what we did during the holidays. 
On the 14th of July we went to the seaside. The weather 
was very warm, and we bathed twice a day. At the 
beginning of August we returned home, and two French 
boys came to spend a few days with us. We played 
together and went for walks, and many of our friends 
invited the boys to visit them. We all enjoyed ourselves 
very much. Next year we hope to go to France and to 
see our French friends again. 

Write to me soon and tell me what you have been doing. 

Yours sincerely, 

Tom. (20) 

4. Translate into French : — 

(1) Mary has very white teeth ; have you noticed them ? 

(2) Do you not prefer this game to the one we played 
last week ? 

(3) I wonder why he has not answered my last letter. 

(4) When my sister was born I was four years old ; 
now she is bigger than I. 

(5) We are always told to be good when we are young. 

(10) 

FRENCH 

Higher Grade—(First Paper) 

Tuesday, 16th March—9.30 a.m. to 11.30 a.m. 

The value attached to each question is shown in brackets 

after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
Question on a fresh page. Write legibly and neatly, and 
leave a space of half an inch between the lines. Marks 
will be deducted for writing that is difficult to read. 
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Translate carefully, with due attention to English form 
and expression. 

1. Promenade matinale apres la pluie. 

Nous longeames la haie, et, prenant a gauche, nous 
enframes dans le bois. Nous 1’aimions tant, notre cher 
bois ! II etait silencieux a cette heure. La mousse, 
gonflee par 1'eau, cedait sous le pied comme une eponge 
qu’on presse, et a chaque feuille des branches trop pesantes 
se balangait une goutte transparente toute prete a tomber. 

Rien au monde n’est joli comme la foret humide, a 
cette heure du jour surtout ou tout se tait, oil le vent est 
calme, ou les oiseaux eux-memes commencent a s’endormir 
et songent a se secher. J'aimais cela, parce qu’il y a un 
charme a se sentir bien seul et a marcher sous les grandes 
voutes vertes, a respirer Fodeur penetrante du bois humide, 
a frapper de sa canne sur les gros troncs de chene qui 
rendent un bruit sonore et long, que tous les autres troncs 
repetent a la file ; a s ’ arreter tout court au cri d’une 
branchette qui se brise, au murmure de gouttes d’eau 
qui de temps en temps chuchotent en tombant de feuille 
en feuille, a respirer a pleins poumons Fair pur qu’a lave 
la pluie. 

Nous cheminions sous des bouleaux, lorsqu’un petit 
vent bien doux passa au-dessus de nos tetes en caressant 
le sommet des arbres qui, aussitot, se mirent a bruire et, 
se secouant comme un oiseau mouille, laisserent tomber 
sur nous un deluge de beaux diamants humides. (30) 

2. Les chevaux de labour. 

Tout en sueur, voici les betes de labour 
Qui reviennent, trainant la herse et la charrue ; 
Et leurs pas reguliers resonnent dans la rue 
Comme ceux des Soldats qu’anime le tambour. 

Voyez-les s'avancer, les serviteurs des hommes, 
Eux qui se reservaient le plus dur du travail: 
Percherons(1) accouples, par le large portail 
Ils rentrent au logis des fermiers economes. 
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Le robuste gargon qui s’assied sur leur dos, 
Les cinglant de son fouet, souvent les importune, 
Quoiqu’ils aient tout le jour creuse la terre brune, 
Et bien gagne le foin, I’avoine et le repos. 

Ils ont de bons regards, a defaut de paroles, 
Pour saluer de loin le gros chien aboyeur. 
Les tout petits enfants les touchent sans frayeur ; 
Et le couchant vermeil leur fait des aureoles.(2) 

(25) 
M Le percheron = draught horse (bred in Perche). 

<2> Une aureole = a halo. 

3. De I’utilite de la lecture. 

La lecture n’est pas la science universelle, ce n’est pas 
non plus la sagesse universelle ; mais un homme qui a 
pris I’habitude de lire peut toujours consulter sur chaque 
question donnee une experience plus grande que la sienne, 
et une experience desinteressee. 

Voila Lavantage de la lecture. Savez-vous, en effet, 
ce que sont les populations qui n’ont pas de livres, par 
exemple les populations indiennes de LAmerique ? Les 
Indians n’ont pas de passe, ils n’ont que les souvenirs 
vagues. conserves par leurs vieillards. Aussi chez eux 
1 experience ne fonde-t-elle jamais rien. Si Fun d’eux 
invente une arme plus parfaite que celle dont ils se servent 
nabituellement, quand elle est detruite il n’en reste plus 
ffleme le souvenir. La civilisation n’a pas prise sur(1) 

des gens qui ne peuvent s’appuyer sur le passe ; ils sont 
comme des hommes sans memoire, et c’est pour cela qu’ils 
restent sauvages. C’est notre grand avantage a nous que 
o avoir un passe; nous vivons, nous pensons avec 
exPerience de trois ou quatre mille ans accumules, et 

cda grace aux livres. Au contraire, ces populations-la 
vivent au jour le jour. 

Le livre est done 1’experience du passe. C’est mieux 
encoreun livre est quelque chose de vivant, c’est une 
ante qui revit en quelque sorte, et qui nous repond chaque 
015 que nous voulons 1’interroger. (85) 

(1> avoir prise sur = to have a hold on. 
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FRENCH 

Higher Grade—(Second Paper) 

Tuesday, 16th March—1.45 p.m. to 3.45 p.m. 

The value attached to each question is shown in brackets 
after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, 
and leave a space of half an inch between the lines. 
Marks will be deducted for writing that is difficult to 
read. 

1. Translate into French :— 

I spent the next hour in showing the photographs to 
Miss Spenser and in talking to her about the countries I 
had visited. She listened to me with rapt(1) attention. 

' “ Have you been very long in foreign lands ? ” she asked 
at last, after I had ceased talking. 

“ Many years,” I said. 
“ And have you travelled everywhere ? ” 
“ I have travelled a great deal. I am very fond of it; 

and, happily, I have been able to do so.” 
“ And can you speak the foreign languages ? ” 
“ Enough to make myself understood.” 
" Is it hard to speak them ? ” 

“ I don’t believe you would find it hard,” I gallantly 
responded. 

She looked at two or three photographs in silence. 
“ What a pity it’s so dear,” she said at length, “ to go to 
Europe and to travel. I have very little money. I have 

laid something by(2) and I am always adding to it. But 
I have waited so long and I haven’t enough yet. There 
is a lady who is a great friend of mine ; I see her every 
week, and I always talk to her about it. But she doesnt 
want to go, and she told me once she didn’t know what 
would become of me. I should go crazy{3) if I did not go 
to Europe, and I should certainly go crazy if I did.” 

“ Well,” I said, “ you have not gone yet, and 
nevertheless you are not crazy.” 

(1> rapt = profond. 
(2) to lay by = mettre de cote. 
<3> to go crazy = devenir fou. 
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2, Translate into French :— 

(1) If you were asked which was the most interesting 
book you had ever read, what would you reply ? 

(2) I shall take my friends to see the new Zoo as soon 
as I am free. 

(3) Last summer we suffered a great deal before we 
became accustomed to the heat. 

(4) At what time is Mr. Brown to arrive ? Someone 
should go to meet him at the station. 

(5) I need a new suit. Come with me to the tailor’s 
and help me to choose one. (15) 

3. Write, in French, a continuous story, based on the 
following summary. The story should be about the same 
length as your answer to question 1. Failure to comply with 
this instruction may lead to a loss of marks. 

Vous passez les vacances chez un ami au bord de la 
mer—un jour vous allez tous les deux explorer une caverne 
—un bruit etrange—vous en cherchez la cause—un passage 
souterrain—des contrebandiers {smugglers)—que faire ?—- 
avertir la police ?—trop tard—un des contrebandiers vous 
a vus— 

{Complete the story in your own way). (25) 

FRENCH 

Higher Grade—(Second Paper) 

Tuesday, 16th March—1.0 p.m. to 1.30 p.m. 

This paper must not he seen hy any candidate. 

To he read out hy the Teacher at 1.0 p.m. in the presence 

of the Supervising Officer. 

to be written by the candidates on the separate sheets 

provided, which must be collected before the Second 
French Paper is distributed. 

(84160) C 
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DIRECTIONS FOR TEACHER 

1. Inform the candidates that they may not ask for the repeti- 
tion of any word or phrase. 

2. Read the passage aloud, distinctly and deliberately, but not 
slowly, in order to bring out the meaning of the whole as 
clearly as possible. Observe the liaisons as marked. 

3. Then dictate the passage slowly, saying each group of words 
(as indicated by vertical lines) twice, and pronouncing 
every word very distinctly. The punctuation should be 
indicated thus :■—(,) ‘ virgule,’ (.) ‘ un point,’ (:) ‘ deux- 
points,’ (;) ‘ point virgule.’ 

4. After an interval of five minutes read the text over again in 
the same manner as on the first occasion, but do not on 
any account repeat separate words or phrases at the 
request of individual candidates. 

DICTATION 

Une auberge anglaise. 

Rien ne ressemble moins^au cabaret francais | que 
1’auberge anglaise. | Imaginez^une maison propre | et 
bien tenne, | aux murs peints de couleurs vives, | ou 
blanchis'~a la chaux, | dont la porte est couverte | de 
lierre et de rosiers | qui fleurissent'^au printemps. | Elle 
se trouve sur la grande route, | a 1’endroit | ou jadis 
s’arretaient les diligences | pour changer de chevaux [ ou 
prendre des voyageurs. | Aujourd’hui, | Fautomobile a 
remplace 1’ancienne voiture, | mais, | comme au temps 
passe, j 1’aubergiste attend les clients | sur le seuil de sa 
porte: | c’est un personnage considerable | et connu de tout 
le village, | ou son'~"autorite est grande. | Entrons avec 
lui dans la salle commune ; | un grand feu brule dans 
1’atre, | les chaises et les tables sonf^aussi bien polies 
que les pots de cuivre | qui ornent la cheminee. 
Dans^un coin, | une demi-douzaine de paysans 
causent tranquillement des^affaires du village, | toub^en 
buvant leur biere ] et en fumant leur pipe. | Tout^est 
tranquille et presque familial, ] et si quelque ivrogne, | 
parfois, ] vient troubler la paix generale, | d est 

vite expulse par le proprietaire | ou par ses com- 
pagnons^indignes. j 
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GERMAN 

Lower Grade 

Thursday, 18th March-—9.30 a.m. to 12 noon. 

The value attached to each question is shown in brackets 
after the question. 

N.B.—(1) Begin the answer (or fair copy of an answer) to 
each question on a fresh page. Write legibly and neatly, 

• and leave a space of half an inch between the lines, 
Marks will be deducted for writing that is difficult to 
read. 

(2) German script must be used in the answer to 

question 4 ; in question 3 the use of it is optional. 

1. Translate carefully, with due attention to English form 
and expression :— 

“ Faithful ”—friend of my childhood. 

©oioeit id) mid) in meine I'inbfjeit guruderimtern lann, 
tear Lteu, unfet grower, )d)5rter, menu and) nid)t raffem 
xtmx 23oIf§l)unb, ein ^untt, um ben fid) bie meiften meiner 

^ebanfen beiuegten. ^iir mid) mar er, ber feinen Stamen 
mii bollem 9ted)t trug, etma§ mie ein ^nbegriff bon SLreue, 
atl ^eten T8af)rt)eit nid)t gejmeifelt merben tonnte. 28ar eg 
nun tm llnterbemu^tfein'1' fdjlummernbe SSorftellung bon 
Steue, bie in mir beim Slnblid beg £nmbeg aufftieg, ober 
fonft irgenb ein ©runb, ber mid) beranla^te, aheg, mag e^bar 
tbcir, ruit Streu ju teilen ? fbe^B uid)t. Sluf alle 
Sdlle mar Siren faft immer babei, menn Sederbiffen(2) bor= 

|)cmben maren, unb martete gebulbig, big id) if)m feinen Sleil 

!n fc™6 feudjte, marme ©djnauje ftedte. SBar eg ©emitfe 
dber 91rt, Obft, ©djotolabe, ober mag eg and) immer fein 
m°d)te, Sren frafj aheg, menn id) eg if)m gab. §atte Siren 
dtnag bon mir erf)alten, fo jogerte er nid)t, mir feme ®anf= 

, tttfeit ju geigen. ©r mebelte mit bem ©djmanj, an bem 
lc9_ in finblidjem llbermut fo mandjeg SJial gegerrt, ol)ne 

aB er and) nur baran gebadft f)atte, biefe SEi^fjanblung 

|)unbeftoIjeg mit einem Stnurren ober mit bem 
betfd)en ber 3df)ne ju beftrafen. 28al)renb er mebelte, 

(84160) 
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jcijaute mid) £teu mit fetnen bunffen, bertrauenSboIIen 
2tugen fo an, alb tnoUte er mir baburd) fetne (Stgebertfjeit 
fidjtbar gum Slusbxud bringen. Sren unb id) inaren bis an 
fein ©nbe gliidlid), luie man nut gliidUd) fein lann, unb 
md^renb unfereg 3ui6mmeilie^n^ erlebten mir maud) bunted 
Slbentener. 

(1) bag ttnterbemufstfein : the subconsciousness. 
(2) ber Sederbiffen: the titbit. (35) 

2. Translate carefully, with due attention to English form 
and expression — 

An unexpected visitor. 

@g mar in ber erften §dlfte beg Sfnguft. ©djmitl inaren 

bie Sage, aber befto fd)6ner maren bie 3cad)te mit iljrer 
erqnidenben f ufjle. Srau^en im Sgafbmaffer, mo borbem 
bie ^rig bluf)ten, fpiegelten fid) ielgt bie fdjonften Sterne; 
im 9iorboften beg ndd)tlid)en .‘oimmetg ergof) bie 9JtiId)ftraBe 
ifjre breiten, Ieud)tenben ©trome. 

9tid)arb fjatte mafjrenb einiger Sage ben ndd)ffeu tlmfrei» 

beg ^orftfjaufeg nid)t berlaffen: ein .forperleiben au§ ben 
^afjren feineg ipeeregbienfteg mar mieber aufgetaudjt unb 
batte fid) mie eine (dt)menbe §anb auf ifjn gelegt. Sett faf; 
er, bie linbe 9tad)t ermartenb, anf einer ^olgbanf, wW 
nor ber iDtauer angebrad)t mar; an feiner ©eite lag fetn 
lomengelber §unb. Sag Sal entlang begann ein tut)fer 
§aud) gu mefjen: er f)atte mof)l nid)t bort in ber Slbenbluft 
fitien follen. 

Sa fd)Ing ber |mnb an unb ridjtete fid) auf. ©egeuuber 
aug ben Sannen lieffen fid) ©djritte bernefjmen, unb balb 
erfd)ien bie fdjlanfe ©eftalt eineg SSKanneg, auf bem 
fjinfdjreitenb. „ 9tuf)ig, Seo ! " fagte 3Hd)arb, unb ber §unb 
legte fid) gefjorfam mieber an feine ©eite. 

Ser grembe mar unterbeffen ndf)er gefommen, unb iRi^w'b 
erfannte einen jungen SJcann in f)erfbmmlid)er(1) $dgertracf)t, 
mit bunflem, fraufem §aar unb feden @efid)tggugen; W 
meiBe 3at)ne blinften unter feinem ffoi^en ©dfnurrbdrtcfjen, 
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a(§ er, jefet Ieid)t bie 9[Ru|e riicfenb, „ ©uten Stbenb " bot. 
SKdjarb ertDtberte l)5flic£) ben ©rufj unb toortete rufjig bie 

(Mlatung biefe§ interniorteten 93efud)S ab. 
(1) beriommltd): traditional. 

(35) 

3. Translate into German :— 

(1) What time is it ? Unfortunately I have no watch, 
but I think it is about half-past one. 

(2) Peter has invited me to tea at his house tomorrow, 
for it is his birthday. 

(3) If you had put on a warmer coat last night, you 
would not have caught cold. 

(4) Would you please tell me the way to the railway 
station ? Yes, take the first street on the right. 

(5) Since you are so fond of fruit, you should ask the 
gardener to give you some pears. 

(15) 

4. Translate into German 

Freiburg, 
21st July, 1947. 

Dear Charles, 

The weather has been so fine that we have spent nearly 
all the time in the open air. Today, however, it is raining, 
and I am sending postcards to all my friends. The 
picture on the other side of this card shows the lake which 
:|'e visited yesterday. We went there by bus and had a 
bathe before lunch. I hope you are enjoying yourself 
at the seaside. 

Yours sincerely, 

John. 

(15) 

(84160) C 3 
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GERMAN 

Higher Grade—(First Paper) 

Thursday, 18th March—9.30 A.M. to 11.30 a.m. 

The value attached to each question is shown in brackets 
after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, 
and leave a space of half an inch between the lines. 
Marks will be deducted for writing that is difficult to 
read. 

Translate carefully, with due attention to English form 
and expression : — 

1. Rain interrupts a walking tour. 

iSie SBcmbeter fd)htgen tm S'tebel bte jaf)e imb fjartnadig 
fteigenbe SllpenftraBe etn. ®te ©trafse tuanb fid) f)m unb t)er, 

bem ©eldnbe nur gextnge ©teigungen abliftenb. iSte fteilen 
SStefen toaten non ben Shitfcpfaben be§ SBeibeotef)§ gemtfelt. 
Q'mmer luieber gab e§ Sriicten fiber fjodjft etltge toeifo Staffer; 
tief nnten in ber ©d)htd)t braufte ber Oifjein. 

$e f)of)er man ftieg, nm fo mefjr ging baS Ocebelroetter 
in fHegen fiber. SSebedter .£)imrnel in ben nntern Sanbfdjaften 
bebentet S'febelmetter in ben f)5f)eren, in ben f)bd)ften 9fegen. 
Qe|t regnete e§ regelredjt, unb balb fonrbe biefer SSerg, balb 
jener nom 9tegengrau fjinnieggenommen: man ioanberte we 
auf einer geneigten oernebelten Gbene f)inanf! 

iSer 9fegen fjatte fid) allmaf)fid) berftdrft, im gleidfen SOcajfe 
tnie ber SSeg ftieg. @r Inifterte im @ra§, pfdtfdferte auf bent 
ihudjenfaube unb flof>fte anf ben gro^en Unfrautbldttern. 
®ie ftarfen ©d)uf)e ber 2fu§fd)reitenben HabiMen gfeidjntdBig 
auf ber ©tra^e. ®a eg nid)t mef)r ju itberfefjen tnar, baB bei- 

Sfegen nod) lange banern mfirbe, ergab man fid) unb fefjrte ein. 
S3on alien ©eiten ber i8erg= unb $allanbfd)aft traten naffe 
28anberer in bie Ijoljgetdfelte SBirtgftube unb fd)idten fid) tnit 
(Sebulb in bie Sage. Sllle ntuBten ju erjdljlen, h)te fd)on 
1)eute in ber fyrfilje beim iOcorgenrot getoefen mar, unb eg gab 
einen frof)lid)en Slugtaufd) non guten 9fdten. 
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The Happy Isle. 

Sine $nfel ber ^nfeln tcf), 
auf gelien gegtiinbet tm SKeer, 

@ie l)at feme fuften CueHen 
unb iff bon 9Jienfd)en leer. 

3u tf)r f)at mid) einft gerettet 

auf fdjtuanfeuber Sarfe bie S’ludjt, 
fdjlagen bie SSogen rolieub 

in eine bersaubexte S3ud)t. 

9Bie p ©eginn ber 3e^en/ 
fo iff e§ nod) f)eute bori, 

®ie Staffer in raufd)enber SSranbung . 
ertonen immerfort. 

fdjinimmen bie raeibenben diinber, 

p trinfen am anberen ©tranb, 
95eim bunfelnben 2fbenb fjinuber 

nnb fteigen fd)naubenb(I) an Sanb. 

fein ®ad), bas birgt ben ©d)Idfer, 
fein ®eid), ber bie SBoge bdmmt, 

iSaS §o3 jerbrod)ener ©d)iffe 
fommt mit ber glut gefdpemmt, 

SDiit if)m ioirb ba§ fyeuer entpnbet, 
ber gifd) geroftet am ©tein, 

®u i|t bie gebotene ©peije 
nnb trinfft ben geretteten 3®ein. 

®u ftefjft auf ben flifpen unb Sliffen, 
bon fjeiffcr ©onne-begliif)t, 

%u mirft ft>ie ber erfte ©d)iffer 
oom falgigen Laffer umfprui)t, 

‘Su toirfft bid) fjinab in bie SSeKen 
unb rufjrft bie rnbernbe §anb, 

fdjtoimmft toie ber erfte ©dpimmer 
t)inuber pm feften Sanb. 

(25) 

(1) fdjnanben t to snort. 
C 4 



72 

3. 

SENIOR LEAVING CERTIFICATE 

The old Teutons. 

Itm bte Beit, in roelcijer Sllejonber ber ©rofje ^nbten fitr 
bte grie(f)ifd)e SBiffenfc^aft auffdjloff, fegelte ein grted)ifc^er 
©elefjrter burd) bte Strajte bon ©ibraftor unb entbedte an ber 
SUiunbung be§ 9ti)eine» bte Seutonen. 

®iefelben Stentonen nmrben §u ©nbe be§ jtoeiten ga'^r^ 
i}itnberts oor ©£)ttftt ©eburt ben 9ibmeru furdjtbar. ®er 
gro^e ©afar ijat tnit if)nett geidmftft, fie befiegt unb bod) in 
intent Sanbe nid)tg au§gerid)tet. @r enttoarf eine ©d)ilberung 
ber bbrbarifdjen ©egner, ioorin er aber itber if)r geiftige? 
Seben nnr unOodfommen §u berid)ten ionite. 

SBeiterer SSeriefjr, frieblidjer unb friegerifdjer, mad)ten bte 
©erntanen ben 9iomern balb genauer belannt, unb enblic^ 

faffte ber ®efd)id)tfd)reiber StacitnS ades, toa§ man bon if)nen 
trmffte, in feiner bernijmten „ ©ermania " gnfammen. Tacitus 
berfitgt aitgenfdSrdid) tiber einen reicfjen ©toff, ber aus 
unmittelbarer 58eobad)tung gefd)5pft ift. ®a§ Seben ber 
©erntanen ift itjut nad) alien ©eiten t)in befannt; er enttbirft 
bie ©runbguge itjrer Serfaffung, it)rer ^Religion unb itjrer ©itte. 
©r berfdjineigt nid)t itjre ^e^Ier: it)re Srdgtjeit, mo e§ nid)t 
f antpf gilt, it)re ttnluft jur SIrbeit, ifjre maBIofe Srunf^, ©ftieb, 
unb ©treitfud)t. fttrj, er liefert ein int gro^ett nub ganjett 
unjmeifelt trene§ Silb, morin fid) fc^one nnb mibrige Buge 
mifd)en, nnb er ubergibt ber Dcadjmelt eine i’tberaus mertbolle 
^unbe, mertbo'd inSbefonbere fur un§, bie mir bon biefen 
SSoIfern abftammen. (30) 

• GERMAN 

Higher Grade—(Second Paper) 
Thursday, 18th March'—1.45 p.m. to 3.45 p.m. 

The value attached to each question is shown in brackets 
after the question. 

N.B.—Begin the answer (or fair copy o£ an answer) to each 
question on a fresh page. Write legibly and neatly, and 
leave a space of half an inch between the lines. Marks 
will be deducted for writing that is difficult to read. 
German script must be used in the answer to Question 1; 
in the other questions the use of it is optional. 
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1. Translate into German 

“ I think we should have something to eat now,” said 
grandfather, " but first you must have a stool(1) to sit on.” 
Thereupon the old man went outside to the shed; the 
child followed him. He cut three long round sticks and 
a little round board. In this he bored three holes into 
which he thrust the sticks, and there, as if by magic, was 
a stool, just like his own, but higher. Mary looked at it, 
speechless with admiration. 

" Now 'we are ready,” said grandfather, and they went 
back together into the house. The old man then took a 
large piece of cheese and held it on an iron fork over the 
fire, turning it round until it was a beautiful golden yellow 
colour on each side. Then he filled a bowl with milk and 
placed it, along with the cheese and a slice of bread, on 
the table in front of the child, who was already sitting 
proudly on her new stool. “ Eat, my child,” said the old 
man, “ you must be very hungry.” And so she was, for 
she had eaten nothing since she had started on her journey 
in the early morning. Therefore, without saying a word, 
Mary lifted the bowl in both hands and emptied it at a 
draught. Then she took a deep breath and laid down the 
bowl. 

" Was it nice ? ” asked grandfather. 
" I never tasted such lovely milk before,” answered 

the child, smiling. 

" Then you shall have some more,” said the old man, 
and he once more filled the bowl to the brim and handed 
h to the child. (50) 

(1) the stool : use here her (Stuf)L 

2. Translate into German :— 

(1) 1 am sorry that I cannot accept your kind invitation. 
I have been unwell for some time, and I have 
been advised to stay at home. 

(2) At what hotel will you put up when you go to 
Munich ? I have not decided yet. Can you 
recommend one ? 

(3) But for the excellent map which their friends had 
lent them, the travellers could never have found 
their way over the hills. 
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(4) In these difficult times we have all become 
accustomed to doing without many things which 
we would like to have. 

(5) On seeing the accident, he immediately telephoned 
the police and sent for a doctor, who arrived 
with all haste in his car. (15) 

3. Write in German a continuous story based on the 
following summary, completing it in your own way. 
The story should be about the same length as your 
answer to question 1. Failure to comply with this 
instruction may lead to a loss of marks :— 

hunger ©nglanber cup bet Shepe in iSeutidponb—faf)it 
eines Slbertbs im f afpte auf bem 941)ein—ndfjert jicf) bent 

Soreleifelfen—port ploplicf) fcpone 904dbipenftimme pngen— 
ben'ft an bas @ebicf)t „ bie Forelei “—erpprocfen lapt er bie 
9tuber ins SSafter fallen—Stapn n>irb non ber ©tromung 

pintneggeriffen—©cplup. (25) 

GERMAN 

Higher Grade—(Second Paper) 

Thursday, 18th March-—1.0 p.m. to 1.30 p.m. 

This paper must not be seen by any candidate. 

To be read out by the Teacher at 1.0 p.m. in the presence 
of the Supervising Officer. 

To be written by the candidates on the separate sheets 
provided, which must be collected before the Second German 
Paper is distributed. 
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DIRECTIONS FOR TEACHER 
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1. Inform the candidates—■ 
[а) That they may use either English or German script, 

as they prefer ; and 
(б) That they may not ask for the repetition of any 

word or phrase. 

2. Read the passage aloud, distinctly and deliberately, but not 
slowly, in order to bring out the meaning of the whole as 
dearly as possible. 

3. Then dictate the passage slowly, saying each group of 
words (as indicated by vertical lines) twice, and 
pronouncing every word very distinctly. The 
punctuation should be indicated thus—(,) ‘ $omma 
(.) ‘ ^Uttft 

4. After an interval of five minutes read the text over again 
in the same manner as on the first occasion, but do not 
on any account repeat separate words or phrases at the 
request of individual candidates. 

Dictation 

The River. 

Smmerfort fliefit ber 941)etn | an ber aufgemauerten | unb 
fcon ©feugeran! ubetft)ucf)erten ©tfjlo^terraffe Ijin. | unb 

kort faielen, | Dor aufragenben jtlbetgrauen $fnf)Ien, | Heine 
1ic£) raftIo§ erneuetnbe SBellHjen | unb bafjinter | lurje 

SSajjerfurdjen. | 9ln bent fteinernen 9ianb | gleitet er ein 
^entg jaumtger | als bte fdjneller, | gefc£)Ioffener §ief)enbe 

b^uBmitte, | nnb ab unb gu | freifelt er in Heinen SBirbeln, | 
ailI ^enen at(e SSIdtter, | ^oljftittie ober @d)aumfIocfen | fid) 
einmal toie im Xan§e brefjen miiffen, | elje fie it)ten 28eg j 

fiuBabindrts fortfeijen fonnen. | ®tubeu am anbern fladjen 
Ufet | ftreift ba§ SBaffer | burcf) Ijelleg, tne^enbe§ @(f)ilf, | 

“urc^ bunlle, gebogene 93iufenfpeere, | unb fte'£)t im braunen 
tobrannten Mebgras | am 3BiefenfDfab, | ber ineit bon 
•Ae6enf)ugeln, | ’Sorfern | unb einer mancf)mal aufftdubenben 
banbftraffe | an bag ©djilfufer fjeruberfommt. (20) 
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GAELIC 

Lower Grade 

Tuesday, 23rd March—9.30 a.m. to 12 noon 

1'he value attached to each question is shown in brackets 
after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, 
and leave a space of half an inch between the lines. 
Marks will be deducted for writing that is difficult to 
read. 

1. Translate into English, paying careful attention to 
idiom — 

Aig gach am de’n bhliadhna tha obair a’chiobair a’dol 
air a h-aghaidh. Tha i mar an cuan mor—gun stad gun 
fhois. 

Anns a’gheamhradh feumaidh an ciobair a bhith a 
muigh ri fuachd is ri gaillinn, agus a bhith gu furachail an 
toir air an spreidh. Aig an am ud de’n bhliadhna is 
abhaist sneachdannan mora a bhith ag comhdach gach 
bealaich. 

Bithidh na caoraich mar sin ann an cunnart mor a 
bhith air an slugadh suas anns na cuitheachan sneachda, 
agus is iomadh latha fuar, reota a dh’fheumas an ciobair 
bochd a bhith a muigh air an lorg. 

Ach an uair a dh’fhalbhas an geamhradh agus a ting 
an t-earrach le frasan ciuine, agus am Mart le a ghaothan 
sgaiteach togaidh iad an sneachda bharr nan sliabh, agus 
cuiridh iad na sruthain bheaga ’n an deann-ruith gu traigh. 

Tha gach ni, mar sin, a’tabhairt hughair gu bheil 
a’ghrian choir air tilleadh bho a turus do’n Airde Deas; 
tha gach ni bed a’feitheamh air teachd an t-samhraidh, 
agus an sin is aoibhneach da rireadh beatha a’chiobair. 

Seirbhis a’Chruin. (25) 
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2. Translate into English, paying careful attention to 
idiom:— 

Sealladh air Oisean 

Air feasgar ciuin, samhach, ’s' an earrach, 
’S mi tearnadh bho bhearradh nam mor-bheann, 

An smedrach a’seinn air gach bealach, 
’S na h-uillt a’dol thairis le’n crdnan, 

Gun d’fhuair mi’s an aite sin sealladh 
Rinn m’inntinn is m’anam ro bhronach ; 

’S ma dh’fhaodas mi cuibhrionn dheth aithris, 
Na measaibh an ealain so gorach. 

’Na shineadh fo spdgan na daraig 
Bha laoch a bha fearail ’na chomhradh, 

Bha fhiasag’s a ghruag mar an canach 
Mu ghuaillean’s mu bhroilleach ’gan comhdach ; 

Bha chlarsach ri thaobh air a’charraig 
’S a teudan ’gan tarruing fo mheoirean ; 

Is sheinn e na rainn so a leanas, 
Nam b’edl domh an aithris air ddigh dhuibh :— 

“ Thig lamh rium, a chlarsach mo sheanar, 
Bu bhinn leam thu’n earrach na h-dige, 

’Nuair bhuailinn do theudan le deannal 
An am a bhi tional nan cdmhlan ; 

An talla na h-uaill is na caithreim, 
’S an cluinnte mar aingil na h-dighean, 

Toirt ciuil dhuinn air cliii an cuid leannan 
’S air euchd an cuid lannan’s a’chdmhstri. ...” 

Niall MacLedid. (25) 

3. Translate into Gaelic, paying careful attention to 
idiom 

The happiest time of my boyhood was at that early 
period, a little past the age of six, when I had my own 
pony to ride on and was allowed to stay on his back as long 

I liked. Those early days soon ended when my mother 
°ok me on my first visit to the town. The streets were 
°o much for me at the start and I remember that I got 
ost' ^ despair I began to cry. Then a man came up, 

ivith bright buttons on his blue coat, and taking me by the 
arm, asked me in a loud voice, where I lived. 

I could not tell him. (25) 
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4. Write in Gaelic a continuous story based on the following 
summary. The story should he about the same length 
as your answer to question 1. Failure to comply 
with this instruction may lead to a loss of marks. 

At night a Highland girl crept out of the stone hut 
where she lived with her mother. In her hand she carried 
the horn with which she scared the deer. Skirting round 
the oatfield she entered the forest, where suddenly she 
saw a shadow among the trees. She blew her horn. It 
wailed through the night, but no deer went rushing into the 
darkness. 

“ If the deer eat the oats tonight we shall have no 
porridge this winter,” she thought. “ What shall I do ? ” 

[Complete the story in your own way.) (25) 

GAELIC 
1 Higher Grade—(First Paper) 

Tuesday, 23rd March—9.30 a.m. to 11.30 A.M. 

The value attached to each question is shown in brackets 
after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, 
and leave a space of half an inch between the lines. 
Marks will be deducted for writing that is difficult to 
read. 

1. Translate into idiomatic English :— 

Ma’s ann no nach ann o’n chraoibh-dharaich an sgeul, 
no o sheanairean a’bhaile, no o bhruadar na h-ionndrainn, 
tha an clachan mar a bha e o chian ag itheadh is ag dl, ag 
gleachd is ag obair, ag canntaireachd is a'tuireadh, an 
iomadh cridhe an diugh—theagamh gu bheil is an clachan 
mar a bhitheas e fhathast. Chan ’eil uair a dhunas nai 
fein mo dha shuil, is mi am aonar anns an oidhche, nach 
Til, mar gum b’eadh, loch fior-ghlan, air nach ruig gaoth, 
a’sgaoileadh a mach fa mo chomhair, is anns an uisge cm 
mi faileas a’chlachain o thus eachdraidh gus an la an 
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diugh, is e sior chaochladh o linn gu linn. Chi mi ceall air 
tolman os cionn a’chladaich, canntail nam manach is gair 
na mara ag iarraidh suas le cheile gus na neoil, fir is mnathan 
ag greasad a mach a bothanan sgratha a dh’eisdeachd 
ris a’cho-sheirm bhinn. Chi mi na longa Lochlannach 
anns a’chaladh, an clachan ’na smuid ; na tha bed de 
luchd na Gaidhlige 'g am falach fein air feadh chreag is 
chnoc, is da mhanach ag ealadh a mach a uaimh, a 
mhallachadh nan coimheach an diugh, a sheinn an tuiridh 
am maireach. 

An t-Urr. Coinneach MacLedid, D.D. (32) 

2. Translate into idiomatic English :— 

Alasdair a Gleanna Garadh, 
Thug thu an diugh gal air mo shuilean ; 

Is beag iongnadh mi bhi trom chreuchdach : 
Gur trie ’gar reubadh as ur sinn. 

Is deacair dhomhsa bhith gun osnaich 
Meud an dosgaich th’air mo chairdibh ; 

Gur trie an t-eug oirnn ag gearradh 
Taghadh nan darag as airde. 

Chaill sinn ionann agus comhla 
Sir Domhnall a mhac’s a bhrathair ; 

Ciod e am fath dhuinn bhith ’gar gearan ? 
Dh’fhan Mac Mhic Ailein’s a’ bhlar uainn. 

Chaill sinn darag laidir liathghlas 
Bha cungbhail dion air a chairdibh, 

Capull-coille bharr na giuthsaich, 
Seabhag sulghorm luthmhor laidir. 

Dh’fhalbh ceann na ceille is na comhairT 
Anns gach gnothuch am bi curam; 

Aghaidh shoilleir sholta thaitneach, 
Cridhe fial farsuing mu’n chuinneadh. 

Bu tu tagha nan sar-ghaisgeach 
Mo ghuala thaice is mo dhiubhail; 

Smiorail fearail foinnidh treubhach 
Ceann feachda chaill Seumas Stiubhart. 

Silts Nighean MhicRaghnaill. (32) 
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3. Turn carefully into Scottish Gaelic, or translate into 
English :— 

An tan fa clos do Cholam Chille i nAlbain cruinniughadh 
na comhdhala soin ocus na tri hadhbhair far tionoileadh 1, 
mar ata aithrioghadh Sgannlain, dibirt na bhfileadh, ocus 
cor buin-chiosa ar Dhal Riada, do thriall fein a hi go 
hEirinn, mar aon re coimhthionol naoimh-chleire, ocus is 
e lion cleire do bhi ’n a fhochair ag teacht fa thuairim na 
comhdhala soin, da fhichid sagart, fiche easbog, caoga 
deochan ocus trlochad maiccleireach. 

Do feadfaidhe go mbiadh dlchreideamh ag an leaghthoir 
ar an nl churthar slos ann so, mar ata go mbeidls easbuig 
i gcoimhdeacht<1) abbadh; gidh eadh da leaghthar Stair na 
Sagsan,' do sgriobh Beda, is follus go mbidis easbuig na 
hAlban umhal d’abbaidh I anall-od. 

Fa gnath, ar se, leis an oilean so do shior uachtaran do 
bheith air do bhiadh 'na abbaidh ocus 'na shagart, aga 
mbiadh an chrioch uile fana smacht ocus fana dhlighe, 
ocus fos fa dlightheach dona heasbogaibh fein, ger nos 
neamhghnathach e, bheith umhal do, do reir shompla an 
cheaddoctura do bhi ar an oilean, nach raibhe ’na easbog, 
acht ’na shagart ocus ’na mhanach. 

Sgealaigheacht Cheitinn. (20 

W i gcoimhdeacht = in attendance on. 

GAELIC 

Higher Grade^—(Second Paper) 

Tuesday, 23rd March—1.45 p.m. to 3.45 p.m. 

The value attached to each question is shown in brackets 
after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, 
and leave a space of half an inch between the lines. 
Marks will be deducted for writing that is difficult 
to read. 
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Section I 

All the questions in this Section should he attempted. 

1. Write an essay in Gaelic, of not more than two pages in 
length, on any one of the following subjects : — 

(а) " La dhomh ’s mi falbh nan ard.” 

(б) Cha do chuir a ghualainn ris nach do chuir tur 
thairis. 

(c) A’cheilidh mar mheadhon fiosrachaidh is oilein.. 

[d) Feum an radio do’n Ghaidheal is do’n Ghaidhlig. 

(40) 

2. Translate into Gaelic : — 

I was never in any house of the islands where I did not 
find books in more languages than one, if I stayed long 
enough to want them, except one from which the family 
was removed. Literature is not neglected by the higher 
rank of the Hebridians. It need not, I suppose, be 
mentioned that in countries so little frequented as the 
•islands there are no houses where travellers are entertained 
for money. He that wanders about these wilds either 
procures recommendations to those whose habitations lie 
near his way, or, when night and weariness come upon him,, 
takes the chance of general hospitality. If he finds only 
a cottage, he can expect little more than shelter ; for the 
cottagers have little more for themselves : but if his good 
fortune brings him to the residence of a gentleman, he will 
be glad of a storm to prolong his stay. 

Johnson : A Journey to the Western Isles. 

(30) 

3- Give Gaelic equivalents for : — 

(«) Don’t worry ! 

[h) If you dare ! 
(c) Do you not admire him ? 

(d) That is not to the point. 

(e) He was accused of theft. 

(/) He got no encouragement. 
(g) Introduce me to the stranger. 
[h) Regardless of expense. (6) 
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Section II 

Two questions should be attempted from this Section. The 
answers may be either in Gaelic or in English, except when 

otherwise indicated. 

4. Analyse the formation of any five of the following : — 

foirneart, a nuas, nidh air n-uidh, teaghlach, os cionn, 
ni h-eadh, an drasda, lan di beatha, uireasbhuidh. 

(10) 

5. Give, with explanations, five examples of Gaelic 
idioms or constructions in the spoken English of your 
district. (10) 

6. Comment briefly on any four of the following, 
mentioning in each case the author and approximate 
date :— 

Long mhor nan Eilthireach, Luinneag MhicLeoid, 
Oran na Comhachaig, Latha Inbhir Lochaidh, An 
Claigeann, Smeorach Chlann Ddmhnaill, An t-ogha 
mor. (10) 

7. Illustrate with appropriate quotations from the 
author’s works the descriptive powers of Uilleam Ros, 
or Alasdair Mac Mhaighstir Alasdair, or Mairi Nighean 
Iain Bhain. (10) 

GAELIC 

Higher Grade—(Second Paper) 

Tuesday, 23rd March—1.0 p.m. to 1.30 p.m. 

This paper must not be seen by any candidate. 

To be read out by the Teacher at 1.0 p.m. in the presence of 
the Supervising Officer. 

To be written by the candidates on the separate sheets 
provided, which must be collected before the Second 
Gaelic Paper is distributed. 
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DIRECTIONS FOR TEACHER 

1. Inform the candidates that they may not ask for the repetition- 
of any word or phrase. 

2. Read the passage aloud distinctly and deliberately, but not 
slowly, in order to bring out the meaning of the whole as 
clearly as possible. 

3. Then dictate the passage slowly, saying each group of 
words [as indicated by vertical lines) twice, and 
pronouncing every word very distinctly. The punctua- 
tion should be indicated. 

4. After an interval of five minutes read the text over again in 
the same manner as on the first occasion, but do not on 
any account repeat separate words or phrases at the 
request of individual candidates. 

Dictation 

Tha cor na Gaidhlig | ’n ar latha | ag agradh dian 
shaothair | o a luchd daimh gu leir ] gu bhith a’' 
brosnachadh | sluagh na Gaidhealtachd | agus nan 
Eilean [ chum suim dhligheach a ghabhail | do chainnt 
am mathar | air eagal gun tig an t-am | anns nach bi 
leasachadh oirre. I Is e call gun teagamh a bhiodh an 
sm. | 

, Chan ’eil sgaradh comasach | eadar duthchas agus 
canain. Seasaidh no tuitidh iad le cheile. | Ma chailleas 
an Gaidheal a Ghaidhlig | caillidh e saoibhreas beul- 
aithris | nan ginealach a dlTfhalbh, | ni nach ceannaichear 
le or; I caillidh e a’mhaoin | a tha taisgte am bardachd 
15 an eachdraidh a dhuthcha ; | caillidh e a chdir-bhreith, 
an dileab a bu choir dha a dhleasadh j is a dhion le fuil 
a chridhe ; | caillidh e spiorad a’ Ghaidheil; | agus ma 

bios e a dh’easbhaidh nan nithean sin I ciod a bhios. 
aige ? 1 

Seumas MacThomais. (20) 
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SPANISH 

Lower Grade 

Tuesday, 23rd March—9.30 a.m. to 12 noon 

The value attached to each question is shown in brackets 
after the question. 

N.B.— Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, and 
leave a space of half an inch between the lines. Marks 
will be deducted for writing that is difficult to read. 

1. Translate into English :— 

The excitement of a first flight. 

La unica emocion de mi primer viaje aereo fue la 
emocion de la salida. Dentro de breves segundos yo iba 
a alejarme de esta tierra donde habia pasado toda la vida. 
Iba a lanzarme a una aventura, vulgar para muchas gentes, 
pero que tenia para mi un caracter completamente nuevo : 
iba a romper, por media hora, esta ley terrible de la 
gravitacion universal, de cuyos preceptos no me habia 
sido posible escaparme nunca. 

—O mi vida no ha de revestir jamas solemnidad alguna, 
o este es uno de sus mementos solemnes—pense yo 
entonces. 

Y por eso estreche con tanta elusion la mano de unos 
amigos a quienes solo conocia desde hacia cinco minutos. 
En ellos me despedia nada menos que de la madre tierra. 

Pero comenzamos a volar. Debajo de nosotros el 
paisaje se extendia como un mapa, con solo los detalles 
principales : pueblos, rios, colinas, ferrocarriles. En 
general el paisaje no oscilaba casi nada, ya que el dia era 
magnifico, el piloto diestro y el aparato seguro. Y, aunque 
yo no habia contemplado nunca un espectaculo tan mara- 
villoso, debo confesar que no lograba extraer de el toda la 
emocion esperada. La experiencia, nueva para mi, nie 
producia el efecto de una experiencia antigua, acaso porque 
la intentaba demasiado tarde, cuando ya millares de 
hombres la habian, a su vez, realizado y descrito. 



EXAMINATION PAPERS, 1948 85 

La verdadera sensacion de volar yo solo la tuve a la 
llegada al aerodromo, precisamente cuando el areoplano 
descendia y se acercaba a tierra. Otros aparatos volaban 
tambien por alll, unos altos y otros mas bajos que nosotros, 
y estos aparatos, en union de las casas, los caminos y los 
arboles, nos Servian de puntos de referenda, por los cuales 
pude darme cuenta de que en efecto estabamos volando 
por el aire. 

(35) 

2. Translate into English :— 

Instruction in the basic arts. 

Las lecdones que did aquel dia Pio Cid eran sobre el 
tema tan util como poco estudiado de la elaboracion del 
pan, comenzando desde que se siembra el trigo, hasta 
que sale el pan coddo del horno. 

Estas lecdones se las habla sugerido al maestro la 
noticia que le did la duquesa de que Jaime habia construido 
un molino de juguete. Los duques tenian en una de sus 
posesiones varies molinos, y el nino gustaba de ir a jugar 
con los hijos de los molineros, y se habia aficionado a sus 
entretenimientos y habilidades. A las primeras palabras 
noto Pio Cid el interes del discipulo, y decidid explicarle a 
iondo estas artes utiles, cuyo conocimiento da al hombre 
una idea mas grave, noble y humana de la vida ; porque, 
le decia, h.a.y hombres que viven sin saber los esfuerzos y 
sudores que cuesta el pedazo de pan de que diariamente 
se nutren, y estos hombres no pueden comprender la 
verdadera fraternidad, que consiste en considerarnos ligados 
a los otros hombres, altos y bajos, pobres y ricos, de tal 
suerte, que nuestra existencia sea imposible e infecunda 
Sm la de los demas. 

Quiso Jaime enterarse tambien de la production del 
ngo, sobre la que tenia ideas muy equivocadas. El 

maestro le explico un compendio de cosas agricolas en 
ermmos tan expresivos, que Jaime oia todo aquello con 
layor atencion que si fuera un cuento de hadas. 

(35) 
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3. Translate into Spanish :— 

On returning home I found that my brother had just 
arrived. I had not seen him for two years, and he was now 
so tall that I should not have known him. As it was 
already late we sat down to dinner immediately, and how 
surprised we all were when, without letting us ask him 
about his life in the army, he told us that he wanted to 
get married. “ But you have not yet chosen a profession ! ” 
said my father. “ How can you marry without money? 
I can never consent to that.” (20) 

4. Translate into Spanish :— 

(1) He left the room without letting anyone reply. 
(2) It was six o’clock before they told us to go. 
(3) I do not think she is as ill as she imagines. 
(4) The children washed their faces but forgot to 

clean their teeth. 

(5) If I had enough money I should buy myself a car. 

(10) 

SPANISH 

Higher Grade—(First Paper) 

Tuesday, 23rd March—9.30 a.m. to 11.30 a.m. 

The value attached to each question is shown in brackets 
after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, and 
leave a space of half an inch between the lines. Marks 
will be deducted for writing that is difficult to read. 

Translate into English, with due attention to form and 
expression :— 

1. Natural talent will reveal itself. 
Cada cual ha de dedicarse a la profesion para que se 

siente con mas aptitud. Los padres y los maestros deben 
fijar mucho la atencion en este punto, para impedir b 
perdida de un talento que, bien empleado, podria dar los 
mas preciosos frutos, y para evitar que se le haga consunur 
en una tarea para la cual no ha nacido. 
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Seria muy conveniente que se ofreciesen a la vista de 
los ninos objetos muy variados, conduciendolos a visitar 
establecimientos donde la disposicion particular de cada 
lino pudiese ser excitada con la presencia de lo que mejor 
se le adapta. Entonces, dejandolos abandonados a sus 
instintos, un observador inteligente formaria desde luego 
diferentes clasificaciones. Exponed la maquina de un reloj 
a la vista de una reunion de ninos de diez a doce afios, y 
es bien seguro que, si entre ellos hay alguno de genio 
mecanico muy aventajado, se dara a conocer al punto por 
la curiosidad de examinar, por la discrecion de las pre- 
guntas y la facilidad en comprender la construccion que 
esta contemplando. Siendo niho Pascal, le llamo un dia 
la atencion el fenomeno del diverse sonido de un plato 
herido con un cuchillo, segun se le aplicaba el dedo o se 
le retiraba ; despues de reflexionar mucho sobre la causa 
de esta diferencia escribio un pequeho tratado sobre ella. 
Este espiritu observador en tan tierna edad, ino anunciaba 
ya al ilustre fisico que habia de confirmar las ideas de 
Galileo ? (30) 

2. The fleeting joy of springtime. 

Era una manana y abril sonreia. 
Frente al horizonte dorado moria 
la luna, muy blanca y opaca ; tras ella, 
cual tenue ligera quimera, corria 
la nube que apenas enturbia una estrella. 

Como sonreia la rosa manana 
al sol del oriente abri mi ventana ; 
y en mi triste alcoba penetro el oriente 
en canto de alondras,(1) en risa de fuente 
y en suave perfume de flora temprana. 

Fue una clara tarde de melancolia. 
Abril sonreia. Yo abri las ventanas 
de mi casa al viento. ... El viento traia 
perfume de rosas, doblar de campanas . . . 

Doblar de campanas lejanas, llorosas, 
suave de rosas aromado aliento . . . 
iDonde estan los huertos floridos de rosas? 
iQue dicen las dulces campanas al viento ? 
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Pregunte a la tarde de abril que moria : 
“ (iAl fin la alegrla se acerca a mi casa ? ” 
La tarde de abril sonrio : “La alegria 
paso por tu puerta ” — y luego, sombria : 
“ Paso por tu puerta. Dos veces no pasa.’’ (30) 

I1) alondra = lark. 

3. Ambushed by bandits. 

Siempre distraido el doctor en sus rneditaciones, no 
vio ni oyo que de repente salieron de la arboleda cinco 
hombres a caballo, y con inaudita rapidez se le pusieron 
delante. No lo advirtio, o no tuvo tiempo para advertirlo, 
tan ligera fue la maniobra, hasta que uno de ellos grito 
“ i Alto ahi l” 

Entonces vio el doctor que cuatro de los cinco le 
apuntaban con los fusiles. Quiso volver atras para escapar, 
dando un rodeo, y noto que otros tres hombres a pie, 
armados tambien de fusiles, se le venian encima. Estaba 
completamente cercado, y en tan estrecho circulo, que ni 
para revolverse le quedaba tiempo ni espacio. 

■— j Rindete o mueres ! — grito otro de los de a caballo. 
Hallabanse los enemigos tan cerca, y era tan apremiante 

la situacion, que todo lo que no fuese rendirse era una 
temeridad ; pero nuestro heroe, desesperado de que en 
medio de su viaje le detuviesen, tomb una resolucion 
tremenda. Cogio su pistola, y apuntando al de a caballo 
que tenia mas cerca, le dijo : 

-— Abre paso o te mato -—. Al mismo tiempo hirio 
fuertemente con las espuelas a su caballo, a fin de salir 
escapado, rompiendo por entre la cuadrilla de bandidos. 

Estos hubieran sin duda disparado, dejandole muerto, si 
la voz del capitan no se hubiera oido a tiempo, diciendo: 

-— j No le mateis, no le mateis ! 
El doctor vacilo un instante en tirar, viendo la 

generosidad que con el se usaba, pero no habia ya tiempo 
de explicaciones, porque el caballo, excitado por los 
espolazos, iba ya a abrirse camino. Sin duda hubiera 
habido alguna muerte si de pronto no se hubiese sentido 
el doctor asido fuertemente de uno y otro brazo por dos 
de los de a pie, bastante robustos ambos para arrancarle 
de la silla y dar con el en el suelo por detras del caballo. 
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SPANISH 

Higher Grade—(Second Paper) 

Tuesday, 23rd March—1.45 p.m. to 3.45 p.m. 

The value attached to each question is shown in brackets 
after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, and 
leave a space of half an inch between the lines. Marks 
will be deducted for writing that is difficult to read. 

1. Translate into Spanish :— 

For the first time in my life I felt completely lost, 
because there was nobody with whom I could talk. The 
only foreign language I knew was French. With French 
I had been able to travel happily through Spain and Italy ; 
not that I had understood everything I had heard or 
that others had always understood what I had said to 
them, but the languages we had used had been similar 
—the sounds were alike and the order of the words was 
the same. But now I was to spend many days among 
a people who made strange and often ugly noises, and 
who put their verbs at the end of their sentences. I could 
not sit at table with them and fill the air with the stories 
of my adventures. I could not ask them questions about 
their lives, nor even talk about the weather (although, 
indeed, this would not have lent itself to much conversation, 
since it never varied). It seemed as if I was going to live 
among deaf men, compelled to converse only with signs. 
And yet my fears were exaggerated, for I soon found that 
even deaf and dumb men can be content in each other’s 
company. Kindness and courtesy need not be expressed 
m words, and I was at once made happy by the friendly 
smiles that greeted me everywhere. 

(50) 
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2. Translate into Spanish :— 

(1) You may think him stupid, but you will soon 
realize he is more intelligent than he seems. 

(2) I didn’t believe that anyone could have been 
capable of such folly, but I quickly found I 
was wrong. 

(3) I began by asking him whether he would consent 
to undertake the journey if I bought him his 
ticket. 

(4) On returning home he found the door open, 
although he was certain it had been shut when 
he left. 

(5) It is late, we are tired, the hotel is a good one and 
it is empty ; so let us stop here. (15) 

3. Write in Spanish a continuous story based on the 
following summary. The story should be about the same 
length as your answer to question 1. Failure to comply 
with this instruction may lead to a loss of marks. 

Jose y Enrique hacen una excursion al campo—Jose se 
cae—le duele tanto la pierna que no puede andar mas— 
Enrique trata de llevarle a cuestas (= on his back), pero se 
cansa pronto—le deja y va a buscar ayuda-—:el pueblo esta 
lejos—Enrique tarda mucho—cuando vuelve con un carro 
Jose no esta donde le dejo. 

[Complete the story in your own way.) (25) 

SPANISH 

Higher Grade—(Second Paper) 

Tuesday, 23rd March—1.0 p.m. to 1.30 p.m. 

This paper must not he seen by any candidate. 

To he read out by the Teacher at 1.0 p.m. in the presence of 
the Supervising Officer. 

To be written by the candidates on the separate sheets 
provided, which must be collected before the Second 
Spanish Paper is distributed. 
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DIRECTIONS FOR TEACHER 

91 

1. Inform the candidates that they may not ask for the repetition 
of any word or phrase. 

2. Read the passage aloud, distinctly and deliberately, but 
not slowly, in order to bring out the meaning of the whole 
as clearly as possible. 

3. Then dictate the passage slowly, saying each group of words 
[as indicated by vertical lines) twice, and pronouncing 
every word very distinctly. The punctuation should be 
indicated thus:—(,) ‘coma,’ (.) ‘punto,’ (;) ‘punto y coma.’ 

4. After an interval of five minutes read the text over again in 
the same manner as on the first occasion, but do not on 
any account repeat separate words or phrases at the 
request of individual candidates. 

Dictation 

Una vez que me encontre con fuerzas para moverme, 
sm esperar mas | me embarque con destine a Espana, 
deseoso de volver al seno de mi familia, | que debia 
darme ya por muerto | despues de tantos aiios de ausencia. 

I Mi pensamiento no cesaba de formar conjeturas, | y a 
veces mi corazon se angustiaba \ con tristes pensamientos ; 

I pero no quise hacer preguntas | ni averiguaciones, | 
smo verlo todo por mis propios ojos, | presentandome 
de improvise | por las puertas de mi casa. | Y quizas 
si me hubiese estado en Canarias | hasta recibir noticias 
de los mios, | y hubiera sabido alii | el cruel desencanto 
Tie me aguaidaba, | en vez de seguir hasta Europa, | 
legresara a Africa. | La noticia de mi desaparicion j y 
^e mri muerte, | desfigurada al principio | y confirmada 
espues por yarios conductos fidedignos, | habia costado 
a V1<?a a mi padre, | que se culpaba a si mismo de lo 
ocurndo | por el empeno con que me' habia apartado | 

e A casa | y lanzado voluntariamente | en mi peligrosa 
a a aventurera ; | y poco despues a mi madre, | herida 
n su mas entranable afecto. | Solo sobrevivia mi hermana 

^enor y unica, | y aun esta habia sufrido todo genero de 

(20) 
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RUSSIAN 

Lower Grade 

Monday, 22nd March—9.30 a.m. to 12 noon 

The value attached to each question is shown in brackets 

after the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 

Question on a fresh page. Write legibly and neatly, 
and leave a space of half an inch between the lines. 
Marks will be deducted for writing that is difficult 
to read. 

1. Translate into English :— 

Moonlit sea and a noisy crowd 

Ha uecaiKH Bepcx npoT5myjiaco(1) mnpoKasi cepe6pHHasi nojioca 
nyHHoro cBexa; ocxajibHoe Mope 6hjio nepno; ho BacHJiHs 
FlexpoBma cxoHBmero Ha Bbicoxe hoxohhji npaBHjibHbiH rnyxoir 
myM bojih pacKaxbiBaBmHxcH(2) no necnaHOMy 6epery. Eme 6ojiee 
nepHbi, H6M caMoe nope, 6bmH cnjiyoxbi Kopa6neH. Ohhh orpoMHHH 
napoxon, BeponxHO aHrnnncKHM, HaxoHHJicn b CBexHOH noiioce Jiynu 
h mnneji*31 cbohmh napaMH. BacHHHn IlexpoBHH, ho chx nop He 
BHnaBiiiHH HHnero nono6Horo, c ynoBOHbcxBneM CMOxpeji Ha Mope, 
HyHHbiH cbcx, napoxonbi, Kopafijra, h panocxHo, b nepBbin pas s 
JKH3HH, OH BHblXajI MOpCKOH B03HyX. Oh HOHrO HaCHaffiHaJICH 
HOBbIMH HJ1H Hero OI^ylJ^eHHHMH,('l, nOBepHyBIIIHCb cnHHOH k(3) ropony, 
b KoxopHH npHexaji xojibko ceroflHH h b KoxopoM nonHceH otffl 
iKHxb MHorae h MHorae ronn. 3a hhm xoima ny6HHKH rynsma no 
6ynbBapy; cjibimajiacb xo pyccKan, xo HepyccKaa penb, xo thxhg 
ronoca wecxHbix nonxeHHbix oco6,(6) xo me6exaHHe neBymeK, t° 
rpoMKHe h Becejibie rojioca Bspocnbix rHMHa3HcxoB(7), xohhbiuhx okojio 

HByx hjih xpex ms hhx. BspbiB xoxoxa b ohhoh hs xaKHX rpynn 
sacxaBHji BacHjiHsi HexpoEHna o6epHyxbCH. BecenaH xonna mna 
MHMO ; OHHH H3 lOHOIIieH rOBOpHJI HXO-XO MOHOHOH FHMHaSHCTKe, 
TOBapHmH inywenH h nepe6HBanH ero penb. 
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— He Beptie, Hima nexpoBHa ! Bee spex ! 
— fla npaso we, H. FI., h hhckojibko He BHHOBax !(8) 

Koniia pasroBopa BacHJiHH nexposHH ne nociibimaji, noxoMy 
hto ryptSa [xoima, rpynna] nponuia mhmo. Hpes noiiMHHyxbi hb 
TeMHOXbi bhobb nocjiHiiiajicH BspbiB CMexa. (35) 

(5> turning his back on. 
<6)very respectable local people. 

I1' stretched, extended. 
l2) rolling. 
(3) was hissing. 
(4) feelings. 

<7) high-school boys. 
(8> to blame. 

2. Translate into English :— 

Thrift is not avarice 
B ohhom ropojie HBa xoBapnina xoxejiH OKaaaxb noMouib 

fiemioMy ceMeHcxBy. Ho xax Kax chmh ohh 6buiH nionH Hedoraxbie, 
to cxaiiH odpainaxbCH c npocbdoio o nowoiiiH k juouhm donee 

HocxaxoHHbiM h onHCbiBajiH(l) hm KpaHHioio Hywny 6eflnoro ceMeiicTBa. 

Thkhm odpasow ohh hoihjih k onHOMy doraxoMy xymiy, ox 
Koxoporo HanenjiHCb nonyHHXb nocodHe. Ho, BomenuiH k Heny na 
HBop, ohh ycjibimajiH, Kax xyneu dpaHHn(2) csoero padoxHHxa sa xo, 
hto padoxHHx sadbui nonowHXb b capan BepeBXH(3) h ocxaBHn hx na 

iienyio Hoxb non nownen. ,,Pa3Be xh He 3Haemb,“ roBopHir xynert, 

«wo BepesxH cxohx nener, xoxopbie sapadoxaxb He xax nerxo, 
Kax th nyMaemb ! “ 

—,, 0, 3xox xyneu HHnero He nacx,“ exasan ohhh hs 
TOBapHiqeH, ,, xorna oh sa xaxyio HHHxownyio Beuib xax cepnHxcn 
h dpaHHxcn. OoHneM nynuie b npyron hom.“ — ,, Mowho 

nonpodoBaxb," oxsexHii npyrou xoBapHiu, ,, nofineM x neMy h cxaweM, 
3aHeM npHiunH.“ Mewny xexi, xyneu, nodpaHHBiuH cEoero padoxHHxa, 

BewjiHBo nonomen x npHiuenuiHM h npurjiacHn hx b cbokj xoMHaxy. 

VaHaB, saneM npHiuiiH sth nodpbie monH, xyneu nan hm 
nscKojibxo pydnen h, csepx xoro, odeman eme npHcnaxb denHOMy 
ceMeftcTBy Memox(4) myxh. Taxan uienpocxb ynHBHna(S) npocHxenen, 
H ohh He MornH He exasaxb eMy o xom nypnoM mh6hhh, xoxopoe 
ohh cocxasHnH o hbm, cnbiuia ero dpanb sa xaxyio HHHxowHyio 
Beuib- »Oxxoro-xo n h Mory HHorna noMoraxb denubiM," oxsexHn 
Kyneu’ ” hto dun Bcerna depewnHB — depewnHEoexb He cxynocxb." 

(1> described. (4)sack. (35) 
<2) was scolding. f3'surprised. 
(3) ropes. 
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3. Translate into Russian :— 

(1) I should like to see your young friend today. 
(2) Unfortunately he is not at home just now. He has 

gone for a walk. 
(3) Do you know when he will be back ? Perhaps for 

lunch, at half-past twelve. 
(4) Usually we get up at seven o’clock, but yesterday 

morning we got up at a quarter past six. 

(5) She has brought you the new Russian book that 
you wished to read. 

(6) Give me my old hat and that black overcoat, please. 
I must be off. Good-bye ! (12) 

4. Translate into Russian — 

For people in this town living*1' is very dear and not 
very pleasant. It is not easy to buy, and even more 
difficult to rent*2', a flat or even a small room. Food and 
clothing cost more than before the war. It is true that 
working men do not need to leave home so early and do not 
work all day long, as they did when I was young. But some 
of them cannot work at all, for one of the big factories*'’1 

was destroyed*4' during the war. On the other hand*11 

some folk who were formerly fairly well-to-do [say rich] 
and did not need to work very hard, now have to go to 
the office every day. (18) 

(1) IKHTte. *3) SaBOH. 
*2) HaHHMaTB, HaHHTb. *4' BHHHTOIKeH. 

<5' C npyroii cropoHbi. 

ITALIAN 

Lower Grade 

Wednesday, 24th March—9.30 a.m. to 12 noon 

The value attached to each question is shown in brackets after 
the question. 

N.B.—Begin the answer (or fair copy of an answer) to each 
question on a fresh page. Write legibly and neatly, 
and leave a space of half an inch between the line8- 
Marks will be deducted for writing that is difficult ^ 
read. 
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1. Translate into English 

How Italy was formerly described. 

La regione che ora si chiama Italia ha avuto, lungo i 
secoli, diversi altri nomi. II nome d’ltalia le venne, secondo 
alcuni, da un certo re Italo che nel tempo antico vi signoreg- 
gio; ma secondo altri le venne dalla quantita grande 
che produceva di vitelli, i quali in lingua antica erano detti 
vituli. Dai Greci che Tavevano a ponente, 1’Italia fu 
denominata Grande Esperia, cioe gran terra del tramonto. 
E con questo nome la invocarono molti poeti latini, tra i 
quali anche Virgilio, che canto le bellezze dei suoi campi e 
pastori e le prime origini dell’impero di Roma per opera di 
Enea, figlio della dea Venere, profugo dalle coste dell’Asia 
Minore dopo la presa e Lincendio di Troia. Altri nomi 
dellTtalia, derivati da singoli popoli suoi abitatori furono 
Ausonia ed Enotria. E fu detta anche Saturnia, cioe terra 
di Saturno, il quale resse gli aborigeni e sotto il cui governo, 
dicono, per la molta giustizia, nessun uomo era servo e ogni 
cosa era comune a tutti con la migliore pace e quiete del 
mondo. (30) 

2. Translate into English :—- 

The Landscape of Romagna. 

Come beatamente 1’occhio si riposa su questa dolce 
terra di Romagna ! Ella e ancora intorno a me tutta bruna 
e nuda in una chiara aria d’inverno ; ma 1’orizzonte e 
spazzato fino agli ultimi confini dal vento aspro di marzo 
e nella pianura pulita le case paiono piu bianche, gli alberi 
e le siepi piu nere ; la striscia del mare turchino ride al sole 
nuovo. 

II colore di queste cose nuove par la al mio cuore. 

Io ne cerco il sense, e vago con Tocchio sul gran ventaglio 
aperto del piano ; guardo i colli magri e puri, le terre 
avorate che spiccano nel fulvo crudo deh’ombra, e il dolce 
vecchio verde delle coste piene di luce ; guardo i monti che 

sahollano piA lontani, ondeggiando come vapori, e in 
c°j a^e e sole, quasi ritagliate sul cielo, le tre punte 
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II noto profile pare che renda a tutte le linee del monti e 
del piano 11 senso delle cose domestiche e care. Non e questo 
dunque 11 paese del mio poeta ? 

II paese ove, andando, ci accompagna 
I’azzurra vision di San Marino. 

Ecco I’Emilia, bianca dura e pulita fra le sue gracili siepi, 
co’ suoi ponticelli, sotto cui passano i rii dal bel nome 
romano e mormora 1’acqua die oggi e cosi trasparente e 
lucente fra le ripe calve(1) sul fondo terroso. La vecchia 
grande strada ci invita alle ville ben conosciute, a Savignano 
dalle cui selci sonanti fino alia Torre e al cimitero di S. Mauro 
e cosi breve il cammino . . . Ma da ogni sasso e da ogni 
siepe lungo quel cammino pare che le canzoni del poeta 
debbano volar via con frullo(2) rapido e vario, come uccelli 
dal nido. Renato Sena (40) 

W calve, bald, bare. <2> frullo, beating of wings. 

3. Translate into Italian :— 

Dear Carlo, 
We arrived home last night, and I should like to thank 

you again for your kindness during the month we spent in 
Milan. Although the weather was hot, we enjoyed every 
moment of our stay,(1) and you were an excellent guide to 
all the interesting places in the city. We shall always 
remember, too, the delightful excursion121 we made to 
Como. I am sorry that we were not able to see more of 
the mountains, but hope that this will be possible on our 
next visit. Give my kind regards to your father and mother, 
and, with our best remembrances to you and Bianca, 

Believe me 
Yours sincerely, 

Henry. (20) 
I1) stay, soggiorno. (2) excursion, gita. 

4. Translate into Italian :— 
{a) His eyes see everything. 
(b) How many persons do you know ? I do not know 

many. 
(c) The others were there, but we were late. 
(d) Have you given those books to my brother ? Yes, I 

have given them to him. 
(e) We have been in Scotland for ten years. 
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MUSIC 

Lower Grade 
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Tuesday, 9th March—1.0 p.m. to 3.0 p.m. 

N.B.—Candidates must write in ink, legibly and neatly, and 
they must leave a space of half an inch between the 
lines. Marks will be deducted for writing that is 
difficult to read. Care must be taken to make the 
notation clear ; notes indistinctly placed will be regarded 
as wrong. 

The answers to Section I must be written in the space provided 
on this examination paper, which must be given up with 
the examination book. The ruled pages in the examina- 
tion book may be used for roiigh work on these questions. 

The answers to Section II 'are to be written in the separate 
book provided. 

The value attached to each question is shown in brackets after 
the question. 

SECTION I 
All the questions in this section should be attempted. 

1. (a) Transpose the following passage a perfect fifth 
higher, writing your answer in the treble clef. (10) 

— M 

(6) Write the sol-fa syllables below the appropriate 
notes in the given passage. (8) 

(84160) D 
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2. (a) Write the ascending scale of B minor (harmonic 
form) in the bass clef, beginning on the supertonic. Insert 
the key signature. (4) 

(b) Using only notes contained in the scale you have 
written, write a diminished triad and an augmented triad. 

(4) 

3. Write in staff notation the first four bars of any 
three of the following songs. At least one of those chosen 
must be in 6-8 time. 

" The blue bells of Scotland ” (E major) ; 
“ Polly Oliver ” (E flat major) ; 
“ Bonnie Dundee ” (F major) ; 
“ My love’s an arbutus ” (A flat major) ; 
“ The hundred pipers ” (G major) ; 
“ Auld lang syne ” (G major) ; 
“ All through the night ” (A major) ; 
“ Drink to me only with thine eyes ” (F major). 

(15) 
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4. Two of the following should be attempted : {a) must 
k one, the other should be either (b) or (c). 

(a) Complete this melody making eight bars in all. 
Add phrasing and expression marks throughout in the style 
of the opening. 

Allegretto. 

■A-d 
3= 5=3: 

PP 
mf 

(15) 

Write a melody in staff notation suitable to and ex- 
pressive of the poetic rhythms of one of the following 
stanzas. Add a musical term to indicate the tempo or 
raood, and insert expression marks. Place each syllable 
of the words below the note or notes to which it is intended 
to be sung. Words or phrases may be repeated if desired. 

(b) “ Her eyes the glow-worm lend thee, 

The shooting stars attend thee ; 

And the elves also, 
Whose little eyes glow 

Like the sparks of fire, befriend thee.” 

Herrick. 
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OR 

(c) “ They hadna ridden a mile, a mile, 
A mile but barely ten, 

When Donald came branking down the brae 
Wi’ twenty thousand men." 

Scott. 

(16) 
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SECTION II 

Two questions should be attempted from this section. 

5. Write brief but comprehensive notes on any three 
of the following. Mention examples where possible. 

Compound time ; clarinet ; the C clef ; conductor ; 
bagpipes ; recitative; cantata. (15) 

6. State what you know of any two of the following, 
giving some account of their style. Name the composer 
of each of the works you select and mention any other of 
his compositions. Quote a few bars from one of the 
selected works. 

The “ 48 ” Preludes and Fugues ; 
Songs without Words (Lieder ohne Worte) ; 
The Water Music. (15) 

7. Name four outstanding composers of opera. State 
the period (within 50 years) when each lived and mention 
at least one opera by each. Write a paragraph on the 
operatic style of one of the composers you have named. 

(15) 

8. Write a short account of the first movement of 
Eozart’s Symphony No. 40 in G minor. Discuss briefly 
the form, general characteristics and mood of the move- 
ment. Quote a bar or two of the principal themes. (15) 

OR 

f rl
Identify three of the following themes : name the work 

jmdicating the movement, if it contains more than one), 
16 composer and the period (within 50 years) in which it 

was written. Taking two of the themes chosen, either 
continue the given quotation for two bars or quote another 

oeme from the same work. Be careful to letter your 
answers correctly. (15) 

(84160) D3 
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Allegro. 
> 

A 

Con tutta form. 

• O' 
CT O o: 

Lento Sostenuto. 

B 

dolce. 

1^5 

Larghetto, 

mf 

m 
o 

Allegro assai. 
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Con molto fuoco. 

i 

l » * * 

dim 

Andantino. 

*»> 

P 

m 0 «7 , 
I 

w- 

y & ® » 

Allegro. 

=r=^ -ftsp- 

FP 

>- 

MUSIC 
Higher Grade 

Tuesday, 9th March—1.0 p.m. to 3.30 p.m. 

H.B.^ Canfliclates must write in ink, legibly and neatly, and 
they must leave a space of half an inch between the 

i^S* ^ar^s wih be deducted for writing that is 
difficult to read. Care must be taken to make the 
notation clear ; notes indistinctly placed will be regarded 
as wrong. 

(84160) 
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The answers to Section I must he written in the space provided 
on this examination paper, which must he given up with 
the examination book. The ruled pages in the examina- 
tion hook may be used for rough work on these questions. 

In order to obtain a pass in this paper, candidates must 
satisfy the examiners in Section I. 

The answers to Section II are to be written in the separate 
hook provided. 

The value attached to each question is shown in brackets after 
the question. 

SECTION I 

All candidates should attempt three questions from this 
section, and three only, of which numbers 1 and 2 are 
compulsory. 

1. Complete the following, adding alto, tenor and bass 
throughout ; passing notes should be used in the added 
parts to match the style of the given part :•—• 

Con moto. 

5 
c) 

4 

I 

IE 

-Ph- 
1X21 

(26) 
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2. Write a melody in staff notation suitable to the 
poetic rhythm and mood of one of the following verses. 
Add a musical term to indicate the tempo or mood, and 
insert expression marks. Place each syllable of the words 
below the note or notes to which it is intended to be sung. 
Words or phrases may be repeated if desired. Indicate the 
cadences by placing, in the bass clef, the two notes necessary 
to define them. 

“ Give a man a horse he can ride, 
Give a man a boat he can sail; 

And his rank and wealth, his strength and 
health, 

On sea nor shore shall fail.” 

James Thomson (1834-1882) 

Or 

" Down, down, down ! 
Down to the depths of the sea ! 
She sits at her wheel in the humming town, 
Singing most joyfully.” 

Matthew Arnold 
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3. Add an interesting melody to this bass. The melody 
should begin after the rests with a point of imitation, and 
with the bass make satisfactory two part counterpoint. 

Allegro moderato. 

/ 

g :S 

1 

-10- 

Tit 

9 

-it 

(20) 
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4. Write a melody of not less than 16 bars based on 
the given phrase ; introduce two modulations, of which 
one should be the dominant major, before returning to 
the tonic key. Insert phrasing and expression marks. 
Develop the shapes and rhythms given and make one climax 
point in your melody. The note in brackets may be of 
any duration. 

Begin thus :— 

Allegretto grazioso. 

& 

(®0: 

i 

Sr 

I 

-hr 

(20) 
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SECTION II 

Only two questions from this section should be attempted. 

A false relation 
A discord and its resolution 
A suspension 
An overlap 
A cadence 

A minuet and trio 
A canon 
A fugue 
A sonata 
A nocturne 

Write brief but comprehensive notes on four of the 
above. Choose two from column I, and two from column II. 
To illustrate the answers in I, examples in staff notation 
should be given. To illustrate the answers in II, reference 
should be made to specific works naming the composer. 

(16) 

6. Explain the term “ Chamber Music,” as briefly as 
possible. Give three examples, one each by an 18th, a 19th 
and a 20th century composer. Quote a theme from at least 
one of the works you mention. (16) 

7.. 

Purcell 
J. S. Bach 
Haydn 
Beethoven 

II 

Schubert 
Chopin 
Brahms 
Elgar 

Choose two composers, one from each column of the 
above lists. Write a short account of the music of each, 
and quote one or two themes from the works you mention. 

(16) 

8- Either 
(a) Write a programme note on Brahms’ " Academic 

overture.” Include a short biographical sketch of the 
composer and a description of the form and style of the 
work. 

,, Qu°te in staff notation a few bars of each of the principal 
nemes, describing how each is used and developed in the 

course of the work. 

Or 
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(6) Identify four of the following. Name the work (and 
the movement if it contains more than one), the composer 
and the period to within half a century. 

Either continue tivo of the quotations selected for two 
bars (melody only) or quote another theme from the same 
work. (16) 

Be sure to letter your answers correctly. 

Leggiero con moto. doles. 

t 

4 

$ 
f i 

rail 

Allegro vivace. 

B ^ i i " 

p doles 

m fs, ^ 

Allegro non troppo. 

I T..^—H 
• 0 0 
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Allegro. 

D 
-0 

m> 

rn. 

=~ pp 

Allegro. 

i 

-p-%0- 

p 

   —p—i— 

[Maestoso). 

f mt 
>-• -jg>- 

P ..j^g $ ...v 1 
J 

5^ 

icAi geschwind 

::Se- 

1 
_p 

-.p=j=S= 
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[Brisk). 

H c? 

p 

■*#- 

WSt- ~r?~ rj> 

»'/ 

BOOKKEEPING 

Lower Grade 

Monday, 22nd March—1.0 p.m. to 4.0 p.m, 

The value attached to each question is shown in brackets after 
the question. Marks will be deducted for careless or 
badly arranged work. 

1. Explain—Debit Note ; Bank Reconciliation State- 
ment ; Promissory Note. (12) 

2. When G. Crabb, a fruit vendor, commenced business 
on Monday, 25th August, 1947, he had in stock 6 dozen 
grapefruit valued at 2s. 6d. per dozen and 40 lb. apples at 
Id. per lb. During the week ending Saturday, 30th August, 
1947, he bought 40 dozen grapefruit at 3s. per dozen, 
600 lb. apples at Id. per lb., 450 lb. plums at Is. per lb., and 
30 pineapples at 3s. each. 25 lb. plums and 6 pineapples, 
which were over-ripe when delivered, were returned to the 
suppliers. His sales during the week were :—34 dozen 
grapefruit at 4s. Qd. per dozen ; 560 lb. apples at 10^. per lb., 
400 lb. plums at Is. Qd. per lb. ; and 20 pineapples at 
6s. each. His expenses for the week were as follows :-y 
wages of assistants, fQ 15s. 8d. ; rent of stall, ff ^s-; 
lighting, 7s. Qd. ; postages and telephone calls, 4s. 9».. 
8 gross paper bags, £1 16s. 
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At the close of business on Saturday, 30th August, 1947, 
he had in stock 12 dozen grapefruit valued at 3s. per dozen 
and 80 lb. apples at Id. per lb. The plums and pineapples 
which were unsold had become worthless. As only 6 gross 
paper bags had been used, the balance was carried forward 
to the following week. 

Make up G. Crabb’s trading account and profit and loss 
account for the week ending 30th August, 1947. 

[Note.—Journal entries are not required.) (15) 

3. On 2nd January, 1948, D. Baird and W. Craig 
entered into partnership with capitals of £1,200 and £800 
respectively : these sums were paid into the firm's banking 
account. 

On the same day they took over, as a going concern, 
the business of P. Russell at a price of £1,500, of which one 
half was to be paid forthwith and the other half at the end 
of two months. 

The balances in the books of P. Russell were as follows :—■ 
stock in hand, £535 ; bill receivable (No. 63, on W. Millar, 
due 15th January, 1948), £58 ; bill payable (No. 45, to 
A. Devlin, due 12th January, 1948), £135 ; office furniture, 
£175 ; sundry debtors : D. Todd, £64 ; P. Bonar, £108 ; 
creditor, R. Rae, £205 ; motor vehicles, £650 ; capital, 

. According to the terms of the partnership deed, interest 
^ to be allowed on capital at the rate of 6 per cent, per 
annum and W. Craig is to receive a salary of £25 per month 
or managing the firm’s business. 

Open the necessary books of account and record therein 
me above and the following transactions. Post to ledger 
and extract a trial balance. Bills books should be kept. 
Ail receipts were paid into bank on the day they were 
received. 

Do not make out trading and profit and loss accounts 
and a balance sheet, but indicate, in a separate column in 

^a^ance> which of the items would appear in each 0 these final accounts and on which side. Use the following 
^tractions :—“ P. & L.” for “ Profit and Loss Account ” ; 

o, r- , Am “ Trading Account ” ; “ B.S.” for " Balance 
iheet ; “ p>r_ » for - De5it Side » . - Cr.” for “ Credit 
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Side ” ; "A.” for “ Assets Side ” ; “ L.” for “ Liabilities 
Side.” For example, if the balance owing by D. Todd were 
£35, this item would appear as . follows in your trial 
balance :— 

Dr. Cr. 

D. Todd B.S., A. £35 
where ” B.S., A.” means that in the final accounts this item 
would be entered on the assets side of the balance sheet. 

1948. 
Jan. 2. 

Jan. 
3. 

5. 
6. 
7. 

8. 

12. 
12. 

15. 

17. 

20. 

22. 

23. 

Paid by cheque instalment of purchase price now 
due and accepted bill at two months for the 
other instalment. 

Drew from bank for office cash £50. 
Bought goods value £128 from D. Ireland and 

gave him acceptance at 80 days in payment. 
Sold goods to D. Todd £123. 
Bought goods for cash £15 12s. 6d. 
Paid by cheque solicitor’s account for charges 

in connection with purchase of business 
£25 12s. 6d. 

Made D. Todd allowance on goods £3 10s. and 
received his acceptance for £120 at one month 
and his cheque for £60 in full settlement. 

Met at bank bill due today. 
Discounted at bank D. Todd’s bill : amount 

received £119 7s. 6d. 
Bill No. 63 due today, dishonoured by non- 

payment : paid noting charges in cash 15s. 
Sent R. Rae cheque for amount owing, less 

5 per cent, cash discount. 
Sold to P. Bonar goods value £60, less 20 per cent, 

trade discount. 
Received letter from R. Rae stating that he was 

unable to allow the discount deducted on 
17th January, since the amount was long 
overdue : sent cheque to settle the account. 

Purchased on credit from Motor Suppliers, Ltd., 
new van for £327 10s. 

24. P. Bonar returned goods value £7 10s. gross 
sent cheque in payment of his account, 
2|- per cent, cash discount. 

and 
less 
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1948. 
Jan. 27. W. Millar became bankrupt ; agreed to accept 

composition of 15s. in the £ in full settlement : 
cheque in payment of dividend duly received. 

30. D. Baird drew by cheque for his own use £30. 
31. Paid, in cash, wages £25 7s. 6d. and office expenses 

£6 18s. 9d. 
31. Cash sales for month £183 14s. 5d. 
31. Provide for interest on partners’ capital for 

month and for salary due to W. Craig. (73) 

BOOKKEEPING 

Higher Grade 

Monday, 22nd March—1.0 p.m. to 4.0 p.m. 

The value attached to each question is shown in brackets after 
the question. Marks will be deducted for careless or 
badly arranged work. 

1. Explain—Composition in bankruptcy ; Contingent 
liability. (8) 

2. At 31st December, 1947, the following balances 
appear in the books of the firm of Bruce & Young. 

Make up a trial balance and prepare trading account, 
profit and loss account, and balance sheet. 

Cash in hand, £25 ; bills receivable, £483 ; bills payable, 
th697 ; manufacturing wages, £1,874 ; office salaries, £655 ; 
purchases, £2,784 ; investments, £4,253 ; dividends on 
investments, £107; sundry debtors, £1,376; sundry 
creditors, £1,678 ; profit on consignments, £98 ; drawings, 

, :ljuce’ £240; drawings, Young, £180; sales, £7,414; 
sales returns, £157 ; bad debts reserve, £100 ; office 
expenses, £173 ; stock in hand at 1st July, 1947, £1,152 ; 
°ose tools, £567 ; carriage on sales, £74 ; discounts 

received, £32 ; discounts allowed, £166 ; advertising, £114 ; 
1;-t-n

(
t.Ji

eceivecb £72 ; buildings, £3,800 ; capital, Bruce, 
to.UUO ; capital, Young, £3,500. 



116 SENIOR LEAVING CERTIFICATE 

The difference between the totals of the debit and credit 
balances represents the balance at bank on 31st December, 
1947. 

Stock in hand at 31st December, 1947, was valued at 
£1,363 and loose tools at £384. Of the sundry debtors 
£126 are irrecoverable and are to be written off as bad. 
A bad debts reserve of 4 per cent, on debtors is to be carried 
forward. £400 are to be written off the book value of 
investments. Wages due and unpaid amount to £33. 
After interest at the rate of 5 per cent, per annum has been 
allowed on the partners’ capitals, profits and losses are 
shared equally. (44) 

3. On 1st December, 1947, the balances in the books of 
W. Smart, who is in business as a coffee merchant, were as 
follows:—cash in hand, £22; bank overdraft, £483; 
stock of goods, £508 ; furniture and fittings, £260 ; bills 
receivable (No. 24, on P. Smith, due 9th December, 1947, 
£62 ; No. 27, on W. Duncan, due 23rd December, 1947, 
£115), £177 ; bill payable (No. 13, to R. Mackie, due 
17th December, 1947), £245 ; motor vehicles, £463 ; debtor, 
J. Brown, £45; sundry creditors: B. Green, £133, 
D. Murdoch, £74 ; reserve for rent, £40 ; goodwill, £1,000; 
capital, £1,500. 

On this date Smart agreed to admit into partnership 
his assistant, J. Taylor, who provided £600 as his share 
of capital: this money was duly paid into the firm’s 
banking account. The partnership deed stated, inter aha, 
that Taylor was to receive a salary of £30 a month for his 
services to the firm. 

Open the necessary books of account and record therein 
the above and the following transactions. Post to ledger 
and extract a trial balance. Bill books should be kept. 
All receipts were paid into bank on the day they were 
received. 

1947. 

Dec. 1. Sold old motor van for cash, £128 10s. 

2. Paid rent due by cheque, £40. 

3. Sold to J. Brown coffee value £76 15s. and received 
his bill for £120 at one month in full settlement 
of his indebtedness. 
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1947. 

Dec. 4. Received from F. Peck and Sons for sale on 
consignment coffee invoiced at £270. Paid 
delivery charges in cash, £1 12s. Qd. Accepted 
consignor’s bill for £200 at fifteen days sight. 

6. Discounted at bank J. Brown’s bill: proceeds 
were £119 9s. Qd. 

9. Bill No. 24 duly met at bank. 

11. Sold on credit to P. Smith part of F. Peck and Sons’ 
consignment for £183 5s. 

12. Purchased coffee from B. Green, £64 10s. 

16. Sold for cash balance of F. Peck and Sons’ con- 
signment, £211 15s. 

17. Met at bank bill No. 13 due today. 

17. Paid by cheque selling expenses of consignment, 
£14 10s. 

18. Charged F. Peck and Sons agent’s commission at 
the rate of 3 per cent, on the gross proceeds of 
the consignment and sent them account sales 
and cheque for balance owing. 

22. Met at bank bill due today. 

23. W. Duncan, whose bill for £115 became due today, 
was unable to meet it. Agreed to extend half 
for one month, including 15s. interest, provided 
the other half was paid in cash forthwith. 
Cheque and acceptance were duly received. 

29. Drew from bank for office cash, £50. 

30. Bought National Flealth Insurance stamps for 
cash 17s. 8d. and paid wages for month, also 
in cash, £37 11s. 4d. 

30. Smart drew by cheque for his own use, £40. 

30. Paid by cheque amount owing to B. Green, 
less 5 per cent, cash discount. 

31. Cash sales for month, £215 10s. 

31. Provide for salary due to Taylor for month. 

(48) 

D* (84160) 
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COMMERCIAL ARITHMETIC 

(First Paper) 

Monday, 22nd March-—9.30 a.m. to 10.0 a m. 

This paper will he taken up at the end, of half an hour, when the second paper will he 
given out. 

The sums are not to he copied out. All the calculations required are to he performed 
mentally. 

More importance will he attached to accuracy than to quickness. 

The value attached to each question is shown in brackets after the question. 

1. Add, down and across :— 

£ s. d. 

235 : 12 : 8 

2,189 : 7 : 6 

766 : 14 : 2 

5,081 : 15 : 5 

2,654 : 3 : 10 

68 : 11 : 8 

6,407 : 9 : 8 

258 : 18 : 4 

1256 : 6 : 9 

£ 

£ s. d. 
463 : 14 : 5 

3,057 : 19 : 9 

1,454 : 2 : 11 

672 : 7 : 9 

88 : 12 : 3 

4,495 : 1 : 10 

2,134 : 15 : 2 

1,877 : 6 : 6 

3,563 : 13 : 4 

£ 

£ s. d. 
1,730 : 11 : 7 

922 : 5 : 4 

2,377 : 16 : 6 

328 : 12 : 1 

1,479 : 16 : 5 

2,326 : 8 : 8 

49 : 17 : 6 

4,652 : 10 : 9 

583 : 4 : 11 

£ 

£ s- d. 

(10) 

2. (a) From £687 14s. Id. take £394 15s. M  

[h] Express 15s. 3d as an exact decimal of £1  

(c) What is the simple interest on £70 for four months at 6 per cent, 
per annum ?   

[d) A grocer mixes 3 lb. coffee costing 2s. Qd. per lb. with 2 lb. chicory 
costing 5d per lb. At what price per lb. must he sell the mixture in order 
to make a profit of 25 per cent, on cost ?  

{e) Find the cost of 25 hectolitres of wine at 64 francs per litre  

(/) What is the net annual dividend received on £400 of 3J per cent, 
stock, if income tax at the rate of 9s. in the £ is deducted at the source ?    (10) 
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COMMERCIAL ARITHMETIC 

(Second Paper) 

Monday, 22nd March—10.0 a.m. to 11.30 a.m. 

Before attempting to answer any question, candidates should 
read the whole of it very carefully, since time is often lost 
through misapprehension as to what is really required. 

Four-place logarithmic tables are provided. 

All the working must be shown in its proper position in the 
answer, and the different steps of the calculation should 
be shortly indicated in words. 

Algebraical symbols may be used if properly explained. 

The value attached to each question is shown in brackets after 
the question. Marks will be deducted for careless or 
badly arranged work. 

1. Calculate the amount received for a bill for £395 16s. 
which was drawn on 24th October, 1947, at two months 
and discounted on 1st November, 1947, at the rate of 

per cent, per annum. (10) 

2. The paid-up capital of a company consists of 20,000 
R- per cent. Preference shares of £1 each, 15,000 8 per cent. 
Preferred Ordinary shares of 10s. each, and 10,000 Deferred 
shares of 2s. each. If the available profits are £3,462, of 
which £1,512 are carried forward, at what rate per cent, 
is a dividend paid on the Deferred shares ? (10) 

3. [a) A bankrupt’s liabilities amount to £4,814 15s., 
oi which £687 10s. are preferential and have to be paid in 
oh.. If his assets realize £2,761 11s. Qd. and the expenses 

o winding up his estate are £285 12s., what dividend in the 
h will be paid to the ordinary creditors ? 

f) How much will be paid to an ordinary creditor to 
whom the bankrupt owes £84 12s. Qd. ? (12) 

What was the original cost of an engine which, after 

- T^wance for depreciation has been made for 18 years at d a e of 15 per cent, per annum, is valued at £153 6s. ? (12) 
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5. (a) An alloy is made by melting together 966 grams 
of silver and 712 grams of copper. If one cubic centimetre 
of silver weighs 10-5 grams and one cubic centimetre of 
copper weighs 8-9 grams, what volume of alloy will be 
obtained ? 

(b) The alloy is cast in the form of a cylinder of diametei 
4 centimetres : what is the height in centimetres (correct 
to one place of decimals) of this cylinder ? (tt = 3 -14) (12) 

6. (a) What is the difference in yield between (A) 
a 3| per cent, stock at 109f and (B) a 54 per cent, stock 
at 160 ? (Neglect brokerage.) 

(b) What sum of money must be invested, one-third in 
A and two-thirds in B, to produce a gross annual income 
of £403 ? (12) 

7. In 1939 the costs of production of a group of articles 
were divided between raw materials, labour and overhead 
expenses in the ratio of 5 : 3 : 4, and the list prices of 
these articles were fixed to give the maker a profit of 
25 per cent, on selling price. By 1947 the costs of raw 
materials had risen by 100 per cent., of labour by 80 per cent., 
and of overheads by 60 per cent. By what percentage 
must the manufacturer raise his list prices so that he may 
recover his additional costs and still make a profit of 
25 per cent, on selling price ? (12) 

SCIENCE 

Lower Grade 

Wednesday, 17th March—1.45 p.m. to 4.15 p.m. 

Not more than SIX questions should be attempted. 
Three, but not more than three, o£ these must be taken 
from Part I (General Science). The remaining three 
questions must be taken from the two sections in Part n 
dealing with the branches studied in the later stages, at 
least one question being taken from each of the two sections. 

H = 1, G = 16, Na = 23, S = 32. 

Mathematical tables will be supplied to those who desire them. 



EXAMINATION PAPERS, 1948 121 

16 marks are assigned to each question in Part I, and 11 to 
each question in Part II. 

Before handing in their Examination hooks, candidates should 
enter in the space provided on the front cover the numbers of 

the questions they have attempted. 

N.B.—Write legibly and neatly, and leave a space o! half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

PART I.—General Science. 

Only THREE questions from this part should he attempted. 

1. Name the four chief constituents of air. Describe 
an experiment which you have performed in the laboratory 
to determine the proportion by volume in which the two 
most abundant constituents are present. 

Mention three methods commonly used to prevent iron 
from rusting. 

2. How would you make a hydrometer, using a test- 
tube and lead shot ? Describe fully how you would 
graduate it for use with liquids of specific gravity between 
0'8 and 1-2. 

A hydrometer floats in cold water to a certain mark. 
It is transferred (i) to hot water, and (ii) to salt water. In 
each case state, with reasons, whether the mark would be 
above or below the surface of the liquid. 

3. Describe briefly the flower of a named plant, and 

f u ^unc^ions the parts. Make a labelled drawing 0 the flower cut lengthwise through the centre. 

r What do you understand by the terms pollination and 
utilization ? How is the seed dispersed in the case of the 

plant which you named above ? 

4. Write a short account of the life history of the frog, 

lipo ^0es ^ro§ breathe and feed at each stage of its 
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PART II. 

Only THREE questions from this part should be attempted 
—see instructions on page 1 of this paper. 

Section 1.—Physics 

5. What do you understand by the statement that 
R is the resultant of the two forces P and Q ? What is 
the relation between the equilibrant and the resultant of 
the two forces ? How would you determine experimentally 
the magnitude and the line of action of the resultant of 
two like parallel forces ? 

A uniform plank, 12 ft. long and weighing 20 lb., is 
supported by trestles at each end. A man weighing 
180 lb. stands on the plank 2 ft. from one end. Find the 
reactions at the trestles. 

6. The coefficient of linear expansion of iron is 0-000012 
per centigrade degree. Explain the meaning of this state- 
ment and describe an experiment by which you could 
verify it. 

The Forth Bridge is made of iron and is If miles long. 
The total allowance for expansion is 6 ft. Calculate the 
range of temperature for which allowance has been made. 

7. State the relationship that exists between the focal 
length of a bi-convex lens and the distances of the object 
and image from the lens. How would you verify this 
experimentally ? 

A bi-convex lens has a focal length of 5 cm. Find by 
drawing or calculation the nature, position, and size of the 
images formed when an object 2 cm. high is placed (i) 10 cm. 
and (ii) 2 cm. from the lens. 

8. Draw a labelled diagram of a Leclanche cell. 
is the depolarizing agent and what is its action ? 

Make a labelled diagram of the circuit you would use 
to measure the resistance of a given wire. State the 
measurements you would make and show how you woui 
use them to calculate the resistance. 
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Section 2.—Chemistry 

9. State what happens when heat' is applied to the 
following— 

(i) a mixture of slaked lime and ammonium chloride, 

(ii) a mixture of common salt and concentrated 
sulphuric acid, 

(iii) temporarily hard water. 

Write the equations for the above reactions. 

How would you identify one of the products of each of 
the reactions (i) and (ii) above ? 

10. Define “ equivalent ” as applied to an acid. 
Use your definition to calculate the equivalent of sulphuric 
acid. 

What do you understand by “ neutralization ” ? 

In a titration, 20 c.c. of a 0-5N solution of sulphuric 
acid were exactly neutralized by 15 c.c. of a given solution 
of caustic soda. Calculate 

(i) the normality of the caustic soda solution, 
(ii) the number of grams of caustic soda contained in 

a litre of the given solution, 
(iii) the number of grams of sulphuric acid contained 

in a litre of the 0-5N solution. 

1 d^' ^°W Wou^ y°u PrePare several jars of sulphuretted 

What is the action of sulphuretted hydrogen on (i) lead 
nitrate, (ii) sulphurous acid, (iii) chlorine ? 

Section 3.—Botany 

12. What conditions are necessary for the germination 
0 seeds ? Describe what you would expect to happen 

(i) to a seedling grown for several weeks in distilled 
water, 

(ii) to a seedling grown in the dark, 
(iii) to a seedling with its root immersed in brine. 

Give reasons for your answers. 
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13. Write notes on four of the following :— 
saprophyte, endosperm, stoma, annual ring, xerophyte. 

14. Make large-scale labelled drawings of a vascular 
bundle in a young stem of a dicotyledon. (Transverse and 
longitudinal sections are required.) 

How are the tissues of the bundle adapted to their 
functions ? Describe one experiment which gives inform- 
ation about one of these functions. 

Section 4.—Zoology 

15. Draw and describe briefly the alimentary canal of 
the earthworm. State what happens to the earthworm's 
food in its passage through the canal. 

16. Write notes on four of the following :— 

(i) reproduction in Amoeba, 

(ii) the structure of a quill feather, 

(hi) the gills of a fish, 

(iv) the structure and function of tracheae in insects, 

(v) the stinging cells of Hydra. 

Either 

17. [a) [For candidates professing Zoology only.) 

Write an account of the life history of any fish which 
you have studied. Make a large, labelled sketch illustrating 
the external features of this fish. 

Explain how the fish moves (i) forwards, (ii) upwards 
and downwards. 

Or 

17. (6) {For candidates professing Zoology and Human 
Physiology.) 

State what you know of the position and function of 
four of the following in the human body :— 

gall-bladder, thyroid gland, diaphragm, tibia, duodenum. 
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SCIENCE 

Higher Grade—(Physics) 

Wednesday, 17th March.—1.45 p.m. to 4.15 p.m. 

Not more than SIX questions should be attempted. Two, 
but not more than two, of these must be taken from 
Section I (Mechanics), and the remainder from not 
fewer than two other sections. 

Answers should, wherever possible, be illustrated by carefully 
drawn diagrams of reasonable size. 

16 marks are assigned to each question in Section I, and 
17 to each question in Sections II, III and IV. 

Mathematical tables will be supplied to those who desire 
them. 

Before handing in their Examination books, candidates should 
■ enter in the space provided on the front cover the numbers 
of the questions they have attempted. 

N-B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

SECTION I (MECHANICS) 

Two, but not more than two, questions from this Section must be 
attempted. 

1. Three non-parallel co-planar forces act on a body. 
8tate two essential conditions of equilibrium and describe 
hie experiment you would carry out to verify these state- 
ments. 

A uniform rod AB, 10 ft. long and weighing 24 lb., 

downward from a hinge at A. A string, which is 
attached to a point C on the rod 2 ft. from B, is pulled 
onzontally until the rod makes an angle of 30° with the 

vertical. . Find graphically the direction and magnitude of 
e rsuction of the hinge at A. 

of ft ^hat ^ac^ors determine the direction and magnitude he force of friction between two surfaces ? Describe 

cn "to find as accurately as possible the etticient of static friction between two surfaces. 
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A uniform rectangular block, standing on the floor, 
weighs 240 lb. Its height is 3 ft. and its base is a square 
of side 2 ft. The coefficient of static friction between the 
block and the floor is f. A gradually increasing horizontal 
push is applied to the centre of a top edge of the block in a 
direction at right angles to that edge. Will the block tilt 
or slide first ? 

3. Define the efficiency of a machine in terms of work 
and explain in detail how you would determine experi- 
mentally the variation of efficiency with load for either a 
block and tackle or an inclined plane. State with reasons 
what you would expect to find. 

By means of a wheel and axle a man can raise a load of 
112 lb. at a constant speed of 1 ft. per second. What 
horse-power is he exerting if the efficiency of the machine 
is 50 per cent. ? 

4. State Newton’s second law and derive from it a 
definition of the foot-pound-second unit of force. Describe 
an experiment by which you could determine the value of 
“ g ” as accurately as possible. 

A stone dropped from the top of a tower takes 2J seconds 
to reach the ground. Calculate (i) the height of the tower 
and (ii) the speed of the stone as it passes a point 50 feet 
from the top of the tower. 

SECTION II (HEAT AND HYDROSTATICS) 

5. Show how the Principle of Archimedes may be 
deduced from a consideration of pressure in a liquid and 
how the law of flotation may be derived as a special case 
of the Principle. Outline the experiments you would 
perform to verify the general statement of the Principle of 
Archimedes as it applies to liquids. 

The envelope and attachments of a balloon weigh 40 lb- 
When the balloon is filled with hydrogen it can raise an 
additional 30 lb. What could it raise when filled with 
helium ? 

(Density of helium = 2 x density of hydrogen 

Density of air = 14-4 X density of hydrogen.) 
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6. Give an account of a laboratory method of deter- 
mining the latent heat of vaporization of water and explain 
how the result is calculated. Discuss possible sources 
of experimental error, stating how each error would affect 
the final result and what precautions you would take to 
minimize that error. 

A piece of copper, mass 100 gm., was heated for some 
time in a bunsen flame then transferred to a copper 
calorimeter, mass 200 gm., containing 200 gm. of water. 
The temperature of the calorimeter and contents rose from 
15° C. to 45° C. and, on re-weighing, it was found that 
1'2 gm. of water had evaporated. Calculate the approxi- 
mate temperature of the flame. 

(Specific heat of copper = 0 • 09. 
Latent heat of vaporization of water = 536 cal. per gm.) 

7. What is the relationship between the temperature, 
volume, and pressure of a given mass of gas when all three 
vary ? How would you verify experimentally the relation- 
ship between temperature and pressure when volume is 
kept constant ? 

When exploded, 1 gm. of gunpowder produces 360 c.c. 
of gases, measured at N.T.P. A cavity of capacity 2 c.c. 
contains 3 gm. of gunpowder. If the temperature of the 
explosion is 2,200° C., what pressure is exerted ? 

8. Define the coefficient of linear expansion of a 
substance and state how it is related to the coefficient of 
cubical expansion of the same substance. Give a detailed 
account of an experiment to determine the coefficient of 
linear expansion of a metal. 

. An aluminium sphere of diameter 7-996 cm. rolls in an 
iron cylinder of internal diameter 8-000 cm. (Both 
diameters were measured at 0° C.) At what temperature 
"'ill the sphere stick in the cylinder ? 

(Coefficient of linear expansion of aluminium=0 • 000025. 
Coefficient of linear expansion of iron=0-000011.) 

SECTION III (SOUND AND LIGHT) 
9. Explain the “ Doppler effect ” and show how the 

o»e frequency may be calculated (i) when the source 

\vh S0unc^ ^ moving past a stationary listener, and (ii) en a Lstener is moving past a stationary source of sound. 
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A railway engine, passing through a station at 45 m.p.h., 
emits a note of frequency 1,200. What is the frequency 
of the note heard by a man standing on the station 
platform 

(i) as the engine approaches the station, 

(ii) when the engine has passed the station ? 

(Velocity of sound = 1,100 ft. per second.) 

10. Describe the experiment you would perform to find 
the velocity of sound in carbon dioxide. 

A person notices that his watch is at exactly 1 p.m. 
when he hears the sound from the gun fired in Edinburgh 
Castle at 1 p.m. If he is one mile from the gun, and the 
temperature is 59° F., what will be the error of the reading 
on his watch ? 

(Velocity of sound at 32° F. = 1,100 ft. per second.) 

11. What do you understand by “ minimum deviation ”? 
For any prism establish the relation between the angle of 
minimum deviation, the angle of the prism, and the 
refractive index. 

Detail the experiment which you would carry out in 
using the above relation to determine the refractive index 
of the glass of a given prism. 

12. How would you determine experimentally the 
focal length of a given convex mirror ? Explain, the theory 
underlying the method which you adopt. 

How far must an object be placed in front_ of a 
concave mirror of focal length 6 in. to give (i) a real image, 
(ii) a virtual image, each image being four times the size of 
the object ? 

SECTION IV (MAGNETISM AND ELECTRICITY) 

13. Define (i) unit magnetic pole and (ii) a neutral 
point. Describe an experiment to verify the inverse 
square law in magnetism. 

A long magnet is held in a vertical position with ih 
north pole flush with a horizontal sheet of cardboaid. 
How would you plot the lines of force on the cardboaid • 
Sketch the diagram you would obtain assuming that the 
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south pole of the magnet is sufficiently far away to make 
its effect negligible. If a neutral point is found on the 
cardboard 6 cm. from the north pole what is the pole 
strength of the magnet ? 

(H = 0 -18 c.g.s. unit.) 

14. Explain what is meant by the reduction factor of 
1 1 , 1 ^ , 10 Hr 

a tangent galvanometer and show how the value —-—• 
Inn 

is derived. Describe an experiment to show that the 
reduction factor is proportional to the radius of the coil. 

A particular tangent galvanometer can be used with 
either 2 or 50 turns of the same coil of wire. When a certain 
potential difference is applied to 2 turns of the coil the 
deflection is 40°. What will the deflection be if the same 
potential difference is applied to 50 turns of the coil ? 

15. Give details of an experiment to measure the internal 
resistance of a Daniell cell and explain the theory under- 
lying the calculation. 

A cell of E.M.F. 2 volts and internal resistance 2 ohms 
is in circuit with resistances of 4 ohms and 6 ohms which 
are placed (i) in series and (ii) in parallel. Calculate the 
potential difference across the 6-ohm resistance in each 
case. 

16. State Faraday’s laws of electrolysis. How would 
you verify experimentally the relationship between the given 
chemical equivalents of two elements and the masses of 
these elements deposited by the same quantity of electricity ? 

To calibrate an ammeter it is connected in series with 
a battery and a copper voltameter. A current, recorded 
by the ammeter as 2-0 amp., is passed for 30 minutes. If 
:. 1 gm. of copper is deposited in this time what informa- 
tion can you give about the ammeter reading ? If the 

t for the experiment was obtained from a battery 
o Daniell cells what weight of zinc would be consumed 

Ullng the experiment ? 

(Electro-chemical equivalent of copper = 0-00033 gm. 
per coulomb. 

Electro-chemical equivalent of zinc = 0-00034 gm. per 
coulomb.) 
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SCIENCE 

Higher Grade'—(Zoology and Human Physiology) 

Monday, 22nd March—1.0 p.m. to 3.0 p.m. 

FIVE questions in all should be attempted. 

Answers should, wherever possible, be illustrated by 
diagrams of reasonable size. 

20 marks are assigned to each question. 

N.B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted 
for writing that is difficult to read. 

Section I—Zoology 

1. What is a larva ? Describe fully the larval stage 
of three animals from different classes and trace in each 
case the relationship between the structure of the larva 
and its environment. 

2. Give a brief account of the structure of the humerus 
of a mammal. Make labelled diagrams of the fore-limb of 
a named mammal and of a bird. Mention features of the 
wing which are related to flight and describe the action of 
the wing. 

3. Why must organisms respire ? Explain how each 
of the animals, amoeba, fish, and adult frog respire. 

4. What do you understand by excretion ? Give a 
complete and fully illustrated account of excretion in a 
mammal. 

Section II-—Human Physiology 

5. How were vitamins discovered ? 
Discuss the part played by each of four vitamins m 

maintaining good health, and mention the principal sources 
of these vitamins. 

6. Write notes on the following :— 

(i) the cause of the pulse, 
(ii) cretinism, 

(iii) lymph, 
(iv) the functions of tlw small intestine. 
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7. Either (a) Make a large, labelled diagram to show 
the structure of the eye, and state briefly the functions 
of the parts. 

Or (b) Draw and describe (i) a transverse section of 
the spinal cord, (ii) a typical nerve cell. 

What is meant by reflex action ? Give an example. 

SCIENCE 

Higher Grade—(Pure Zoology) 

Monday, 22nd March—1.0 p.m. to 3.0 p.m. 

FIVE questions in all should he attempted. 

Answers should, wherever possible, be illustrated by 
diagrams of reasonable size. 

20 marks are assigned to each question. 

N.B.—Write legibly and neatly, and leave a space of half 
an inch between the lines. Marks will be deducted 
for writing that is difficult to read. 

1. What is a larva ? Describe fully the larval stage of 
three animals from different classes and trace in each case 
the relationship between the structure of the larva and its 
environment. 

2. Give a brief account of the structure of the humerus 
of a mammal. Make labelled diagrams of the fore-limb of a 
named mammal and of a bird. Mention features of the wing 
which are related to flight, and describe the action of the wing. 

3. Why must organisms respire ? Explain how each 
°t the animals, amoeba, fish, and adult frog respire. 

4. What do you understand by excretion ? Give a 
complete and fully illustrated account of excretion in a 
mammal. 

? State the 5. To which phylum does Hydra belong 
c aracters which place it in this phylum. 

• Write an account of (i) nutrition, and (ii) reproduction 
m Hydra. 

(84160) 
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6. Discuss the evidence which supports the theory of 
evolution. 

7. Either (a) Describe the animal associations of a 
habitat familiar to you. Choose one invertebrate and 
one vertebrate member of this fauna, and trace the food 
chain of each to its ultimate origin. 

or (6) Describe how you would set up, and keep in 
good condition, a fresh water or marine aquarium. Make 
a list of six animals with which you might stock it, and give 
an account of the appearance and habits of one of them. 

SCIENCE 

Higher Grade—(Botany) 

Wednesday, 24th March —1.45 p.m. to 3.45 p.m. 

FIVE questions in all should he attempted. 

Answers should, wherever possible, be illustrated by 
diagrams. 

20 marks are assigned to each question. 

N.B.—Write legibly and neatly, and leave a space of half 
an inch between the lines. Marks will be deducted 
for writing that is difficult to read. 

1. Draw and describe the stem structure of a young 
Dicotyledon, and state how the tissues are specialized in 
relation to their functions. 

2. Give an account of the changes which occur during 
the germination of either wheat or maize. Make drawings 
to illustrate the development of the seedling up to the 
appearance of the first green leaf. 

What tests would you use to determine the nature of 
the food substances in the germinating seed ? 

3. Describe in detail the gametophyte of any fen1 

which you have studied. 
To which group of plants does Fern belong ? What 

features are common to Fern and Spirogyra ? Why Is 

Fern regarded as the higher plant ? 



EXAMINATION PAPERS, 1948 133 

4. How would you distinguish between the natural 
orders Ranunculaceae and Rosaceae ? Draw a named 
flower from each order. What characters have these 
flowers in common ? Describe their fruits and their 
methods of seed dispersal. 

5. Describe experiments : — 

(i) to show the effect of light upon the direction of 
growth of a shoot, 

(ii) to discover the most actively growing region of 
a stem, 

(iii) to measure the rate of growth of a shoot. 

From the results of experiments (i) and (ii), what 
conclusions do you draw regarding growth ? 

6. Write an account of what occurs during photo- 
synthesis, and indicate the importance of this process to 
man. 

Describe experiments which demonstrate two conditions 
necessary for photosynthesis. 

7. Either [a) Name eight hedgerow plants or eight 
plants which form part of the undergrowth of a wood. 
Choose two perennial plants from your list and describe 
briefly the appearance of each throughout the course of a 
year. Mention any features of these two plants which 
are of advantage in that environment. 

Or (&) Name three native aquatic plants and describe 
one fully. In what respects does this plant differ in structure 
from a land plant ? 

SCIENCE 

Higher Grade'—(Chemistry) 

Wednesday, 24th March—9.30 a.m. to 11.30 a.m. 

Not more than FIVE questions should he attempted. Full 
marks will not he awarded unless the answers are 
illustrated hy carefully drawn diagrams of reasonable 
size and supplemented hy equations wherever possible. 

(SIIUU) 
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C - 12, N - 14, 0 - 16, Na = 23, S = 32. 

A litre of hydrogen at N.T.P. weighs 0-09 gm. 

20 marks are assigned to each question. 

Mathematical tables will be supplied to those who desire them. 

N.B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

1. State {a) the law of multiple proportions, 

(5) the law of reciprocal proportions. 

Select two oxides of a metal and show how you would 
use them to verify law (a) experimentally. 

Two oxides of nitrogen contain respectively 63 • 6 and 
30-4 per cent, of nitrogen. Show that these figures 
illustrate law (a). 

2. You are given the following pairs of substances:— 

(i) potassium bromide and potassium iodide, 

(ii) ammonium chloride and sodium chloride, 

(iii) calcium carbonate and sodium bicarbonate, 

(iv) manganese dioxide and powdered charcoal, 

(v) bromine vapour and nitrogen peroxide. 

Show how you would distinguish the one member of 
each pair from the other. 

3. Detail the experiment you would perform to collect 
several jars of carbon monoxide. 

20 c.c. of carbon monoxide are mixed with 20 c.c. of 
oxygen and an electric spark is passed through the mixture. 
What is the volume and composition of the residual gas, 
measured at the same temperature and pressure as the 
original gases ? 

Indicate briefly how you would verify your answer 
experimentally. 
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4. You are given pure anhydrous sodium carbonate 
and concentrated sulphuric acid. Detail the method you 
would adopt to prepare and standardize a litre of approxi- 
mately normal sulphuric acid. 

1-07 gm. of an ammonium salt are boiled with 50 c.c. 
of a normal solution of caustic soda until the issuing steam 
is free from ammonia. The residual liquid is made up to 
250 c.c. with water, and it is found that 25 c.c. of this 
solution are neutralized by 30 c.c. of a decinormal solution 
of sulphuric acid. Find the percentage of ammonia in 
the given ammonium salt. 

5. Starting in each case with concentrated nitric acid 
and any other chemical which you may require, outline 
the experiments you would perform to prepare specimens 
of 

(i) oxygen, (ii) nitrous oxide, (iii) nitric oxide. 

Indicate the tests you would apply to identify each of 
these gases. 

6. Describe the experiment which you would perform 
ln the laboratory to illustrate the contact process for the 
manufacture of sulphuric acid. What is the action of 
concentrated sulphuric acid on (i) copper, (ii) carbon, 
(hi) potassium iodide, (iv) sulphuretted hydrogen ? How 
would you demonstrate experimentally the truth of your 
statement in (ii) ? 

„. 7- Either [a) What do you understand by the term 
ion ” ? 

Describe the experiment which you would perform to 
study the electrolysis of sodium sulphate solution. Explain 
now the various products arise, and how you would show 
their presence. 

Or (h) The elements mercury and bromine are liquid 
a ordinary temperatures. Give reasons for the classifi- 
ca ion of the one as a metal and the other as a non-metal. 

ofefnbe the methods you would employ to isolate each 

n those elements from a compound in which it occurs in 
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ART 

Higher Grade—(First Paper) 

Wednesday, 17th March—9.30 a.m. to 10.30 a.m. 

All candidates must attempt ONE question from this paper. 

40 marks are assigned to each question. 

N.B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

1. Write an appreciation of the works of Van Gogh and 
Gauguin. How did these two artists differ from the 
Impressionist School of painting ? 

2. Give an account of the work of the early English 
landscape painters, and discuss the differences in their 
approach to landscape. 

3. (a) Tell briefly what you know of the Florentine 
School of painting and show, in a broad way, how it 
differed from the Venetian School. 

OR 

(&) What are the characteristics of the Modern School 
of painting ? Illustrate your answer by reference to the 
work of at least two painters. 

4. In what way did geographical and cultural factors 
influence the development of architecture in Greece and 
Ancient Egypt ? Add sketches to supplement your answer. 

5. Imagine you approach, and then enter, a typical 
mediaeval city or town. Mention the kind of buildings 
you would see, and describe as fully as you can (with the 
aid of sketches) its cathedral or church. 

6. {a) Discuss the development of the arch as an 
architectural feature. Illustrate your answer with sketches. 

OR 

(h) Show how the development of wall openings (doors 
and windows) has produced different types of architecture 
through the ages. 
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ART 

Higher Grade—(Second Paper) 
Wednesday, 17th March—10.45 a.m. to 12.45 p.m. 

Both questions should be attempted. 
30 marks are assigned to each question. 

Section I—Composition 
1. Make within a rectangle (7 inches by 5| inches, 

horizontal or upright) a sketch in colour for a figure com- 
position illustrating one of the following subjects :— 

[а) Hallowe’en. 
(б) Village Dance Band. 
(c) The Fish Market. 
[d) Tinkers’ Camp. 

Due credit will be given for preliminary rough sketches. 

Section II—Design 
2. Illustrate by a sketch a design suitable for one of the 

following, and state clearly by what process and in what 
materials your design would be carried out :— 

(«) An all-over pattern for a summer frock for a girl 
with auburn hair. 

OR 
A decorative paper to be used for wrapping 

presentation packages of one of the following 
articles —Toys ; Books ; Gloves. 

(Four repeats, suitable size, to be drawn and 
sufficient colour shown to explain the colour 
scheme.) 

(&) A paper book-jacket for “ Circus Lore.” Size 
7 inches by 5 inches. 

OR 
A menu card for " Zoo Cafe.” Size 7|- inches 

by 4J inches, long side upright. 
(c) Tea-cosy cover (embroidery or applique). Design 

your own shape and make your sketch 7 inches 
(base), 4| inches (height). 

OR 
Embroidered tray cloth. Size of sketch 

8 inches by 6 inches. 

(84160) 
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TECHNICAL SUBJECTS—GROUP I 

Higher Grade—(Applied Mechanics) 

Monday, 22nd March—9.30 a.m. to 11.30 a.m. 

Not more than FIVE questions should he attempted. 

20 marks are assigned to each question. 

When candidates use a formula they must explain each 
symbol. Units must always be stated. 

22 
Take 7t = —> and g = 32 ft. per sec. per sec. 

Square-ruled paper and four-p>lace logarithmic tables are 
provided. 

N.B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

1. State the conditions that must exist so that three 
coplanar non-parallel forces acting on a body may be in 
equilibrium. 

Figure 1 shows a structure supported by a roller bearing 
on a vertical wall at C and by a pin-jointed bearing at B. 
A load of 5 tons acts vertically downwards at A. 

Reproduce the given diagram to a scale of J in. represents 
1 ft. 

Draw the force diagram to a scale of 1 in. represents 
1 ton, and find— 

[a) the magnitude of the reaction at C ; 

(5) the direction and magnitude of the reaction 
at B ; 

(c) the magnitude and nature of the forces in the 
members AB, BC, CA. 
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2. Define the terms shear stress, elastic limit, factor of 
safety. 

Figure 2 represents the cotter joint of an engine piston 
rod and crosshead. The steam pressure on the piston is 
200 lb. per sq. in. and the piston diameter is 30 in. 

The length of the 4-in. diameter portion of the rod is 
40 in. ; the cotter is 44 in. broad, 1 in. thick; Young’s 
modulus for the material is 12,000 tons per sq. in. 

Determine— 

[a) the compressive stress in the piston rod in lb. 
per sq. in. ; 

(5) the shear stress in the cotter in lb. per sq. in.; 

(c) the contraction of the 4-in. diameter portion of 
the rod ; 

(d) the factor of safety of the joint if the material 
has an ultimate compressive stress of 90,000 lb. 
per sq. in. and an ultimate shear stress of 
55,000 lb. per sq. m. 

Fl GUR e"5. 

V 
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3. Define moment of a force about a point. 
The mechanism of a weighing machine is shown dia- 

grammatically in Figure 3. The platform rests on knife- 
edges at A and B. The main lever CD is 52 in. long and 
is pivoted at C. Lever EF is 16 in. long, is pivoted 
at F, and rests on the main lever at E. The steelyard is. 
pivoted at G. 

[a) A load is placed centrally on the platform and 
its weight is recorded on the steelyard when the 
small weight w oi 2 lb. is 30 in. from G. 

Determine the weight on the platform. 
(6) Determine the position of w on the steelyard if 

a weight of 624 lb. were placed on the platform 
over knife-edge A. 

4. A lorry, weighing 3 tons, is proceeding up an incline 
of 1 in 150 at a speed of 20 miles per hour. In' order to 
pass a slower moving vehicle the lorry accelerates to a 
speed of 30 miles per hour at a uniform rate, and, in so 
doing it covers a distance of 300 yards. The frictional 
resistance is 20 lb. per ton. 

Determine-— 
{a) the acceleration ; 
(6) the time that elapses during the period of 

acceleration ; 
(c) the force acting on the lorry during that period.. 

5. Explain what is meant by the efficiency of a machine. 
Show that the efficiency at a given load is the ratio of' 

rne mechanical advantage at that load to the velocity 
ratio of the machine. 

Deduce an expression for the limiting efficiency of the 
machine. 

In an experiment on a machine the following results 
were obtained 

Load (lb.) 10 40 100 150 200 300 
Effort (lb.) 12-5 18 30 40-5 50-9 70. 

The velocity ratio was known to be 8. 
Plot a graph of effort against load and determine— 

{a) the law of the machine ; 
[b) the effort at no load ; 
[c) the efficiency at a load of 250 lb. ; 
(^) the limiting efficiency of the machine. 
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6. Define the terms work and power. 
In the underground haulage of a coal mine a train of 

20 trucks, each weighing 10 cwt., is being hauled on the 
level at a uniform speed of one mile in three minutes ; the 
frictional resistance of the trucks is 25 lb. per ton. 

The haulage rope weighs 5 lb. per yard and is half a mile 
long ; it has a frictional resistance of 15 per cent, of its 
weight. 

Determine— 
(a) the work done in the half-mile haul; 
{b) the rate of working in horse-power ; 
(c) the horse-power input to the motor driving the 

haulage if the efficiency of the driving gear is 
75 per cent, and the efficiency of the motor is 
80 per cent. 

7. Explain the terms pressure and centre of pressure. 
A canal lock gate is 15 ft. wide. The water on one 

side is 12 ft. deep and on the other side it is 4 ft. deep. 
Determine-— 

{a) the total thrust of the water on each side of 
the gate ; 

(b) the point at which each thrust may be assumed 
to act ; 

(c) the resultant thrust ; 
{d) the overturning moment about the bottom of 

the gate ; 
(e) the point at which the resultant thrust may be 

said to act. 
(The density of the water is 62-5 lb. per cu. ft.) 

SCIENCE-ENGINEERING 

TECHNICAL SUBJECTS—GROUP II 

Higher Grade —(Applied Mechanics and Heat Engines) 

Monday, 22nd March—9.30 a.m. to 11.30 a.m. 

Candidates should attempt FIVE questions, viz., THREE 
questions from Section I and TWO questions n'onl 

Section II. 
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20 marks are assigned to each question. 

When candidates use a formula they must explain each 
symbol. Units must always be stated. 

Take 7z 
22 

and g = 32 ft. per sec. per sec. 

Square-ruled paper and four-place logarithmic tables an 
provided. 

N.B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

Section I 

1. State the conditions that must exist so that three 
coplanar non-parallel forces acting on a body may be in 
equilibrium. 

Figure 1 shows a structure supported by a roller bearing 
on a vertical wall at C and by a pin-jointed bearing at B. 
A load of 5 tons acts vertically downwards at A. 

Reproduce the given diagram to a scale of J in. repre- 
sents 1 ft. 

Draw the force diagram to a scale of 1 in. represents 1 ton, 
and find— 

(a) the magnitude of the reaction at C ; 

(&) the direction and magnitude of the reaction 
at B ; 

(c) the magnitude and nature of the forces in the 
members AB, BC, CA. 

2. Define the terms shear stress, elastic limit, factor of 
safety. 

Figure 2 represents the cotter joint of an engine piston 
rod and crosshead. The steam pressure on the piston is 
200 lb. per sq. in. and the piston diameter is 30 in. 

The length of the 4-in. diameter portion of the rod is 
40 in. ; the cotter is in. broad, 1 in. thick; Young s 
modulus for the material is 12,000 tons per sq. in. 
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Determine— 
(a) the compressive stress in the piston rod in lb. per 

sq. in. ; 
(b) the shear stress in the cotter in lb. per sq. in. ; 
(c) the contraction of the 4-in. diameter portion of 

the rod ; 
(d) the factor of safety of the joint if the material 

has an ultimate compressive stress of 90,000 lb. 
per sq. in. and an ultimate shear stress of 
55,000 lb. per sq. in. 

3. Define moment of a force about a point. 
The mechanism of a weighing machine is shown diagram- 

matically in Figure 3. The platform rests on knife-edges 
at A and B. The main lever CD is 52 in. long and is 
pivoted at C. Lever EF is 16 in. long, is pivoted at F, 
and rests on the main lever at E. The steelyard is pivoted 
at G. 

[a) A load is placed centrally on the platform and 
its weight is recorded on the steelyard when 
the small weight w of 2 lb. is 30 in. from G. 

Determine the weight on the platform. 
(&) Determine the position of w on the steelyard if 

a weight of 624 lb. were placed on the platform 
over knife-edge A. 
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4. A lorry, weighing 3 tons, is proceeding up an incline 
of 1 in 150 at a speed of 20 miles per hour. In order to 
pass a slower moving vehicle the lorry accelerates to a 
speed of 30 miles per hour at a uniform rate, and, in so 
doing it covers a distance of 300 yards. The frictional 
resistance is 20 lb. per ton. 

Determine— 
(a) the acceleration ; 
(b) the time that elapses during the period of 

acceleration ; 
(c) the force acting on the lorry during that period. 

Section II 

5. Define calorific value of a solid, calorific value of a gas, 
a therm. 

What is meant by the term thermal ejficiencv with refer- 
ence to a gas-fired watei boiler ? 

A domestic gas-heated geyser is used 40 times a day 
for an average of 1-| minutes each time. The temperature 
of the water is raised from 40° F. to 120° F. when the water 
is passing through at the rate of three-quarters of a gallon 
per minute. 

The gas has a calorific value of 450 B.Th.U. per cu. ft. 
and costs 1Q|^. per therm. The geyser operates at an 
efficiency of 80 per cent. 

Calculate-— 

(a) the volume of gas supplied per day ; 

(b) the cost of this quantity of gas. 
(A gallon of water weighs 10 lb.) 

6. Explain the terms wet steam, superheated steam. 
Steam at 300 lb. per sq. in. and with 100° F. of super- 

heat is supplied to a high-pressure turbine, and after 
doing work there it is exhausted to a low-pressure turbine 
at 50 lb. per sq. in. and 0-98 dry. 

In the low-pressure turbine the steam does further work 
and is exhausted therefrom at 2 lb. per sq. in. and 0-92 dry. 
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Determine— 

(a) the total heat in one lb. of the steam on entering 
the high-pressure turbine, and on entering and 
on leaving the low-pressure turbine ; 

(b) the work done in ft. lb. by one lb. of steam in 
each turbine ; 

(c) the theoretical horse-power developed by the 
combination when supplied with 24,000 lb. of 
steam per hour. 

Use the following data from Steam Tables— 

p h L 
lb. per sq. in. B.Th.U. B.Th.U. 

300 394 815 
50 250 926. 
2 94 1,020 

Take the specific heat of superheated steam as 0-5. 

7. In most reciprocating steam engines the valve gear 
cuts off the steam at some part of the stroke. Explain 
why this practice is adopted. 

A river steamer of 5,000 tons has a steam engine con- 
sisting of two double-acting cylinders, each of 48 in. diameter 
and 60 in. stroke. 

On a trial run the following data were noted— 

Steam inlet pressure .. 180 lb. per sq. in. 
Exhaust pressure . . 2 lb. per sq. in. 
Revs, per minute .. 60 
Mean effective pressure.. 120 lb. per sq. in. 

Calculate— 

[а) the greatest force on the piston ; 

(б) the I.H.P. developed ; 

(c) the B.H.P. if the mechanical efficiency is 80 per 
cent. ; 

[d] the resistance per ton to the motion of the ship 
when moving at 12 knots. 

(A knot is 1\ miles an hour.) 
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TECHNICAL SUBJECTS 

Higher Grade—(Technical Drawing) 

Wednesday, 24th March—1.45 p.m. to 4.45 p.m. 

Question 1 should be attempted, and either Question 2 or 
Question 3. The Figures are on a separate paper. 

Both sides o£ the drawing paper may be used. 

The value attached to each question is shown in brackets 
after the question. 

1. Figure 1 shows the various parts of a bench vice for 
holding pipes. The parts are the body casting, the vee 
block, the screw and the handle. 

The vee block forms the top half of the vee for holding 
the pipes. It is pushed up into the body casting through 
the opening in the base. 

Draw, full size — 

{a) an elevation in the direction of arrow A with all 
parts assembled and showing hidden parts 
dotted. Show the vees holding a 2-inch 
diameter pipe. (The pipe should be shown in 
this view only and not in the other two views.); 

(b) a half plan of the assembly showing hidden parts 
dotted ; 

(c) a sectional end view (looking in the direction of 
arrow B) of the part to the left of the centre 
line. Omit the handle and screw; show all 
hidden parts dotted. 

Print a title but do not give any dimensions. (^) 

N.B.—The dimensions 8" and 11J" refer respectively to 
the distances from the side (short edge) and top (long 
edge) of your drawing paper, and determine the position 
of your drawing on the paper. 
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149 

2. Figure 2 is an incomplete view of the body and spout 
of an oil can. 

Draw, full size —- 

(а) an elevation of the body showing the curve of 
entry of the spout; 

(б) a plan of the body showing the curve of entry 
of the spout; 

(c) a development of half of the body surface 
showing the hole for the spout. (45) 

Or 

3. Figure 3 shows incomplete the elevation and plan 
of the body of a screw jack. 

Draw, full size 

(a) the elevation complete showing the curve of the 
base and of the recess ; 

(b) the plan complete. 

On the elevation show clearly how the centres for the 
arcs are obtained ; mark clearly the points of tangency 
and show how they are obtained. (45) 
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AGRICULTURE 

Lower Grade 

Tuesday, 23rd March—9.30 a.m. to 12 noon. 

Not more than FIVE questions should he attempted. 

H = 1, N = 14, 0 = 16, Na = 23, S = 32. 

Answers should, wherever possible, be illustrated by suitable 
diagrams. 

Mathematical tables are supplied. 

20 marks are assigned to each question. 

N.B.—Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

1. Explain what is meant, as applied to a soil, by 
[a) sand, (b) clay, and (c) humus. 

Describe a method to determine the percentage of coarse 
sand in a sample of soil. 

What percentages of sand, clay, and humus would you 
expect to find in a medium loam ? 

2. Write short notes on four of the following in their 
relation to agriculture :— 

(a) Calcium bicarbonate. 
(b) Mechanical advantage. 
(c) Capillarity. 
(d) Xylem. 
(e) Rodents. 

3. Name two artificial fertilizers which contain 
phosphate, and two which contain potash. 

What manurial constituents are present in bones ? 

Calculate from their chemical formulae the unit prices 
of the manurial constituents in the following :•—• 

(a) Pure nitrate of soda, at £10 per ton. 

(b) Sulphate of ammonia, 96 per cent, pure, at £10 
per ton. 
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4. How would you determine (a) the percentage of 
germination of a sample of clover seed, and (b) the percentage 
of purity ? 

Describe how germination is affected by temperature. 

Which is the better, and why—a sample of clover seed 
which germinates quickly, or one which germinates slowly ? 

What is meant by the “ real value ” of a sample of clover 
seed ? 

5. Make a sketch of a single-furrow horse-drawn plough. 
Label the parts and indicate the purpose of each. 

6. Describe two of the following, outlining their life 
histories and the harm they do:—turnip flea beetle, 
wireworm, brown rat. 

7. Make a labelled sketch of the reproductive system 
of either the cow or the mare ; write notes on the functions 
of the different parts, and state the period of gestation. 

AGRICULTURE 

Higher Grade—(First Paper) 

Tuesday, 23rd March—9.30 a.m. to 11.30 a.m. 

Not more than FIVE questions should he attempted. 

H = 1, N = 14, 0 = 16, P = 31, Ca = 40. 

Answers shotild, wherever possible, be illustrated by suitable 
diagrams. 

Mathematical tables are supplied. 

20 marks are assigned to each question. 

N.B.--Write legibly and neatly, and leave a space of half an 
inch between the lines. Marks will be deducted for 
writing that is difficult to read. 
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1. (a) Describe tests to show whether the following 
are present in a sample of soil :—(i) organic nitrogen, and 
(ii) phosphate. 

[b) Describe and explain any method of estimating 
the lime requirement of a soil. 

2. What do you understand by {a) fat, [b) protein, and 
(c) carbohydrate ? 

Describe a method of determining the percentage of 
fat in a feeding stuff. 

3. Write notes on jour of the following :— 
[а) Flocculation of clay. 
(б) The manufacture of superphosphate. 
(c) Weathering agencies. 
\d) Anticyclone. 
(e) The nature and purpose of fuses in electrical 

circuits. 

4. (a) Write the chemical formulae for (i) tri-calcic 
phosphate, and (ii) mono-ammonium phosphate ; calculate 
from your formulae the percentage of phosphoric acid in 
each. 

(b) Upon what properties does the value of basic slag 
as a fertilizer depend ? 

5. Write an essay on “ Soil Temperature,” giving in 
detail the sources and losses of soil heat, the conditions 
upon which soil temperature depends, and the importance 
of soil temperature in the growing of crops. 

6. Describe, with suitable sketches /our of the following, 
and explain their use :— 

(a) A force pump. 
(b) The differential gear of a tractor. 
(c) A horse hoe. 
(d) A disc harrow. 
(e) The drum of a threshing machine. 

7. Explain, with suitable sketches, the four-stroke 
cycle in a tractor engine and show how the valves are 
operated. (No description of the ignition system is required.) 

What are the possible orders of, firing in a four-cylinder 
engine ? 
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AGRICULTURE 

Higher Grade-—(Second Paper) 

Tuesday, 23rd March—1.45 p.m. to 3.45 p.m. 

Not more than FIVE questions should be attempted. 

Answers should, wherever possible, be illustrated by suitable 
diagrams. 

Mathematical tables are supplied. 
20 marks are assigned to each question. 

N.B.—Write legibly and neatly, and leave a space ol hall an 

inch between the lines. Marks will be deducted for 
writing that is difficult to read. 

1. State the uses to which water is put by growing 
plants. 

What are the conditions upon which the amount of 
water used by a growing crop depends ? 

If a crop requires 300 tons of water to produce a ton of 
dry matter, calculate the number of inches of rainfall used 
by a crop of oats containing 2 tons of dry matter per acre. 
(1 cubic foot of water weighs 62J lb.) 

2. Discuss the four-course rotation—wheat (autumn 
sown), turnips, barley (spring sown), clover (sown with 
barley)—-from the following aspects :— 

\a) Conservation of soil fertility. 
[b) Freedom from weeds, pests, and diseases. 

(c) Suitability for different types of soil. 

3. Describe, under the following headings, how to la}? 
down a two-years' lea, either with or without a nurse crop : 

(a) Uses to which the lea will be put. 
(b) Place in the rotation. 
(c) Suitable soil conditions, and time of sowing. 
(d) Manurial treatment. 
(e) Selection of seed mixture, with reasons for your 

choice. 
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4. Give a descriptive account of either " The good and 
the harm that birds do to agriculture,” or “ Cleanliness in 
milk production.” 

5. Select four of the following organs ; state their 
position and function, and name the classes of farm live- 
stock which possess them :—diaphragm, cloaca, ovary, 
gizzard, pancreas. 

6. Name two popular breeds of cattle common in 
Scotland ; state the characteristics of each and give reasons 
for their respective success. 

7. Describe the life history of the crane-fly, making 
sketches of the insect at each stage of its development. 

Mention the circumstances favourable to a severe 
attack by this pest, and suggest suitable control measures. 
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APPENDIX 

LIST OF AUTHORITIES BY WHOM EVIDENCE OF 

SUCCESS AT THE SENIOR LEAVING CERTIFICATE 
EXAMINATION IS CONDITIONALLY ACCEPTED 
IN LIEU OF PRELIMINARY EXAMINATIONS. 

N.B.-—FOR PARTICULARS AS TO THE CONDITIONS GOVERNING 
ACCEPTANCE REFERENCE SHOULD BE MADE TO THE 
REGULATIONS OF THE AUTHORITY CONCERNED. 

Scottish Universities Entrance Board : 
University of Aberdeen. 
University of Edinburgh. 
University of Glasgow. 
University of St. Andrews. 

University of Oxford. 
University of Cambridge. 
University of London. 
University of Bristol. 
University of Durham : 

Durham Colleges. 
The Medical School, King’s College, 

M Newcastle-upon- 
orthern Universities Joint Matriculation Board : 

University of Manchester. 
University of Liverpool. 
University of Leeds. 
University of Sheffield. 

TT . University of Birmingham. 
University of Wales. 
Jhe Queen’s University of Belfast, 

irton College, Cambridge, 
mpenal College of Science and Technology : 

Royal College of Science. 
Royal School of Mines. 
City and Guilds (Engineering) College. 

lyne. 
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Royal Holloway College, Englefield Green, Surrey. 
Examiners of the General Council of Solicitors in Scotland. 
The Law Society. 
The General Council of Medical Education and Dental Board 

of the United Kingdom. 
The Joint Examinations held by : 

The Royal College of Physicians of Edinburgh. 
The Royal College of Surgeons of Edinburgh. 
The Royal Faculty of Physicians and Surgeons of 

Glasgow. 
The Examining Board in England by the Royal College of 

Physicians of London, and the Royal College of Surgeons 
of England. 

The Pharmaceutical Society of Great Britain. 
The Chartered Accountants of Scotland. 
The Institute of Chartered Accountants in England and 

Wales. 
*The Society of Incorporated Accountants and Auditors. 
*The Association of Certified and Corporate Accountants. 
*The Institute of Municipal Treasurers and Accountants 

(Incorporated). 
The Institute of Company Accountants, Limited. 
The Faculty of Actuaries in Scotland. 
The Institute of Actuaries. 
The Chartered Insurance Institute. 
The Institute of Bankers. 
The Institute of Bankers in Scotland. 
The Chartered Institute of Secretaries. ) 

The Royal Sanitary Institute and Sanitary Inspectors 
Examination Joint Board. 

*The Royal Sanitary Association of Scotland. 
The Poor Law Examination Board for Scotland. 
The Chartered Surveyors’ Institution. 
The Auctioneers’ and Estate Agents’ Institute of the 

United Kingdom. 
The Royal Institute of British Architects. 
The Institution of Civil Engineers. 

* Evidence of having obtained the Day School Certificate (High61) 
is also accepted by these Authorities ; and by the 

Air Ministry—for entry as Aircraft Apprentice and as Apprentice Clerk, 
Royal Air Force. 
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*The Institute of Cost and Works Accountants. 
The Institution of Mechanical Engineers. 
The Institution of Municipal and County Engineers. 
The Institute of Chemistry of Great Britain and Ireland. 
The National Froebel Foundation. 
The Institute of Physics. 
The Royal College of Veterinary Surgeons. 
The British Optical Association. 
The Chartered Institute of Patent Agents. 
The Library Association. 
The Textile Institute. 
*The Institute of Transport. 
*The Chartered Society of Massage and Medical Gymnastics. 
The Building Societies Institute. 
The Chartered Society of Physiotherapy. 
The Institute of Brewing. 

: See footnote on page 158. 

(84160) Wt. 2095/61 8/48 Hw. 
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SCOTTISH EDUCATION DEPARTMENT—1948 
Circular 59 (Education (Scotland) Act, 1945. Travelling and Boarding Arrangements 

for Pupils attending Schools and other Educational Establishments). (March, 1946.) 
U. (2d.). 

Educational Development, Research and Services (Scotland) Grant Regulations, 1946. 
S.R. & 0., 1946, No. 1267, S.53. Id. (2d.). 

Circular 78 (Bursaries for Persons Over School Age). (June, 1946.) Id. (2d.). - 
The Education (Scotland) Social and Physical Training Grant Regulations, 1946. 

S.R. & 0., 1946, No. '864, S.37. Id. (2d.). 
Circular 85 (Education (Scotland) Act, 1945. Schemes for the Provision of Primary 

and Secondary Education). (August, 1946.) 2d. (3d.). 
Circular 93 (Education (Scotland) Act, 1946). (December, 1946.) 6d. (Id.). 
Circular 95 (Children and Young Persons (Scotland) Act, 1937. Employment of Children 

—Byelaws). (January, 1947.) 2d. (3d.). 
Educational Conferences (Scotland) Regulations, 1947. S.R. & O., 1947, No. 119, S.2. 

U. (2d.). 
Incidental Expenses (Scotland) Regulations, 1947. S.R. & O., 1947, No. 120, S.3. 

Id. (2d.). 
Circular 98 (Salaries and Conditions of Service in Approved Schools). (February, 1947.) 

3d. (4d.). 
Circular 100 (Raising of the School Leaving Age. Organisation and Curriculum). 

(February, 1947.) Id. (2d.). 
Children and Young Persons, Scotland. The Approved Schools (Contributions by 

Education Authorities) (Scotland) Regulations, 1948, S.I. 1948, No. 475, S.30. Id. (2d.). 
Education, Scotland. The Miscellaneous Grants (Glasgow School of Nautical Cookery) 

Provisional Regulations, 1947. Id. (2d.). 
^Circular 105 (Selected Enactments Affecting Education Authorities) (May, 1947). 

Education Authority Bursaries (Scotland) Regulations, 1947. S.R. & O. 1947, No. 948, 
^•37. 2d. (3d.). 

Circular 106 (The Education Authority Bursaries (Scotland) Regulations, 1947). 
(May, 1947.) 2d. (3d.). 

Circular 107 (The Supplemental Allowances (Scottish Scholars at English Universities) 
Provisional Regulations, 1947.) (June, 1947.) Id. (2d.). 

Education Scotland. (The Supplemental Allowances (Scottish Scholars at English 
Universities) Provisional Regulations, 1947). Id. (2d.). 

Circular 108 (Promotion Schemes). (July, 1947.) 2d. (3d.). 
uWU , (Education (Scotland) Act, 1946. Education Estimates (Scotland) Order, 1947). (July, 1947.) 2d. (3d.). 

Education Estimates (Scotland) Order, 1947. S.R. & O., 1947 No. 1400, S.58. 2d. (3d.), ucular no (Education (Scotland) Act, 1946. Reports on Handicapped Children 
(Scotland) Order). (July, 1947.) -Id. (2d.). 
q -pducatuon, Scotland. Reports on Handicapped Children (Scotland) Order, 1947. 

" 1947’ No- 1576’ S-62' 2d- W- 
<; p Young Persons (Scotland). Employment of Children in Entertainments. S^, & Oy 1947, No. J660, S.67. 2d. (3d.). 

e Exemptions (Potato Lifting) (Scotland) Provisional Regulations, 1947. Id. (2d.). 
Id '(2d) (Regional Advisory Council for Technical Education). (September, 1947). 

Education Scotland. The Regional Advisory Council (Scotland) Grant Regulations, 
i8- S.I. 1948, No. 569, S.35. Id. (2d.) IMS, 

aurt'tTvCt^0S’ Sc°tiand. The Regional Advisory Council (Technical Education in Dundee 
Eri,wa?

Ct) Clrder- 1948- S-L 4948, No. 570, S.36. Id. (2d.). 
Hiohlo ,1011' Scotland. The Regional Advisory Council (Technical Education in the 

Ediirinv a^d Islands) Order, 1948. S.I. 1948, No. 571, S.37. Id. (2d.). 
North P 1<v!c 8c°tt™d. The Regional Advisory Council (Technical Education in 
" Edurat' oland) 0rder’ 1948- S.I. 1948, No. 572, S.38. 2d. (3d.). 
South Pc,1?1!! “coMan<i. The Regional Advisory Council (Technical Education in 

EduraH Sc?land) 0rder' 4948. S.I. 1948, No. 573, S.39. 2d. . (3d.). 
Scotlanrii rf a 8co^anc4' "The Regional Advisory Council (Technical Education in West 
cSirffU948- S.I. 1948, No. 574, S.40 2d. (3d.). 

(September 1947 j dj^0m™'44ees 4°r 4416 -^lanagement of Educational Establishments). 

4947.)U'ld C^tral Institutions (Scotland)‘Grant Regulations, 1947. (October, 
Institutions (Scotland) Grant Regulations, 1947. S.R. & O., 1947, 

Circular 129 (Th 
^ Scotland }-ine KePort on Primary Education by the Advisory Council on Education 

CircSd)i26(Dec„e“>er, 1947.) 2d. -(3d.). 
Examinatinnc •' ?enior Leaving Certificate Examination. Proposed Changes in the 

Cinmlar m^l0dern Languages (inchiding Gaelic). (April, 1948). 6d. (7d.). 
'. tr>j\ ( uuuation Authorities (Scotland) Grant Regulations, 1948). (May, 1948). Id. (2d.). 
The Teachero'’ |alaries (Scotland) Regulations, 1948, S.I. 1948, No. 611, S.43. 6d. (7d.). S.I. 194§ q4acScens (-^atieuaal Insurance Modifications) (Scotland) Regulations, 1948. . • ^±4, b.b/, 3d. (4d.). 
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LOWER HIST. 

(Section I) 

SENIOR LEAVING CERTIFICATE EXAMINATION 

1948 

HISTORY 

LOWER GRADE 

Section I 

(To be attempted by all candidates) 

Thursday, Nth March—9.30 a.m. to 12.0 noon 

FILL THIS IN FIRST 

Name of School   

Name of Pupil  

TO BE PINNED INSIDE THE CANDIDATE’S BOOK OF ANSWERS AND THUS 

SENT TO THE DEPARTMENT. 
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Section 1 (6) 

Give the century, B.C. or A.D., of each of the following, indicate who or 
what each was, and say why each is important in history. Answers must be 
written in the space provided after each name. (20) 

(1) Alexander the Great ( century ) 

(2) William Caxton ( century ) 

(3) Julius Caesar ( century ) 

(4) Captain Cook ( century ) 

(5) The capture of the Bastille ( century } 

(6) Magna Carta ( century ) 

(7) Galileo ( century ) 

[turn over 



(8) Vasco da Gama ( century ) 

(9) The battle of Hastings ( century 

(10) The Hampton Court Conference ( century 

(11) The marriage of James IV ( century ) 

(12) John Knox ( century ) 

(13) Karl Marx ( century ) 

(14) Sir James Young Simpson ( century 

■ 

(15) Adam Smith ( century ) 

(84160) 
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1948 
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To face page 22.] 
HIGHER GEOG. I 

(MAP) 

SENIOR LEAVING CERTIFICATE EXAMINATION 

1948 

GEOGRAPHY 

HIGHER GRADE (FIRST PAPER) 

MAP 

FILUTfflS IN FIRST 

Name of School. 

Name of Pupil. 

TO BE PINNED INSIDE THE CANDIDATE’S BOOK OF ANSWERS AND THUS 

SENT TO THE DEPARTMENT. 
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To face page 14.~\ 
HIGHER HIST, il 

(Section I) 

SENIOR LEAVING CERTIFICATE EXAMINATION 

1948 

HISTORY 

HIGHER GRADE—II 

Section I 

(To be attempted by all candidates) 

Thursday, Nth March—1.0 p.m. to 3.30 p.m. 

FILL THIS IN FIRST 

Name of School 

Name of Pupil 

TO BE PINNED INSIDE THE CANDIDATE’S BOOK OF ANSWERS AND THUS 

SENT TO THE DEPARTMENT. 

[OVER 
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Section 1 (6) 

Give the century, B.C. or A.D., of each of the following, indicate who or 
what each was, and say why each is important in history. Answers must be 
written in the space provided after each name. (15) 

(1) Aristotle ( century ) 

(2) Hugh Capet ( century ) 

(3) Marcus Tullius Cicero ( century ) 

(4) St. Francis of Assisi ( century ) 

(5) The Golden Bull ( century ) 

(6) Fernando Cortez ( century ) 

(7) Mahomet ( century ) 

[turn over 



(8) Cardinal Mazarin ( century ) 

(9) The Edict of Nantes ( century ) 

(10) John Sobieski ( century ) 

(8416$) 


